302-811

Wa Wo Cagl Cin Co F

nax ADDENDA %ﬂ
W w pF pF pF Mc ﬂ
13 — 0,15 12 8,5 30 max; Fm: 100 Mc; ICAS; Vg3: 200V; Igl: 7,5 mA 146
—. 7,6 — — — — WoLF, (A); Vg3: +40V

— 5,3 — - — - tph, (B); Igl: 0,5 mA; Vg3: 0V

- 6,3 — - ey = tph, (C); M/g3; *Rg2: 20 kQ; Vg3: —45V; Ig: 5 mA

— 12 — — — — tph, (C); M/a+g2; Igl: 1,6 mA; Vg3: +40V

— 23 — — — — tgr, osc, (C); Igl: 2,4 mA; Vg3: +40V

125 == 0,15 17 29 20 max; Fm: 60 Mc; Vg3: 500V 43
. 53 — - — = tph, (B); Vg3: +40V; (Win)HF: 15 W

— 53 — — — — tph, (C), M/g3; *Rg2: 35 kQ; Vg3: —110V

e 155 — — — — tph, (C), M/a+g2; Rg2: 27 kQ; Vg3: +100V

— 210 — = — — tgr, csc, (C); Vg3: +40V; (Win)HF: 2 W

50 — 0,1 16 14,5 15 max; ICAS; Vg3: 200V 43
o 28 o s s == tph, (B); Vg3: +45V; (Win)HF: 0,6 W

- 28 " - _— - tph, (C), M/a3: —-50V; *Rg3: 37,5 kQ

s 65 - = o = tph, (C), M/a—+g2; Vg3: +50V; Rg2: 50 kQ

— 110 — — — — ter, csc, (C); Vg3: +45V; (Win)HF: 195W

125 — 6,5 6,5 6,8 30 max; Fm: 80 Mc; Ig: 70 mA 131
S 370 = = — —_— med, pp(B); Ia(m): 400 mA; (Win)LF: TW

— 57,5 — — — — toh, (B); Ig: 15 mA; (Win)HF: 756 W

— 140 — — — — tph, (C), M/a; Ig: 60 mA; (Win)HF: 16 W

— 215 — — — — tgr, osc, (C); Ig: 40 mA; (Win)HF: 85 W

225 —_ 4 5,5 0,4 30 max; Fm: 100 Mc; ICAS; Ig: 50 mA 29
_ 1120 == =y ey ey mod, pp(B); Ia(m): 475 mA; (Win)LF: 35 W

— 115 — — — — tph, (B); (Win)HF: 10,3 W

— 490 — — — — tph, (C), M’a; Ig: 27 mA; (Win)HF: 24 W

— 780 — — — — tgr, osc, (C); Ig: 40 mA; (Win)HF: 24 W

30% — 0,2 12 7 60 max; uglg2: 8; Igl: 5 mA; Fm: 120 Mc; * CCS: 25W,; (= QE06/50) 39
_ 6,4 _ - o - WoLF, (A); d: 10 %

_ 11,5 — = o — WoLF, (A); d: 10 %

— 46 == = o == WoLF, pp(ABl); d: 2,7 %; Ia(m): 141 mA; Ig2(m): 15 mA

- 56 == = == — WoLF, pp(AB1); d: 2,2 %; Ia(m): 139 mA; Ig2(m): 15 mA

= 15 - - - — trio, WoLF, pp(AB1); d: 3 %:; Ia(m): 140 mA

= 55 - — == —_ WcLF, pp(AB2); Ia(m): 240 mA; Ig2(m): 20 mA

- 75 = — = —_ WcLF, pp(AB2); Ia(m): 240 mA; Ig2(m): 20 mA

— 80 — = — — WoLF, pp(AB2); Ia(m): 200 mA; Ig2(m): 18 mA

— 120 = - = — WoLF, pp(AB2); Ia(m): 240 mA; Ig2(m): 20 mA

— 15 = = - — tph, (B); ICAS; (Win)HF: 02W

- 44 — _— = - tph, (C), M/a+g2; Rg2: 21,2 kQ; (Win)HF: 04 W,; ICAS

= 54 s = = = tgr, osc, FM, (C); ICAS; (Win)HF: 0,3 W; Rg2: 62 kQ; Igl: 4 mA

_ _ - = s _— spec; (= 5933) 39
75 — 2,8 5,3 0,25 30 max; ICAS; Ig: 40 mA 28
— 300 — — — — mod, pp(B); Ia(m): 200 mA; (Win)LF: 88 W

— 150 — — — — tph, (C), M/a; Ig: 37T mA; (Win)HF: 10 W

— 225 — — —_ — tgr, osc, (C); Ig: 36 mA; (Win)HF: 9W

30 — 6,7 5,7 0,9 60 max; ICAS; Fm: 120 Mc; Ig: 35 mA 27
— 145 — — — — med, pp(B); Ia(m): 200 mA; (Win)LF: 2/TW

_— 15 — s — S tph, (B); Ig: 4 mA; (Win)HF: 15 W

— 55 s — . —_ tph, (C), M/a; Ig: 32 mA; (Win)HF: 43 W

— 75 — N = = tgr, osc, (C); Ig: 25 mA; (Win)HF: 38W

175 — 4.8 8,7 12 30 max; ICAS; Ig: 75 mA; Fm: 100 Mc 29
s 725 e (- o, — mod, pp(B); Ia(m): 450 mA; (Win)LF: 13W

= 75 — . - = tph, (B); Ig: 2 mA; (Win)HF: 4 W

— 380 — — — — tph, (C), M/a; Ig: 70 mA; (Win)HF: 35 W

— 575 —_ — — — tgr, csc, (C); Ig: 60 mA; (Win)HF: 19 W

55 — 5,6 55 0,6 30 max; ICAS; Fm: 100 Mc; Ig: 50 mA o
— 170 — — — tgr, osc, (C); Ig: 35 mA; (Win)HF: 8 W
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Vi If Va Vel Vg2 Ia Ig2 s Ri Ra Rk
TYPE I * (Sc) w (Ra-a)
v A v -V V mA mA mA/mV kQ kQ @)
811A USA 3Z 6,3 4 1500 200 — 175 = — 160 — — —
1500 4,5 — 32 == e — — 124 —
1250 120 — 140 — — —_ - — —
1500 170 — 173 — — — —_— — 330
812 USA 3Z 6,3 4 1500 200 — 150 — —_— 29 — — —
1500 175 — 150 — — — — — 1001
812A USA 3Z 6,3 4 1500 200 — 175 — — 29 — — —
1500 48 — 28 — — — — 13,2 —
1250 115 — 140 — - — s e —
1500 120 — 173 — — — — — 590
812H WE; United 3Z 6,3 4 1750 — — 200 — — — — — —
813 INT 4BZ 10 b 2500 300 1100 225 — 375 — — — =
2500 95 750 35 1,2 — o — 17 —
2250 60 400 85 3 - — — — —
2250 110 400 85 2.5 — —_ — _ _
2000 175 350 200 490 — — — — —
2250 155 400 220 49 — — — — 565
814 Taylor 3Z 10 4 3000 — — 300 = — 12 — — —
2500 190 — 300 — — - . — —
814 USA 4BZ 10 3,25 1500 300 400 150 = 3,3 — — — —
1500 35 250 60 1,5 = — — m— s
1250 150 300 144 20 — — e — —
1500 90 300 150 24 — — — — 490
814/ (RK)47 Raytheon 4BZ (= 814) = == — — = — e _ _ _
815 USA 4BZ-+4BZ 12,6% 087 500 175 225 150 — 4 — — — —
500 15 125 22 32% — — — 8 —
500 25 125 75 3 — — — — —
400 45 175 150 15 — — = = —
500 45 200 150 17 — — — — 265
816 USA 2R 2,5 g S — — 125 — — — _ _ _
822 Taylor 3Z 10 4 2500 190 — 300 - — 27 — — —
825 Taylor 3Z 7,5 2 850 225 — 100 S — 8 — — —
826 USA 3Z 7,5 4 1250 600 — 140 - — 31 — — e
1600 100 — 125 — — — — — —
1250 125 — 125 — — — — — 780
827R RCA; Eng. Elec. 47 7.5 25 3500 500 1000 500 — —_— — s — —
3500 175 800 340 12 — —_ — - —
3000 325 750 400 125 — — — — —
3500 300 700 420 185 — — — — 570
828 INT 4BZ 10 3,25 2000 300 750 180 e 2,7 — — — —
2000 120 750 50 2 — — — 18,5 —
1500 50 400 80 5 — — s — =
1250 140 400 160 28 == = == = —
1500 1GCO 400 160 28 — — — — 430
829 RCA: GE 4BZ+4BZ 12,6 1,125% 500 45 200 240 32 — e — — —
829A RCA 4BZ-+4BZ 12,6% 11,1257 750 55 240 160 39 — — — — —
829B INT 4BZ+4BZ 12,6% 1,125% 750 175 250 240 — 8,5 — — — —
600 80 200 200 30 — — - —
750 50 200 200 34 — — - — 200
830B RCA; GE 3z 10 2 1000 300 — 150 — — 25 — —
10600 35 — 20 - — - - 7,6 —
1000 35 — 85 — — — — — —
800 150 — a5 — — — — — —
1000 110 -— 140 - — — — - —
831 RCA; Amperex 37 1y 10 3500 — — 350 = s 145 — s e
3500 400 — 275 — — — s — —
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311-831

Va Wo Cagl Cin Co F g {

1ax ADDENDA %

W W pF pF pF Mc {

65 = 5,6 59 0,7 30 max; ICAS; Fm: 100 Mc; Ig: 50 mA 27

— 340 - — — — mod, pp(B); Ia(m): 313 mA; (Win)L¥: 44 W

_ 135 = - e — tph, (C), M/a; Ig: 45 mA; (Win)HF: 10 W

— 200 — — — — ter, osc, (C); Ig: 40 mA; (Win)HF: 7T1W

55 — 53 5,3 0,8 30 max; ICAS; Ig: 35 mA M

— 170 — — — — tgr, (C); Ig: 25 mA; (Win)HF: 6,6 W

65 — 55 5.4 0,77 30 max; ICAS; Ig: 35 mA 27

— 340 — — — — mod, pp(B); Ia(m): 310 mA; (Win)LF: 5 W

—_ 130 — — — — tph, (C), M/a; Ig: 356 mA; (Win)HF: 76 W

— 190 — — — — tgr, osc, (C); Ig: 30 mA; (Win)HF: 6,56 W

85 — 5,3 b3 0,8 — max -

125 — 0,25 16,3 14 30 max; ICAS; Fm: 120 Mc; uglg2: 85; (= QB2/250) 88

— 650 — — — — mod, pp(AB2); Vg3: 0V; Ia(m): 360 mA; I22(m): 55 mA

— 70 — — — — tph, (B); Vg3: ¢V; (Win)HF: 2 W

— 70 — — — — tph, (C), M/gl; (Win)HF: 2W; (Win)LF: 1 W

— 300 — — — — tph, (C), M/a-+g2; Igl: 16 mA; Vg3: 0V; (Win)HF: 43W

— 375 — — — — tgr, osc, (C); Vg3: 0V; Igl: 15 mA; (Win)HF: 4 W

200 — 13,5 8,5 2,1 — max 131

=== 600 — — — — tgr, (C); Igl: 51 mA; (Win)HF: 1TW

65 — 0,15 13,5 13,5 30 max; ICAS; Fm: 75 Mc; Igl: 15 mA 71

—_ 30 — — — — tph, (B); Igl: 1,6 mA; (Win)HF: 0,85W. Vg3: 0V

— 130 —_ — — —_ tph, (C), M/a+g2; Igl: 10 mA; (Win)HF: 2 W

— 160 — — — tgr, osc, (C); Igl: 10 mA; (Win)HF: 15 W

— — = = = = 71

25 = 0,2 14 8,5 150 */6,3V; 7/1,6 A; max pp; Fm: 225 Mc; ICAS 16

— 54 — — — —_ WoLF, pp(AB2); Ia(m): 150 mA; *Ig2(m)

— 13 — — — — tph, pp(B); (Win)HF: 0,7TW

_— 45 — — — — tph, pp(C), M/a+g2; Rg2: 15 kQ; (Win)HF: 0,16 W

— 56 — — — tgr, osc, pp(C); Igl: 3,56 mA; (Win)HF: 0,18 W

— — — — — — (G: Hg); PIV: 75 kV; Ia pk: 500 mA; Vdr: 15V; th: 10 sec; 268
THg: 20/60°C

200 600 14 8 6 — tgr, (C); Ig: 51 mA; (Win)HF: 1TW 131

40 55 7 3 2.7 — tgr, (C); Ig: 15 mA; (Win)HF: 48W 1

75 — 3 3 1,1 250 max; ICAS; (fa); Fm: 300 Mc; Ig: 40 mA 156

_ 90 s - - - tph, (C), M/a; Ig: 35 mA; (Win)HF: 66 W

— 120 — — — — tgr, csc, (C); Ig: 35 mA; (Win)HF: 7TW

800 — 0,19 18,5 11 110 max; uglg2: 16; (fa); Igl: 150 mA _

— 400 — — — — tph, (B); Igl: 25 mA; (Win)HF: 38W

— 825 — — — — tph, (C), M/a+g2; Igl: 125 mA; (Win)HF: 68W

— 1050 — — — — tgr, osc, FM, (C); Igl: 100 mA; (Win)HF: 50 W

80 — 0,07 12 14 30 max; ICAS; Vg3: 100V; Igl: 15 mA 71

— 385 — — — — mod, pp(AB2); Vg3: +60V; Ia(m): 270 mA; Ig2(m): 67 mA

— 41 — — — — tph, (B); Vg3: +7V; 1g3: 4 mA; (Win)HF: 04 W

— 150 — — — — tph, (C), M/a+g2; Vg3: +75V; Ig3: 15 mA

— 200 — — — — tgr, (C); Vg3: +75V; Ig3: 14 mA

40 83 0,1 15,2 6,5 — */6,3V; /2,5 A; tgr, pp(C); (Wim)HF: 0,TW i7

40 87 0,1 144 7 —_ osc, pp(C); Rg2: 18 kQ; */63V; /2,6 A 17

45 — 0,12 145 7 200 */6,3V; 7/2,5 A; max; (fa); Fm: 250 Mc; uglg2: 9 7

— 85 — — — — tph, pp(C); Igl: 15 mA; (Win)HF: 14 W

— 110 — — — — tgr, osc, pp(C); Igl: 16 mA; (W:n)HF: 1,1 W

690 — 11 5 1,8 15 max; Fm: 60 Mc; Ig: 30 mA o

— 175 — — — — mod, pp(B); Ia(m): 280 mA; (Win)LF: ¢ W

— 26 = = = = tph, (B); Ig: 6 mA; (Win)BF: 6 W

— 50 — — — — tph, (C), M/a; Ig: 20 mA; (Win)HF: 5 W

—_ 90 — — —_ —_ ter, (C); Ig: 30 mA; (Win)HF: TW

400 — 4 3,8 14 20 max; Fm: 75 Mc; Ig: 75 mA —

- 600 - —_— _— — tgr, (C); Ig: 40 mA; (Win)HF: 30 W
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V§ If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk

TYPE S (Se) uw (Ra-a)
v A v —V V mA mA mA/mV kQ kQ Q
832 USA 4BZ+4BZ 12,6* 087 400 60 250 990 18 — — — — —
832A INT 4BZ+4BZ 12,6 087 1750 175 250 115 — 3,6 — — — —
600 70 200 50 20 — — — —
750 50 200 65 22 — — — — 55(
833A INT 3Z 10 10 4000 500 — 500 — — — — — —
4000 100 — 100 — — —_ — 11 —
4000 120 — 150 — — — — — —
4000 325 — 450 — — — — — —
4000 225 — 500 - — — — — 380
834 RCA; Amperex 3Z 7,5 3,1 1250 400 — 100 = — 10,5 — — —
1250 115 — 50 — — — — — —
1000 310 — 90 — — — — — —
1250 225 — 90 — — — — — 215
834/304B Amperex 3z (= 834) — — = — —_ — —_ — —
835 RCA; GE 3z 10 3,25 1250 400 — 175 — 3,6 12 — — —
1250 80 — 60 — 3.3 — 3,6 9,2 —
1250 100 — 20 — — — — 9 —
1250 100 — 106 — — — — — —_
100 260 — 150 — — — — — —
1250 225 — 150 — — e — —
836 USA 2R 2,5 5 — — — 250 — s — = — —
837 INT 5Z 12,6 0,7 500 200 200 80 — 3.4 — — — —
500 25 200 30 12 — — — —_ —
500 20 30 23 — — — — —
400 40 140 45 20 — — — — —
500 175 200 60 15 — — — — —
838 UsA 3Z 10 3,25 1230 400 — 175 — 4.8 50 — — —
1250 0 — 148 = — — - 9 —
1250 14 — 106 — — — — — —
1000 135 — 150 — — — — — —
1250 150 — 160 — — — — — —
840 Philips 5 2 0,13 180 3 67,5 1 0,7 0.4 — M — —
841 RCA; Raythecn 3Z 75 1,25 450 24 — 50 — — 20 — —_ —
841A Taylor 3Z 10 2 1000 180 — 150 — = 14,6 — — —
842 RCA; GE 3 7,5 1,25 425 100 — 28 - 1,2 3 2,5 8 —
843 RCA; GE 3Z 2.5 2,5 450 140 — 30 — S, Al — — —
844 RCA 4z 2,5 3,25 500 125 175 25 —_ —_ 75 — — —
845 USA 3 10 3,25 1250 400 — 120 — 2.4 5,3 — —
1250 209 — 52 — 3,1 — 1.7 11 —
1250 225 — 49 — — — — 8,8 -
845W United 3 (= 845) — — — — — — — — — —_
846 USA 3Z 11 51 7500 1000 — 1A — — 490 — = —
7000 900 — 900 — — — — — —
848 Federal; RCA 3z 22 52 15k 3000 — 2A — — 8 — — —
10k 2000 — 1450 — — — — — —
849 USA 3Z 11 5 2500 250 —_— 350 - 6 19 — s —
849A Amperex; Machlett 3z 11 7 4000 500 —_ 500 === 7.6 19 — — —
4000 185 == 100 — — — — 30 —
3000 140 — 200 — = = — 8 —
3000 140 — 250 — — —_ — — —
2500 310 — 205 — — — — —- —
3000 300 — 500 — — — = — —
849H Amperex 3Z 16 116 (= 849A) — — — — — — e —
850 RCA 4Z 10 3.25 1250 150 175 160 2,15 550 — — —
851 USA 3Z 11 15,5 3000 500 — 1A 15 20,5 — - —
3000 135 — 110 — . — — 5,6 —
2000 300 — 850 — — — == — —
2500 250 — 900 — — — — — —
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832-851

Na Wo Cagl Cin Co F

1ax ADDENDA gﬁ,

W w pF pF pF Mc

15 22 0,05 7,5 3.8 — */6,3V; 7/16 A; tgr, pp(C); (Win)HF: 0,18 W 17

20 —_ 0,07 8 3.8 200 */63V; 7/16 A; Fm: 250 Mc; max pp; ICAS; (= QQE04/20) 17

= 26 == —_— — — tph, pp(C), M/a+g2; Rg2: 20 kQ; Igl: 3 mA

— 35 — — — — tgr, osc, (C); Igl: 4 mA; (Win)HF: 0,24 W

450 — 6.3 123 85 30 max; Fm: 75 Mc; (fa); ICAS; Ig: 10 mA 157
2760 — — — == mod, pp(B); Ia(m): 900 mA; (Win)LF: 28 W

— 250 — — — — tph, (B); Ig: 3 mA; (Win)HF: 21 W

— 1500 — — — — tph, (C), M/a; Ig: 90 mA; (Win)HF: 42 W

— 1600 — — — — tgr, osc, (C); Ig: 95 mA; (Win)HF: 35 W

50 — 2,6 2,2 0,6 100 max; Ig: 50 mA; (= TB1/'60G) 28

— 20 — — = e tph, (B); Ig: 0 mA; (Win)HF: 3W

— 58 - — — — tph, (C), M/a; Ig: 17,56 mA; (Win)HF: 65 W

— 5 — — — — tgr, osc, (C); Ig: 15 mA; (Win)HF: 45 W

— = — — — — 28

110 — 9,25 6 5 20 max; Fm: 160 Mc; Ig: 50 mA 35

—- 19,7 — — — — WOoLF, (A); d: 5%

— 260 — — — — mod, pp(B); Ia(m): 320 mA; (Win)LF: 8§ W

- 425 — — — — tph, (B); Ig: 1 mA; (Win)HF: 75 W

— 100 — — — — tph, (C), M/a; Ig: 35 mA; (Win)HF: 14 W

— 130 — — — — tgr, osc, (C); Ig: 18 mA; (Win)HF: TW

— - — = = e PIV: 5 kV; Ia pk: 1A; th: 40 sec 41

12 — 0,2 16 10 20 max; Fm: 60 Mc; Vg3: 200V; (= PE04/10E) 146

—_ b5 — — — — tph, (B); Vg3: 4+40V; (Win)HF: 0,1W

— 5 — — — — tph, (C), M/g3; Vg: —65V; *Rg2: 14 kQ

— 1 s - — — tph, (C), M/a+g2; Vg3: +40V; Rg2: 13 kQ

— 22 — — —_— s tgr, (C); Vg3: +40V; (Win)HF: 04 W

100 — 8 16,5 5 30 max; Fm: 120 Mc; Ig: 70 mA 35

— 280 - _— — - mod, pp(B); Ia(m): 320 mA; (Win)LF: 75 W

— 45 — o —_ - tph, (B); Ig: 8 mA; (Win)HF: 4 W

— 105 — — —_ — tph, (C), M/a; Ig: 24 mA; (Win)HF: 6 W

—_ 150 — — - — tgr, osc, (C); Ig: 26 mA; (Win)HF: TW

— — 005 — — — HF; MF 43

15 15 7 4 3 6 tgr, (C); Ig: 15 mA; (Win)HF: 18W 1

50 100 9 3.0 2,5 40 tgr, (C); Ig: 20 mA; (Win)HF: TW 1

12 3 i 4 3 — WoLF, (A) 1

15 7,5 4,5 4 4 6 tgr, (C); Ig: 5 mA; (Win)HF: 1W 124

15 9 0,15 9,5 7,5 — tgr, (C) 187

75 = 135 6 6,5 — max; mod 35

— 30 — — — - WoLF, (A)

— 105 — — — == mcd, pp(AB1); Ia(m): 200 mA

— — — — — — spec 35

2500 — 9 6,5 1,5 50 max; (w); Ig: 150 mA; Fm: 150 Mc

— 4250 — — — — tgr, osc, (C); Ig: 140 mA; (Win)HF: 300 W

75k — 27 18 2 1,6 max; (w); Fm: 20 Mc; Ig: 150 mA 135

- 10k — — — — tgr, osc, (C); Ig: 100 mA; (Win)HF: 310 W; Vin pk: 2900V

400 560 3356 11 5 3 Fm: 30 Mc; tgr, (C); (Win)HF: 3W; Ig: 9 mA; Vin pk: 400V 138

500 — 11,5 14 1.8 20 max; Fm: 40 Mc; Ig: 100 mA 138

— 150 — — — — mod, (A)

— 1900 — — —_ —_— mod, pp(B); Ia(m): 900 mA; (Win)LF: 110 W

— 2175 _— —_ — — tph, (B); Ig: 2 mA; (Win)HF: 25 W

— 630 — — — — tph, (C), M/a; Ig: 80 mA; (Win)HF: 40 W

— 1200 - — — — tgr, (C); Ig: 93 mA; (Win)HF: 44 W

== — 115 10 18 30 136

100 130 0,25 17 25 — tgr, (C); Igl: 35 mA; (Win)HF: 10 W 32

750 47 255 4,5 3 max; Fm: 15 Mc; Ig: 200 mA 138

— 2400 —_ S —_— _— mod, pp(B); Iam): 1,2A; (Win)LF: 6 W

— 1250 —_ — —_ — tph, (C), M/a; Ig: 1256 mA; (Win)HF: 656 W

— 1700 — — S — tgr, (C); Ig: 100 mA; (Win)HF: 45W
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vt If Va Vgl Vg2 TIa Iz2 S Ri Ra Rk

TYPE | \,‘(’ (Se) uw (Ra-a)
A% A vV -V V mA mA mA/mV kQ kQ Q
852 USA 3z 10 3,25 30300 600 — 85 — — 12 — — —
854H Gammatron 3Z 7,5 12 6000 1500 — 600 — — 30 — — —
4000 149 — 100 — — — — 14,5 —
4000 160 — 180 — - — —_— — —
4009 285 475 — — — — — —
5000 310 — 450 — — — —_ — —
854L Gammatron 3z 7.5 12 6000 1500 — 600 — — 16 — — —_
4000 315 — 100 — — — — 145 —
4000 350 — 180 — — — — — —
4000 625 — 475 — — — — — —
5000 575 — 450 — — — — — =
857B INT 2R 5 30 S — - 5A — = — — e =
857B/AH205 English Electric 2R (= 857B) - - e - — — — - — ==
858 USA 3z 22 52 20k 3000 — 2A — 4,8 42 — — —
12k 140 — 500 s — — 7,2 —
18k 300 — 900 - — — — — —
12k 1000 — 950 — — — — — —
18k 1200 — 1,8A — — — — =
859 Amperex 3Z 2o 71 20k 3000 — 3A — 8 36 — — —
12k 175 — 1,2A —_ — — — 4 —
15k 350 — 1A - — — - — —
10k 700 — 1,3A — - — — — —
15k 1100 — 1, TA — — — — — —
860 RCA; Westingh. 47 10 3,25 3000 800 500 150 — 1.1 — - — —
3000 50 300 43 — — — — — —
2000 200 220 85 25 — — — — —
3000 150 300 85 — — — — —
861 USA 47 11 10 3500 250 500 300 40 2,1 300 — — —
862 USA 3Z 33 207 20k — — 10A — — 48 — — —
862A RCA; GE; Federal 37 33 207 20k 3000 — 10A -— 112 42 — — —
12k 0 — 3A — — — — 1,8 —
18k 200 — 42A — — — —_ — —
12k 800 — 5A — — — — — —
18k 1000 — 8,3A == — — — — —_
863 RCA; Federal 3Z 22 52 15k 3000 — 2A — 50 — — —
12k 1600 — 164A — —_ — — — —
864 RCA 3 vl 025 135 9 — 3,5 — 0,645 8,2 127 — —
90 4,5 — 2,9 - 0,61 8,2 136 — —
865 RCA 47 7.5 2 750 200 75 60 — 0,75 150 — — —
750 30 125 22 == — —_ — — —
500 120 125 40 — — — — — —
750 80 125 40 — — — — — —
866 USA 2R 2,5 5 — — — 250 — — — — — —
866A INT 2R 2,5 5 = = — 250 — = — s e _—
866A/866 INT 2R (= 866A) — — — — — — — — — —
866AX Amp.; Westingh. 2R (= 866A) — —_ — —_ — — — — — —
866E Fivre 2R (= 866A) — — — — — —_ —_ — — —
866Jr Hytron; Taylor 2R 2,5 3 — — — 125 — — — — —
869A USA 2R 5 18 — - — 2,6A — — — — — —_
869B USA 2R 5 19 — — — 2,5A — — — — — —
869BL Amperex 2R 5 18 — — — 2,5A —_ — — — — =
870 RCA; GE 2R B 70 — — — T5A — — — — — ==
870A RCA; GE 2R 5 65 — — — T5A — —_ — — — =
871 RCA 2R 25 2 1750% — — 250 — — — — — —
872 RCA; GE 2R 5 10 — — 1,256A — —_ = — — —_
872A INT 2R 5 7,5 — — — 1,25A — — — — — —
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852-872

wa Wo Cagl Cin Co F

1ax ADDENDA @

w w pF pF pF Mc

100 165 2,6 1,9 1 — tgr, (C); Ig: 15 mA; (Win)HF: 12W 158

450 —_ 47 8,8 0,7 25 max; Fm: 100 Mc; Ig: 110 mA 144

— 1970 — — — — mod, pp(B); Ia(m): 670 mA; (Win)LF: 425 W

—_ 270 —_ —_ — — tph, (B); Ig: 1 mA; (Win)HF: 16 W

— 1520 — — — — tph, (C), M/a; Ig: 100 mA; (Win)HF: 50 W

— 1820 — — — — tgr, (C); Ig: 75 mA; (Win)HF: 40 W

450 — 5,2 6,7 0,9 25 max; Fm: 100 Mc; Ig: 80 mA 144

— 1880 — — = — mod, pp(B); Ia(m): 660 mA; (Win)LF: 425 W

—_ 270 — — — — tph, (B); (Win)HF: 1TW

_ 1520 — — — — teh, (C), M/a; Ig: 66 mA; (Win)HF: 58 W

— 1800 — — — — tgr, (C); Ig: 45 mA; (Win)HF: 40 W

_— S - _— — po (G: Hg); PIV: 22 kV; Ia pk: 20 A; THg: 30/40; Vdr: 15V; (fa); th: 60 sec 269

— — — — — - 269

20k — 18 16 2 1,5 max; Fm: 40 Mc; Ig: 250 mA; (w) 135

— 26,5k —_ — == — med, pp(B); Ia(m): 3,6 A; (Win)LF: 115 W

— 5,6k — — — — tph, (B); (Win)HF: 85 W

- 8k — = = s tph, (C), M/a; Ig: 80 mA; (Win)HF: 150 W

— 224k — == == — tgr, osc, (C); Ig: 160 mA; (Win)HF: 250 W

20k —_ 15 20 2 1,6 max; Fm: 40 Mc; Ig: 400 mA; *2 x 11V; (w)

— 34k — —_— — = mod, pp(B); Ia(m): 5,1 A; (Win)LF: 5256 W

_— 5,6k s e — = tph, (B); (Win)HF: 220 W

— 9,8k s == = - tph, (C), M/a; Ig: 200 mA; (Win)HF: 240 W

— 22,6k — — - = tgr, osc, (C); Ig: 350 mA; (Win)HF: 595 W

100 = 0,08 7,75 7.5 30 max; Ig: 40 mA; Fm: 120 Mc 89

- 40 — — — tph, (B)

— 105 — — — — tph, (C), M/a+g2; Igl: 38 mA; Rg2: 100 kQ; (Win)HF: 1TW

— 165 — — - — tgr, (C); Igl: 15 mA; (Win)HF: TW

400 700 0,1 14,5 10,5 20 tgr, (C); Igl: 40 mA; (Win)HF: 30 W; Fm: 60 Mc 90

100k — 75 52 2 — max; Ig: 1A; (w+fa) 135

100k — 69,5 53 45 1,6 max; (w+fa); Ig: 1A 135

— 90k == — = == mod, pp(B); Ia(m): 13 A; (Win)LF: 450 W; Vin pk: 2000V

— 25k —_ — o = tph, (B); (Win)HF: 1,1 kW; Vin HF pk: 750V

= 45k — — =y — tph, (C), M/a; Ig: 1 A; (Win)HF: 2 kW; Vin HF pk: 2000 V

= 100k - — — —_ tgr, (C); Ig: 900 mA; (Win)HF: 24 kKW; Vin pk: 2550 V

10k == 27 18 2 1,6 max; Fm: 20 Mc; Ig: 250 mA; (w) 135

= 14k —_ — — — tgr, osc, (C); Ig: 180 mA; (Win)HF: 500 W; Vin pk: 2800V

— — 5,3 3.3 2,1 e LF; spec 1

15 = 0,1 8,5 8 15 max; Igl: 15 mA 14

— 45 — — —_ tph, (B); Igl: 3 mA; (Win)HF: 15 W

- 10 = — s — tph, (C), M/a; Igl: 9 mA; (Win)HF: 25 W

e 16 = — = = tgr, (C); Igl: 5,6 mA; (Win)HF: 1 W

- Eo = = - o (G: Hg); PIV: 10 kV; Ia pk: 1A 17

— e — —_— - = (G: Hg); PIV: 10 kV; Ia pk: 1 A; Vdr: 15V; THg: 25/60°C; th: 30 sec; 268

(= DCG4/1000G)

— — - — — — 268

— — — — — —- 290

— — — — — 23

e — — - - (G: Hg); PIV: 5 kV; Ia pk: 500 mA —

— — — —_ e — (G: Hg); PIV: 20 kV; Ia pk: 10A; (fa) 137

s == — — — — (G: Hg); PIV: 20 kV; Ia pk: 10A; (fa); Vdr: 15V; th: 60 sec 137

— — = s - — (G: Hg); PIV: 20 kV; Ia pk: 10A; THg: 30/40°C; th: 60 sec; Vdr: 10V —

— . — s S - (G: Hg); PIV: 16 kV; Ia pk: 450 A; (fa) —
o e == = s (G: Hg); PIV: 16 KV; Ia pk: 450 A; (fa); Vdr: 10V; THg: 35/40°C —

— a— = —_ s — (G: Hg); PIV: 5 kV; Ia pk: 500 mA; *eff 17

— — — — — — (G: He); PIV: 75 KV: Ia pk: 5A 28

. s — - — — (G: Hg); PIV: 10 kV; Ia pk: 5A; Vdr: 15V; Va st: 60V; th: 30 sec; 288

THg: 20/60"C; (= DCG5/5000GB)
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. VE If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE * (Sc) w (Ra-a)
E v A v —V V mA mA mA/mV kQ kQ Q
872A/872 INT 2R (= 872A) s — — = - = . . = _—
872AX INT 2R (= 872A) - S — = = = — - _— -
872G Fivre 2R (= 872A) — = s o — — — = — -
875A Taylor 2R 5 10 — — — 156A — — — — o s
878 RCA 2R 2,0 5 7100% — —_ — — — — —_ —
879 INT 2R 25 1,75  2650* — — 7.5 — — — == — —
880 USA 3z 12,6 320 10,5k 1200 — 6A — — 20 — — —
10k 450 — 1A s — — — 31 —
10k 460 — 2,75A — — — —_ — —
10k 1200 — 3,6A — — - — — —
10k 1000 — 6A — — — — — —
881 Westinghouse 2R ] 9,5 — — — 5A — - - — — —
887 RCA 3z 11 24 2000 300 — 200 =— — 10 — — —
888 RCA 3Z 11 24 3000 300 — 400 — — 30 — — —
889 RCA 3z (= 889A) === = = — — —_ — — — —
889A USA 3Z 11 125 8,5k 1000 — 2A — 9 21 — — —
7,5k 300 — 400 = — — — 5 —
7,5k 300 — 200 — — — — — —
6k 900 — 1A — — — — — —
7.5k 800 — 2A — — — — — —
889M EP 3z (= 88%A) = = == = — - == — = —
889R RCA 3Z (= 889RA) — = = = — — — — — —
889RA USA 3Z (= 889A) = — — — — — — — — —
889RA/BR129 English Electric 3Z (= 889RA) — — — — — — — — — —
891 USA 3Z 22* 60 15k 3000 — 2A s 4 8 — — —
12,5k 1450 — 400 = — — — 12 —
10k 1100 — 800 — — — — — —
8k 2400 — 780 — — — — — —
10k 2000 — 1450 — — — — — 136(
891M EP 3Z (= 891) = o — — - - — == == —
891R USA 3Z 22% 60 10k 3000 — 2A 4 8 — — —
8k 860 — 100 = = — — 8 —
8k 820 — 600 — — — — —- —
6k 2000 — 750 — — — — — ==
10k 2000 — 14A — — = — — 136(
892 USA 3Z 22% 60 15k 3300 — 2A 7 50 — — —
12,5k 200 — 200 = — — — 10 —
14k 200 — 950 — — — — — —
10k 1600* — 7170 — — — — — —
12k 1600 — 1550 o = — == — 900
892A Federal 3Z (= 892) — s = e — = = — — —
892M EP 3Z (= 892) — — — — — — — — — —
892R USA 3z 22% 60 12,5k 3000 — 2A — 7 50 — — —
8k 120 — 500 = == — — 8,4 —
8k 80 — 750 — — — — — —
8k 1250 — 960 — — — — — —
10k 1300 — 14A — — —_ — —_ 790
893 USA 3z 20 (= 893A) — — = — - - — — ==
893A USA 3Z 20 1837 20k 3000 — 4A — 16 36 — — —
18k 450 — 800 = o — — 8 —
15k 340 — 2A — — — — - —
12k 1000 — 2A — — — — — —
18k 1000 - 36A — — — — — —
893AR USA 3Z (= 893A) == - = — - — — — — s
893B Fivre 3Z (= 893A) = = — = — — — — —_ —
893BR Fivre 3Z (= 893AR) — — — — — — — — — —




372-893

Va Wo Cagl Cin Co F !
ax ADDENDA
N w pF pPF pF Mc %
_ — — s — — 288
L _ — — — — 288
— — — — — — 23
- — — — — — (G: Hg); PIV: 15 kV; Ia pk: 6 A —
_ - * eff; PIV: 20 KV =
L — — — — — *eff; PIV: 7,5 KV 17
20k — 24 35 2 25 max; Fm: 100 Mc; Ig: 800 mA; (w-+fa) 47
- 46k — — — — mod, pp(B); Ia(m): 7TA; (Win)LF: 540 W
- 9k — — — — tph, (B); Ig: 9 mA; (Win)HF: 900 W
— 27k — — — — tph, (C), M/a; Ig: 640 mA; (Win)HF: 1,1 kW
— 40k — — — — tgr, osc, (C); Ig: 800 mA; (Win)HF: 1,5 kW
- — — — — — (G); PIV: 15 kKV; Ia pk: 15A —
1000 200 6,9 2,5 2,7 —_ tph, (B); (Win)HF: 50 W; (w+fa) —
1000 800 7,8 2,5 2,8 — tgr, (C); (Win)HF: 40W; (w-fa) —
— - _ - — — 47
'k — 17,8 19,5 2,5 50 max; Fm: 150 Mc; (w+fa); Ig: 250 mA 47
— 15k s e, - — mod, pp(B); Ia(m): 3,2A; (Win)LF: 150 W; Vin pk: 1700V
- 2k — — —e — tph, (B); (Win)HF: 80 W; Vin HF pk: 1000V
- 4k — — — — tph, (C), M/a; Ig: 100 mA; (Win)HF: 140 W; Vin HF tk: 1420V
- 10k — — —_ — tgr, (C); Ig: 240 mA; (Win)HF: 400 W; Vin pk: 1830V
— — 17,5 23,3 2,7 — (w/fa) 47
— — — — — — 47
- — 18,5 23,3 3 40 (fa); Fm: 100 Mc 47
- — — — — — 47
3k — 28 16 3 1,6 ¥2 X 11V; max; (w); Fm: 20 Mc; Ig: 150 mA 160
— 22k — — — —_ med, pp(B); Ia(m): 2,6 A; (Win)LF: 245 W
= 2,5k — — — — tph, (B)
= 5k — =5 — —_ tph, (C), M/a; Ig: 80 mA; (Win)HF: 260 W
=2 10k — — — — tgr, (C); Ig: 110 mA; (Win)HF: 300 W
- — 27 19 2 — (w/fa) 160
tk — 30 16 3 1,6 “2 X 11V, max; Fm: 20 Mc; Ig: 150 mA; (fa) 162
— 10k — — — — med, pp(B); Ia(m): 2,1 A; (Win)LF: 50 W
- 1,3k — —_ — — tph, (B)
— 3,5k — — — — tph, (C), M/a; Ig: 100 mA; (Win)HF: 260 W
— 10k —_— — — — tgr, osc, (C); Ig: 110 mA; (Win)HF: 310 W
Ok — 30 20 1,5 1,6 *2 X 11V; max; Fm: 20 Mc; (w); Ig: 400 mA 1690
= 22k —_ —_ — — mod, pp(B); Ia(m): 2,7A; (Win)LF: 170 W; Vin pk: 1580V
— 4,5k — —_ =3 = tph, (B); Ig: 13 mA; (Win)HF: 80 W; Vin HF pk: 500V

6,3k — — — — tph, (C), M/a; Ig: 135 mA; (Win)HF: 300 W; * = Rg: 6,96 kQ
— 14k — — — s tgr, osc, (C); Ig: 165 mA; (Win)HF: 420 W; Vin pk: 2600V
- — 30 20 1,5 — (w/fa) 160
= — _— = - — 160
tk — 31 20 2 1,6 *2 X 11V; (fa); max; Fm: 20 Mc; Ig: 400 mA 1690
— 17k e — = - mod, pp(B); Ia(m): 2,5 A; (Win)LF: 300 W; Vin pk: 1400V
= 2k == = =3 e tph, (B); Ig: 40 mA; (Win)HF: 30 W; Vin HF pk: 380V
s 6k < — e — tph, (C), M/a; Ig: 156 mA; (Win)HF: 310 W; Vin HF pk: 2000V
- 10,5k — — tgr, (C); Ig: 160 mA; (Win)HF: 340 W; Vin HF pk: 2200V
= — — — — — 161
20k - 33 48 3,2 5 3 X 61A; max; Fm: 40 Mc; (w-+fa); Ig: 400 mA 161
— T0k — — —_ o mod, pp(B); Iatm): 5,6 A; (Win)LF: 140 W; Vin pk: 1720V
= 10k — - - — toh, (B); (Win)HF: 200 W; Vin HF pk: 450V
— 18k —_ —_ — — teh, (C), M/a; Ig: 140 mA; (Win)HF: 210 W; Vin HF pk: 1500V
— 50k — — — — tgr, csc, (C); Ig: 210 mA; (Win)HF: 340 W; Vin pk: 1630V
- — — —_ 3,2 — (fa); Fm: 25 Mc 161
s s — — — —_ 161
= — - — — s 161
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gt Vi If Va Vgl Vg2 1Ia Ir2 S Ri K Rk
TYPE i A (Se) n (Ra-a)

v A v =V vV mA mA mA 'mvV kG kQ )
893R USA 3Z (= 893AR) — — — — — — — — — —
893RA USA 3Z (= 893AR) — — — — — — —_ — =
895 USA 3Z 19 138 17k 3000 — 9A — — 348 — — s

12,5k 250 — 1,5A — — — — 2,7 —
12,5k 1500 — 4.4A — — — — — —
17k 1000 — T5A — — — — == —
895R USA 3Z 19 138 17k 3000 — 9A — — 37 — — —
10k 200 — 2A — — — — 2,1 —
12,5k 1500 — 448 — — — SN — e
17k 1800 — 6A — — — — — -
898 USA 3z (= 898A) — — s — — —_ — — — —
898A USA 3z 33 210% 20k 3000 — 10A — 17,5 50 — — —
12k 100 — ZA — = = — 2 —
18k 250 — 4.2A — — — — — —
12k 800 — 5A — — — — — —
18k 1000 — 8,3A — — == — — .
8G9A Westinghouse 3Z 14,5 180 18k 2000 — 2,8 — — 27 — — o
924V Mullard 3 4 0,65 200 2 — 2 — 2 72 36 — —
930 United 3Z 10 2 750 180 — 110 — — 8 — — —
949H United 3Z 14 Vi 4000 — — 2A — == — s -
959 USA 5 2 0,12 135 16,5 135 7 2 0,95 100 106 13,5 —
950F Fivre 2+2 6,3 0,3 — — — 2 — — — — = wees
951 Sylvania 4 2 0,06 180 3 675 17 04 0,66 — 12M — —
951F Fivre 242 6,3 0,15 — — 2 —_ = — — —
952F Fivre 2 6,3 0,15 — — — 2 e = - — — o
9538 Gammatron 2R 7.5 6,5 — — — 40 — — — — — —
953D Gammatron 2R D 11 —_— — — 60 — — — — — —
953E Gammatron 2R 15 15 - — — 200 — — — — — —
954 INT 5 6,3 0,15 250 3 100 2 0,7 1.4 — M — —
90 3 99 1,2 0.7 i = M — —
955 INT 3 6,3 0,15 250 7 — 6, — 2.2 25 114 — —
90 2.5 — 2,5 — 157 25 147 — —
180 35 — 7 — — — — — —
956 INT 5 6,3 0,15 250 3/45 100 67 2,7 1.8 — 700 — —
250 10 100 — — - — — — —
100 10 100 — — — — s — —
957 INT 3 1,25 0,05 135 5 — 2 — C,65 13,5 208 — —
958 USA 3 1,25 0 135 7.5 — 3 — 1,2 12 10 — —
958A USA 3 1,25 0,1 135 7.5 — 3 — 1,2 12 10 — —
135 20 — 7 S — — — — 35(
959 USA 5 125 0,05 135 3 675 1,7 0,4 0,6 — 800 — —
966 United 2R 5 2.5 — — — 250 — — — . — —
975A United 2R 5 10 — — — 15A — — —- = — —
975T United 2R (= 975A) — — — = == 2 — — — —
985 USA 2R -+2R 5) 0,5 250% — - 50 — — — — — —
986 USA 2R-+2R 5 3 400 — — 50 — — = — — —
994V Mullard 3 4 0,65 100 0 — — — 3,6 125 35 — —
1000T USA 3Z 7.5 15,5 7500 — — 750 — 9,06 35 — — -—
6000 160 — 220 — — — 133 -
6000 350 — 667 — —_— — — —_ —

1802 Philips 2R 1,9 2,8 160% — o 100 — — — — —
1603 Raytheon 2R+2R 0 0 — — — 110 — - — — - -
1005 Raytheon 2R+2R 6,3 0,06 226% — — 70 -— — - - = —
4 0,08 226% — — 70 — — — — — —
0* 0 2267 — s 70 — - — — —_ —
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893-1005

Wo Cagl Cin Co F \ !

ADDEND A %
w pF pF pF Mc i
_ o - - P 161
— —_ — — — 161
—_ 40 80 8 6 max; Fm: 25 Mc; (w+fa); Ig: 15A 162
90k —_ — — — mod, pp(B); Ia(m): 10,8 A; (Win)LF: 700 W; Vin LF pk: 1300V
45k g — - — tph, (C), M/a; (Win)HF: 1700 W; Vin HF pk: 2080V
100k = — — — tgr, osc, (C); Ig: 1A; (Win)HF: 1700 W; Vin pk: 1700 V
= 40 80 8 6 max; Fm: 25 Mc; (fa); Ig: 15A 163
70k — — — e mod, pp(B); Ia(m): 10,8 A; (Win)LF: 600 W; Vin pk: 1220V
45k — — —_ — teh, (C), M/a; (Win)HF: 1700 W; Vin HF pk: 2080 V
84k s = — s tgr, osc, (C); Ig: 900 mA; (Win)HF: 22 kW; Vin pk: 2500V
= o — == — 161

— 62 52 42 1,6 *3 X T0V; (w+fa); max; Ig: 1A 161
90k — — — - mod, pp(B); Ia(m): 13A; (Win)LF: 6 KW; Vin pk: 2200V

25k - o — — tph, (B); (Win)HF: 1,1 kW; Vin HF pk: 775V

45k — — - — tph, (C), M/a; Ig: 1A; (Win)HF: 2 kW; Vin HF pk: 2000V

100k s e = — tgr, csc, (C); Ig: 900 mA; (Win)HF: 24 kKW; Vin pk: 2550V

35k 23 10 5 5 (w); tgr, (C); Ig: 150 mA; (Win)HF: 480 W —
- = - g — LF 189
55 9,9 9,9 2,2 6 tegr, (C); Ig: 15 mA; (Win)HF: 5W —
— e — — — max -
0,45 — = e — 19
— —_— = — - VHF det; PIV: 100V; Vi-k: 50V 123
— — — — — HF; MF 1
— —_ — —_ — VHF det; PIV: 200V; Vi-k: 50V 124
—_ — — _— — VHF det; PIV: 200V; Vi-k: 50V 125
— — — — - PIV: 30 kV; Ia pk: 80 mA 1%
= = s B - PIV: 75 kKV; Ia pk: 120 mA 115
s = s — = PIV: 150 kV; Ia pk: 400 mA 115
— 0,007 34 3 450%* HF; Vg3: 0V; *max 168
= s = = e Vg3: 0V

= 1,4 1 0,6 600* csc; HF: det; *max; LF 164
— — — —_ — LF

0,5 — — — — tgr, (C); Ig: 1,56 mA

— 0,007 3,4 3 450* *max; HF; MF 168

— — — P - mix; Veg3: 0V; Vosc pk: 9V
_ _— - = - mix; Vg3: 0V; Vosc pk: 9V

— 1,2 0,3 0,7 — UHF 165
= — —_ — — LF; osc 165
— 2,6 0,6 0,8 — A 165
0,6 — — o - tgr, osc, (C); Ig: 1 mA

— 0,015 1,8 2,5 — A 169

= == == — — (G: Hg); PIV: 10 kV; Ia pk: 1A _

_ 5= _— - = (G: Hg); PIV: 15 kV; Ia pk: 6 A 28
— — — — — (G: Hg); *eff 26
— — — — — (G: Hg); *eff 11
— — — — — (A); LF; Va max: 200V 189
s 51 9,3 0,5 50 max; (fa); Ig: 125 mA; Wg: 80 W 30
4.6k — — — — mod, pp(AB2); Ia(m): 1,06 A; (Win)LF: 60 W; V.n pk: 670V

3k — s — s tgr, (C); Ig: 110 mA; (Win)HF: 60 W; Vin pk: 610V

— — — s — (G); *eff; PIV: 500 V; Ia pk: 600 mA; Rt: 15Q; Va st: 16 V; 126

Vdr: 7V; th: 15 sec; Ta: —55/+175°C

SN

ey - = = - (G); PIV: 800V; Ia pk: 330 mA; Vdr: 24 mA; (= OZ4A/(CK)1003)

o = — — — (G); *pk; PIV: 450V; Vdr: 20V; Ia min: ¢ mA; Va st: 125V; 12
Ia pk: 210 mA

_ — — — — *pk; PIV: 450 V; Vdr: 20 V; Ia min: 15 mA; Va st: 175 V; Ia pk: 210 mA

— — — — — *VE st: 11V; If st: 0,125 A; PIV: 450V; # pk; Va st: 100 V; Ia pk: 210 mA
Ia min: 30 mA

-1
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— Vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE I ‘\,’\ (Se) u (Ra-a)
v A v -V V mA mA mA/mV kQ kQ QO
1606 Raytheon 2R--2R 1715 2 800* — — 200 — — — == = —
0 800* — — 200 —_ — — — - —
1007 Raytheon 2R+2R 1 1,2 490% — — 119 — — — —_ = —
0 0 490*% — — 110 — — — = ey =
1010 Philips 2R-+2R 1,9 3,5 — — — 650 = - _— — - o
1012 Raytheon 2R+2R 1,75 2 S — — 300 = — - == - =
1013 Raytheon 2R 0 0 —_ — - 3 — = = - = =)
1018 Philips 2R-+2R 1,8 1,8 16 — - 200 — — — — — —
1024 Raytheon 2R-+2R 0 0 —_ — — 175 — — — —_ —
1027 Raytheon IR 0 0 — — —_ 3 —_ —_ — —_ - —
1028 Raytheon 2R 6,3 055 — — — 100 — — — = = —
1028A Raytheon 2R (= 1028) o - o _— e — — _— - —
1029 Philips 2R-+2R 192 8 60% — — 6A — — — = — —
1036 Raytheon 2 = = — 0,1 — = = — — o
1037 Philips 2R+2R 19 11 60% — — 3A — — — — - s
1039 Philips 2R+2R 1,9 18 60% — — T7,5A = = — — = i
1042 Raytheon 2 0 0 — — — 8 = = _— st - —
1047 Raytheon 2R 0 0 500% — — 12 = = — — — -
1048 Philips 2R+2R 1,9 7 60% — — 3A = = — - = .
1049 Philips 2R—+-2R 1,9 28,5 60% — — 125A — - - - - P
1053 Philips 2R+2R 1,9 45 48% — — 1254 — — — = = —
1054 Philips 2R-+-2R 1,9 68 48  — — 20A - = = s = -
1054L Gammatron 3z 1,5 20 6300 1300 — 1A - — 13,5 — — —
4000 300 — 50 = == — = 8.6 -
4000 300 — 290 — = — — . -
4000 875 — 690 — — —_ - — =
5000 950 — 750 — = - — == =
1059 Philips 2R+2R+2R 1,9 40 60%  — — 20A — — — = - —
1060 Philips 2R+2R+2R1,85 55 250% — — 1,34 — — — = — =
1063A Philips 2R-+2R 1,9 11 250% — — 3A — - = — - -
1069 Philips 2R+2R 3,06 65 55% — — 30A — — — = s -
1069K Philips 2R+2R 325 70 55% @ — — 30A — — — — — =
1089 Philips 2R+2R 1,9 11 60* — — 5A — — — — _ —
1110 Philips 2R+2R 1,9 3,5 60"  — — 850 — —_ — — == =
1119 Philips 2R-+2R 1,9 58 45’ — — 15A — — — == — -
1125 NU 3 6,3 015 180 1 — 11,5 — — 55 - — -
1179 Philips 2R+2R 19 55  60% — —  15A — - — - - -
1130 Philips 2R-+2R 1,85 3,5 50% — — 1,3 — — = — - —
1132 NU 5 6,3 0,15 100 1 100 7 2,5 = == = — =
1133 NU 5 6.3 0,15 150 1 — 3,5 4,5 = — — S =
1138 Philips 2R 2,5 27 85%  — — 15A — — — —t = —
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1006-1138

va Wo Cagl Cin Co ¥ Y :

ax ADDENDA %

N w pF pF pF Mc

s s - —— — —_ (G); *eff; PIV: 1600 V; Ia pk: 600 mA; Ia min: 0 mA; Va st: 420V; 11
Vdr: 25V

- - = - S — *eff; PIV: 1600 V; Ia pk: 600 mA; Ia min: 70 mA; Va st: 550 V; Vdr: 30V

= _— == = - — (G); PIV: 980V; *pk; Ia min: 10 mA; Ia pk: 330 mA; Va st: 140V; 128
Vdr: 24V

= — = = - = (G); PIV: 980V; *pk; Ia min: 30 mA; Ia pk: 330 mA; Va st: 340V;
Vdr: 24V

_ — — = - s (G); PIV: 185V; Ia pk: 4A; Rt: 10Q; Va st: 16V 46
Vdr: 9V; th: 15 sec; Ta: —55/+175°C

e o e — — — (G); PIV: 12 kV; Ia pk: 900 mA; Vdr: 25V 11

- g _ — — —_— (G): PIV: 2,8 kKV; Ia pk: 30 mA; Vdr: 180V; (= 6174) 129

_— _— — — = S (G); *eff; Va st: 11V; Va eff min: 8V —

— — = — — = (G); PIV: 1 kV; Ta min: 50 mA; Vdr: 24V; Rt: 300 Q; Ia pk: 480 mA 3

= — — = - —_ (G); PIV: 2,8 kKV; Ia pk: 30 mA; Vdr: 100V 129

- — — s - — (G); PIV: 2,5 kV; Ia pk: 300 mA; Vdr: 15V 131

e — s = — — 131

= — = = — — (G); *eff; Rt: 175Q; Va st: 105V 135

— o = = — — (G); PIV: 15V; Ia pk: 10 mA 255

_ — == == == = (G); PIV: 185 V; *eff; Ia pk: 18 A; Rt: 1,75 Q; Va st: 16 V; 135
Vdr: 9V; th: 120 sec

_ - — s s . (G); *eff; PIV: 185V, 1a pk: 45A; Rt: 0,75 Q; Va st: 16 V; 47
Vdr: 9V; th: 120 sec

e — s - - = (G); PIV: 2,8 KV; Ia pk: 30 mA; Vdr: 120V 132

=— . = —_ — — (G); PIV: 2800V: *eff min; Ia pk: 100 mA; Rt: 75 kQ; Vdr: 100V 171

_ - e — = s (G); *eff; PIV; 185V; Ia pk: 18A; Rt: 1,/75Q; Va st: 16V; 42
Vdr: 9V; th: 30 sec

= - - o — == (G); *eff; PIV: 185V, Ia pk: 76 A; Ri: 03Q; Va st: 16V e
Vdr: 9V; th: 120 sec

_— = et - s — (G); *eff; PIV: 150V; Ia pk: 75.A; Ri: 0,25Q; Va st; 16 V; —
Vdr: 9V; th: 120 sec

== - — - . = (G); *eff; PIV: 150V; Ia pk: 120 A; Rt: 0,18Q; Va st: 16 V; —
Vdr: 9V; th: 120 sec

750 — 5,3 7,9 1,2 100 max; Ig: 150 mA 33

p— 2970 — — — —_ mod, pp(B); Ia(m): 1,060 A; (Win)LF: 100 W

== 410 — — — — tph, (B); (Win)HF: 45 W

— 2150 — = = — tph, (C), M/a; Ig: 120 mA; (Win)HF: 150 W

= 3000 _ B - — ter, (C); Ig: 105 mA; (Win)HF: 140 W

— o — = = — (G); *eff; PIV: 185V; Ia pk: 120A; Rt: 02Q; Va st: 11V; —
Vdr: 9V; th: 120 sec

_— i~ — = — — (G); *eff; Ia pk: 26A; PIV: 700V 134

_— = — - — — (G); *eff; PIV: 7T70V; Ia pk: 12A; Vdr: 15V; th: 60 sec 134

e N — = o — (G); *eff; Ia pk: 200A; PIV: 150V; Rt: 0,12Q —

- — — —_ —_ (G); *eff; PIV: 170V; Ia pk: 200 A; Rt: 0,12Q; Va st: 16 V; —

Vdr: 10V; th: 120 sec

. _— —_ - e — (G); *eff; PIV: 185V; Ia pk: 30A; Rt: 12Q; Va st: 11V; 47
Vdr: 9V; th: 120 sec

- - oy =y — i (G); *eff; PIV: 185V; Ia pk: 2A; Rt: 4Q; Va st; 16V; 46
Vdr: 9V; th: 15 sec

_ - -t S e — (G); *eff; PIV: 140V; Ia pk: 9A; Rt: 1,8Q; Va st: 16 V; 45
Vdr: 9V; th: 30 sec

— — 1,6 2,5 2,6 — HF 165

_— e — - - — (G); *eff; PIV: 185V; Ia pk: 9A; Rt: 25Q; Va st: 16 V; 46
Vdr: 9V; th: 30 sec

— . e — — = (G: Hg); *eff 45

- — 0,005 5,3 41 — HF 170

— — 0,005 5,2 3,5 — spec 170

— - = se = i (@); *eff; PIV: 275V; Ia pk: 85 mA; Rt: 03Q; Va st: 16 V; 23

Vdr: 10 V; th: 120 sec
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= Vi If Va Vgl Vg2 Ia Ig2 S Ri Ra Rk
TYPE L s (sc) w (Ra-a)

A% A v -V V mA mA mA ' mV kQ kQ Q)

1138/01 Philips 2R (= 1138) s - . — — — s _ — o
1139 Philips 2R-+-2R 18 5 60% — = 15A — — = = . —
1148 Philips 2R 225 10 50%  — — 6A — _— — - L, -
1148/01 Philips 2R (= 1148) — == o - N - _— pe — s
1149 Philips 2R 2,25 10 100% — —_— 6A — — —_ - - -
1149/61 Philips 2R (= 1149) — — = o e s — — o -
1152 NU 3 315 0,11 100 1 — 6,5 — 3.5 30 4 — —_
2,8 0,1 90 0,75 — 55 — 3 30 — —

1153 NU 3 6,3 0,2 126 1 — g — 5 35 — —
1163 Philips; Mullard 2R 225 17 130% — — 6A — — — — —
1164 Philips 2R 2,5 25 80* — - 15A e _— = p— — -
1173 Philips 2R 1,9 13 — —_ — 4A — — — — — -—
1174 Philips 2R 19 12 == == —  BA = - = — = _
1176 Philips 2R 1,9 28 — — — 15A - — — _— st -
1177 Philips 2R 1,9 60 — — - 25A — — - S = i
1201 Philips 2R+2R 2,5 1,5 300% — — 75 — — — — — —
1201 USA 3 6,3 0,15 180 3 — 5,5 — 3 36 120 — —
1201A USA 3 (= 1201) — — — — — — — — — —
1203 USA 2 6,3 0,15 117% — — 5 e — — — — -
1203A USA 2 (= 1203) — — — — — — — — == —
1204 Visseaux 2R+2R 185 3,5 — — — 13A — — — — —_ -
1204 USA 5 6,3 0,15 250 2 100 4 1.3 1.8 — 500 — —
1206 USA 4--4 6.3 0,3 250 25 100 45 0,8 2,1 — 225 — 470
1216 Sylvania 343 (= b844) — — — - — —_ — - —
1217 Sylvania 7 (= 5915A) — s - — — - — = - -
1218A Sylvania 3 6,3 0,225 200 — — 18 — 10,75 55 —_ — 100
1221 USA 5 6,3 0,3 250 3 100 2 0,5 1,225 — 1M — —
1223 USA 5 (= 1221) — — —_ — — — — o == —
1229 Sylvania 4 2 0,06 180 3 675 1,7 0,4 0,64 — 12M — —
1231 Sylvania B 6,3 045 300 — 150 10 2,5 5.5 — 700 — 200
12317 CBS-Hytron 3Z+3% 12# 1,67 500 O 150 — — — 55 — — —
400 30 100 — — — — — et —

500 15 150 — — — — —_ —_ —
1232 Sylvania 5 6.3 045 250 2 100 6 2 4,5 — 800 — 250
1237 Sylvania 2R+2R 2.5 —_ 30% — — 3A — — — — — —
1247 Sylvania 2 QT 0,065 300% — — 0,4 — — — — - —
1289 CBS-Hytron 4BZ 12¥% 1,67 600 22,5 250 240 13 3,75 — — 58 —
600 100 250 100 12,5 — — — 850
750 100 300 120 15 - — — — 710

1273 Sylvania 5 6.3 0,3 250 3 100 2 0,5 1,225 — M — s
74 Sylvania 2R+2R 6.3 0,6 325% — — 70 — — — o —
215 Sylvania 2R+2R 5 1,75 450% — — 175 — — — == —
1276 Sylvania 3 4.5 1,14 250 45 — 60 - 5,25 42 0,8 2,5 750
1280 Sylvania 5 126 0,15 260 3 100 2 0,5 1225 — M — —
1284 Sylvania 5 126 0,15 250 3 100 9 2.5 — 800 — .
1291 Sylvania 3+3 2.8* 0,11v 135 0 — 22 o == 20 — 16 =y
180 0 — 25 - — == — - e

1293 Sylvania 3 14 0,11 99 0 — 5.2 — 1.3 15 107 — —
90 20 — 1325 — — — — s -

1294 Sylvania 2 14 0,15 117% — — 1 — —_ —_ == - —
299 Sylvania 4B 2,8% 0,11+ 150 D 90 9,9 1 2.4 — — 14 —
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1133-1299

Na Wo Cagl Cin Co F 4 {
12X ADDENDA Jgu[_@
%% W pF pF pF Mc
S5 — — = o - 23
oo — — - e — (G); *eff; PIV: 140V; Ia pk: 9A; Rt: 2Q 46
— — — o — — (G: Hg); *eff; PIV: 140V; Ia pk: 36 A; Rt: 12Q; Va st: 16 V; 23
Vdr: 9V; th: 120 sec
_ — = - = == 23
= _ — = — (G: Hg); *eff; PIV: 280 V; Ia pk: 36 A; Va st: 18 V; Vdr: 10 V; th: 120 sec 23
— e — s — — 23
1 - 0,8 151, 0,65 — UHF; Fm: 1600 Mc; Vg co: —TV 167
o == - - — - Vg co: —6V
125 — 18 19 0,5 — VHF;, Va max: 180V; Vg co: —12V 167
- _ _ g s — (G); PIV; 375V; Ia pk: 36 A; Va st: 16 V; Vdr: 9V; Rt: 05Q 23
-~ _ _ - == - (G); PIV: 225V; Ia pk: 90 A; Va st: 16 V; Vdr: 9V; th: 15 sec; Rt: 03Q 23
_ _ - - - S (G); PIV: 860V; Ia pk: 20A; Ri: 0,75Q; Va st: 22V; Vdr: 12V; 136
th: 60 sec; Vbah: 40V; Iah: 10 mA
== — - — - s (G); PIV: 850V; Ia pk: 30 A; Rt: 05Q; Va st: 22V; Vdr: 12V; 136
th: 60 sec; Vhah: 40V; Iah: 10 mA
— — . e e, — (G); PIV: 80V; Ia pk: 75A; Rt: 02Q; Va st: 22V; Vdr: 12V; —
th: 120 sec; Vbah: 40 V; Iah: 10 mA
. — s e — - (G); PIV: 8530V, Ia pk: 125 A; Rt: 0,1 Q; Va st: 22V; Vdr: 12V; —
th: 120 sec; Vbah: 40V; Iah: 10 mA
== - - — e - * eff 46
4 — 1,5 3,6 2,8 300 Fm: 750 Mc; (A); (= TE5) 130
s = — — — 130
_ _ _ - - _— det; *eff; (= 7C4 282
- = — — - — 282
_ = - — o = (G: He); PIV: 170 V; Ia pk: 4A —
_ _ = - — — HF; MF; (= TABT) 124
— — 0,15 34 2,6 — 1 trio; Vgl co: —11V; (= 7G8) 56
_ _ — = - 92
- e - - = - 13
4 = 17 2,9 0,25 —_ (A); UHF; Vg co: —7V; Vi-k: 200V 14
= - — = — o LF; spec 96
— — — — — — 110
—_— — — — — — spec 32
— — s s = = 393
30 51 7,8 3 0,5 — */6V; /3,2 A; med, pp(B); (Win)LF': 1,8W 168
— 30 — —_ — —_ tph, (C),M/a; Ig: 30 mA; (Win)HF: 35 W
— 50 — — —_ - tgr, (C); Ig: 30 mA; (Win)HF: 25 W
1,5 — 0,006 9 W — HF; MF; Vgl co: —7TV; (= 7TGT) 57
_ _ — _— —— — *eff; PIV: 100V; Ia pk: 15 A -
. _. = — - — det; * eff 138
30 110 0,3 17 8,5 60 */6V; 7/3,2A; mod, pp(AB2); (Win)LF: 05 W yis
— 42 — — tph, (C), M/a; Igl: 6 mA; (Win)HF: 09 W
. 63 — — = — tgr, (C); Igl: 6 mA; (Win)HF: 0.9 W
= — s = = s LF,; spec 125
= — = — == — *eff; PIV: 1250V; Ia pk: 210 mA; Rt: 150 Q 82
= — == S —_ — * eff 11
— 3.2 16 7 5 — WoLF, (A) i
_ _ — — = = LF'; spec 57
_ _ _ — - — 57
— 1,5 — — — — */1,4V; /0,22 A; WoLF, pp(AB2) 301
- 2,8% —_ — . 25 tgr, €(Q); *125 Mc: 14 W
_ _ et = — — csc 296
- - - — — 120 csc; Rg: 10 kQ
- _ = - — — UHF det; (= 1R4); *eff 14
— 0,6 — — — — */1,4V; 7/0,22 A; WoLF, (A) 162
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o vt If Va Vgl Vg2 Ia  Ig2 S Ri Ra Rk
TYPE | 4 (Se) " (Ra-a)
v A vV -V V mA mA mA/mV kQ kQ Q
1325 Philips 2R-2R 1,8 35  150% — — 650 = = = s s =
1226 Philips 2R+2R 185 3,5 50% — — 650 — — — — — -
1349 Philips 2R+2R 1,85 28  40* — = 18K == — == s == —
1439 Philips 2R+2R 192 30A 95% — —  25A . . - _ _
1500T Eimac 3Z 7,5 24 8000 — — 1250 — 10 24 2,4 — —
6000 190 — 330 = = — - 8,2 —
7000 500 — 860 — — — = — —
1533 Philips 2R+2R+2R19 23 275% — —  5A = == == S —
1533/10 Philips 2R-+2R+2R (= 1533) —  — ey s = = . — _
1534 Philips 2R+2R 19 23 275% — —  B5A = — = S —
1534/10 Philips 2R--2R (= 1539 — — - — _ _ . — B _
1543 Philips 2R+2R+2R19 36 oT5H o B V- A— = — == s _
1543/19 Philips 2R+2R+2R(= 1543) — — s = - = s s e _
1544 Philips 2R+2R 1,9 36 275% — — 12,6A — — — — — —
1544/10 Philips 2R-+2R (= 1544) — — S — — = = — = o
1553 Philips 2R+2R+2R19 70 275% — — 1334 — - = = = ==
1553/10 Philips 2R+2R+2R (= 1553) — — = == — — — — —
1554 Gammatron 3Z 11 225 5000 — — 1A — — 1256 18 — —
5000 850 — 900 — — — —_ - —
1554 Philips 2R+2R 1,9 70 275% — — 20A — — —_ — — —
1554/10 Philips 2R+2R (= 1554) — — = = e = — — _
1560 Philips JR+2R 5 2 300% — — 125 — = - = = —
1561 Philips 2QR+2R 4 2 300% — — 160 - — — — = _
1562 Philips 2R 75 1,25 750 — — 110 o = — — == =
1564 Philips 2R+2R 19 10 275% — — 304 — . == = = -
1564/10 Philips 2R-+2R = 1564) — @ — = == — — — = = =
1602 USA 3Z 7.5 1,25 425 50 — 8 — 1,6 o 5 8 —
450 115 — 55 — — — s - .
1623 RCA 5 6,3 0,3 250 3 100 2 0,5 1,225 — 1,5M — - -
1608 RCA 3Z 2,5 2,5 425 200 — 95 — — 20 - — —
425 90 — 95 — — — — _— -
1699 RCA 5 11 025 135 15 67,5 25 085 9,725 — 400 — =
1610 RCA 57 25 1,75 400 50 150 225 7 2,5 — — b= =
1611 USA 5 63 0,7 250 165 250 34 6.5 2,5 o 80 7 S
1612 USA 7 63 03 250 315 100 53 6.5 1,1 = 600 — =
1613 USA 57 63 0,7 350 100 275 50 = 2,5 — = e ==
275 35 200 42 10 - = — = -
350 35 200 50 10 — — _ =
1614 USA 4BZ 6,3 0,9 550 125 400 110 — 6,05 == — o -
530 35 340 60 B e oms e B e
375 80 250 93 7 — = = - _
450 45 250 100 8 = e — = 410
1616 USA 2R 25 5 = — 130 — — = — e -
1619 RCA; GE 4BZ 25 2 400 125 300 75 — 45 s e —
300 10 250 44 4 = — _ s, =
400 20 300 52 3,5 — — — 14 —
400 165 300 75 6.5 s - - _
325 50 285 62 7.5 s e me _
400 55 300 75 105 — = — = _
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1325-1619

Wa Wo Cagl Cin Co F : :
max ADDENDA %
w w pF pF pF Mc
_ _ _ _ — — *eff; (G: Hg) ;
_ — — — — — (G: Hg); *eff; PIV: 105V; Ia pk: 4A 46
_ — — — — — (G); *eff; PIV: 85V; Ia pk: 25 A 46
- - — — — — (G: Hg); *eff —
1500 — 7,2 9,9 1.5 40 max; Wg: 126 W; (= 3-1500A3) 33
—_ 7000 — — — — mod, pp(B); Ia(m): 1,65 A; (Win)LF: 115 W
— 4500 — — — — tgr, osc, (C); Ig: 110 mA; (Win)HF: 85 W
_ — — — — — (G); *eff; PIV: 850V; Ia pk: 45A; Vah: 100V; Iah: 25 mA; 139
Vdr: 15 V; Rt: 0,6 Q; th: 120 sec; Vast: 45V
- _ — — — — 139
— . — — —_ — (G); *eff; PIV: 850V; Ia pk: 45A; Vah: 100V; Iah: 25 mA; 140
Vdr: 15 V; th: 120 sec; Va st: 45V
_ _ — — — = 140
_ — — — — — (G); *eff; PIV: 850V; Ia pk: T0A; Rt: 04Q; Va st: 50 V; 139
Vah: 100 V; Iah: 25 mA; Vdr: 15 V; th: 120 sec
s — == - - - 139
== — — — — — (G); *eff; PIV: 850V; Ia pk: 70A; Va st: 50V; Vah: 100V; 140
Iah: 25 mA; Vdr: 15 V; th: 120 sec
_ _ — - — — 140
— — —, — - s (G); *eff; PIV: 850V, Ia pk: 135V; Va st: 50V; Vah: 100V; 139
Iah: 25 mA; Vdr: 15 V; Rt: 0,25 Q; th: 120 sec
_ - — — — 139
1000 — 11,5 15,2 1,2 15 max; Fm: 30 Mc; Ig: 250 mA —
— 3600 —_ — s — tgr, osc, (C); Ig: 85 mA; (Win)HF: 100 W
— — — — — - (G); *eff; PIV: 850V; Ia pk: 135A; Va st: 50 V; Vah: 100 V; 140
Iah: 25 mA; Vdr: 15 V; th: 120 sec
— — —_ == — — 140
— — — — — == # eff 11/46
— - — — — — *eff, Rt: 50 Q 11 46/51
— — —_ — — — * eff 35/48
— — — — — — (G); *eff; PIV: 850V; Ia pk: 135A; Va st: 50V; Vah: 100V; 140
Iah: 25 mA; Vdr: 15 V; th: 120 sec
— - — — — — 140
15 25 7 4 3 — mod, pp(B); Ia(m): 110 mA; (Win)LF: 256 W 1
—_ 13 — — — — tgr, osc, (C); Ig: 15 mA; (Win)HF: 33 W
— — 0,007 4,6 6,5 — HF; MF; LF; spec; Vgl co: —TV 96
20 —_ 9 8,5 3 45 max; Ig: 25 mA 1
— 27 — — — — tgr, ose, (C); Ig: 20 mA; (Win)HF: 3 W
— — 1 7 7 — LF; spec 19
6 5 12 8,6 13 20 osc; Igl: 1,56 mA; (Win)HF: 0,1 W 13
3,2 — = — — WOoLF'; spec i
1.5 = 0,001 17,5 11 — (A); Vg3: —3/—15V; Vi-k: 90 V; Wg2+4: 1 W 22
10 — 0,26 6,5 13,5 45 max; Igl: 5 mA; Fm: 90 Mc 106
_ 6 — — = = tph, (C), M/a+g2; Rg2: 7,56 kQ; (Win)HF: 0,16 W
— 9 — — — — tgr, osc, (C); Igl: 3,5 mA; (Win)HF: 0,22 W
25 — 0,4 10 12 80 max; ICAS; Igl: 5 mA; Fm: 120 Mc 51
50 - - i s WoLF, pp(AB1); Ia(m): 160 mA; *Ig2(m); d: 2,56 %
— 24,5 — — - — tph, (C), M/a+g2; Rg2: 18 KQ; (Win)HF: 0,12 W
— 31 — — — — tgr, osc, (C); Igl: 2 mA; (Win)HF: 0,15 W
— — — — _— — PIV: 5,5 kV; Ia pk: 800 mA; Vdr: 75V 17
15 — 0,29 9,6 12,6 45 max; CCS; Fm: 90 Mc; Igl: 5 mA; Vg3: 0V 91
— 3 — — — - WOoLF, (A)
— 17,5 — —_ — — WoLF, pp(AB1); Ia(m): 80 mA; Ig2(m): 10 mA
— 36 e _— — — WoLF, pp(AB2); Ia(m): 150 mA; Ig2(m): 11,5 mA
— 13 — — — — tph, (C), M/a+g2; Rg2: 5kQ; (Win)HF: 0,18 W
—_ 19,5 — — S — tgr, osc, (C); Igl: 5 mA; (Win)HF: 0,36 W

201




TYPE

1620
1621
1622

1623

1641/ (RK)60 Raytheon

1642
1644
1651

1652
1654
1701

1702

1708
1709
1710

1710/01

1775A
1729

1729/01

E * Vi If Va Vgl Vg2
v A v —V Vv
USA 5 6,3 0,3 250 3 100
Westinghouse 5 6,3 0,7 300 30 300
Westinghouse 4B 6,3 0,9 300 20 250
USA 3z 6,2 2.5 1060 200 —
1000 49 —
1060 50 —
750 125 —
16CO 90 —
RCA;: GE 4BZ 2,5 2 630 200 300
600 25 300
500 50 275
€00 60 300
USA 4BZ 12,6 045 TE) 200 300
400 45 —
S0 32 300
750 35 300
600 90 275
750 45 250
USA 3Z 12,6 025 280 170 -
RCA 3Z 5 9 2500 500 —
2250 60 —
2250 170 —
2006 350 —
2500 180 —
RCA 3Z 3.5 3,25 1000 65 —
INT 1 126 0,15 250 08 —
200 0/6,5 —
RCA 4B 12,6 0,45 250 14 250
270 270
360 — 270
360 22,5 270
RCA 48 12,6 0,6 110 0.8 110
RCA 343 25 0,15 230 8 —
RCA 3+-3 126 0,15 250 2 =
RCA; Westingh. 343 6,3 0,6 300 O —
GE 2R+2R 5 3 750% — —
2R+2R 5 3 — = —
USA 3+3 6.3 0,3 250 16,5 —
RCA 5-+5 12,6 0,15 180 9 180
RCA 2R 11 1475 — — —
RCA 3% 14,5 52 7500 1500 —
USA 2R 14 0,95 1500% — —
Philips 2R+2R 1,8 2,8 340 — —
Philips 2R+2R 1.8 3 24* — —
Philips 214+2R 1,85 g 43% — —
Philips 2R+2R 18 8 23* — —
Philips 2R+2R 19 8 150% — -
Philips 2R+2R (= I710) = o -
Philips 2R+2ZR 1,9 3.5 150% — -
Philips 2R+2R 1,9 8 95% — —
Philips 2R+2R (= 1729) — - -

100
100

90
42
75
90

100
60
52
60
1C0
100

25
300
70
100
250
300
50
0,24
0,19

Ig2 S Ri Ra Rk
(Sc) w (Ra-a)

mA mA'mV kQ  kQ Q)
0,5 1,225 — M — —
6.5 — — — 4 —
4 — — — 4 —
= — 20 i =

e — - a— 12 =
— — e — — 750
- 4 _ — . =
5 — - e .5 =
9 s _ = — -
10 — — 570
— 6 — - — P
— — — . 3 =
5 — — — 6,95 —
3 — — - — =
6,5 — — — —
6 — — — — 410
— — 5 — — 3200
— - 36 - _ =
— — — — 116 —
— — — — — 500
—_— - 23 - — =
— — — — 1M —
—_— _ — - 1M —
5 6 — 2,5 2,5 —
11 — — — 5 125
5 — — — 9 250
5 — — — 3.8 —
4 9 — 13 2 —
— 2,6 18 6.9 — —
— 1,325 170 53 — —
= == — . 12 —
— 1,375 104 17,6 — —
2,8 2,15 — 160 10 —
s — 14 - e e
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1620-1729

Wa Wo Cagl Cin Co F i {

nax ADDENDA T

w w pF pF pF Mc !i]]‘}]

— — 0,005 7 12 — LF; spec; Vgl co: —TV 56

9% 5 02 75 115 — WOLF, pp(A); Ia(m): 69 mA; Ig2(m): 13 mA; *1 pent; spec 108

13,8 10 0,4 10 12 — WoLF, pp(A); Ia(m): 125 mA; Ig2(m): 10,6 mA; *1 tetro; spec 51

30 = 6,7 5.7 0,9 60 max; ICAS; Ig: 25 mA 20

_— 145 = =25 —_ — med, pp(B); Ia(m): 200 mA; (Win)LF: 42 W

.= 16 s o A - tph, (B); Ig: 0,5 mA; (Win)HF: 1,7 W

- 55 gy e i — tph, (C), M/a; Ig: 20 mA; (Win)HF: 4 W

— 75 = s - e tgr, osc, (C); Ig: 20 mA; (Win)HF: 3,1 W

16,5 — 0,25 11 7.5 60 max; Igl: 5 mA 92

_ 72 - s == == mcd, pp(AB2); Ia(m): 180 mA; Ig2: 15 mA

= 24 s — = o teh, (C), M/a+g2; Rg2: 15 kQ; (Win)HF: 0,25 W

— 35 — = o = ter, osc, (C); Igl: 5 mA; (Win)HF: 0,43 W

30 — 0,2 i1 7 60 max; ICAS; Fm: 125 Mc; uglg2: 8; Igl: 5 mA 93

— 15 — e = - WoLF; trio; pp(AB1); Ia(m): 140 mA

_— 120 == _— = — WCcLF, pp(AB2); Ia(m): 240 mA; Ig2(m): 10 mA

— 15 - - - = tph, (B) ; (Win) HF : 0,12 W

— 425 e S _— o teh, (C), M/a+g2; Rg2: 50 kQ; (Win)HF: 04 W

p— 50 s e e = tgr, osc, (C); Igl: 3,5 mA; (Win)HF: 02 W

5 4 44 3,2 3.4 30 csc; Fm: 90 Mc; Ig: 5 mA; (Win)HF: 05W 66

175 — 48 8,7 12 30 max; ICAS; Ig: 75 mA 29

- 725 = — — — mcd, pp(B); Ia(m): 450 mA; (Win)LF: 13 W

— 75 - - - o tph, (B); Ig: 2 mA; )Win)HF: 4 W

— 380 = = — — tph, (C), M/a; Ig: 70 mA; (Win)HF: 35 W

= 575 . — — — tgr, osc, (C); Ig: 60 mA; (Win)HF: 19 W

40 35 2 2 0,4 — tgr, (C); Ig: 15 mA; (Win)HF: 1,TW —

_ _ = — — = Vt: 250 V; It: 4 mA 7

_ _— = = = == Vit: 200V; It: 3 mA

17 6,5 0,4 10 12 — WCcLF, (A) 51

— 18,5 — — — — WCcLF, pp(Al); Ia(m): 145 mA; Igl(m): 17 mA

_— 24,5 — — — — WoLF, pp(ABD); Ia(m): 100 mA; Ig2(m): 17 mA

- 47 — — — — WCLF, pp(AB2); Ia(m): 205 mA; Ig2(m): 16 mA

58 21 0,3 16 135 — WoLF; spec; d: 10 % 51

2,5 — 3,6 2,9 1 — 1 trio; spec; (A) 24

—_ — 2 2.2 3 — 1 trio; spec; (A) 107
10,4 — — — — WoLF, pp(B); Ia(m): 54 mA; *1 trio; Vin pk: 108 V 100

=== — — — — — *eff; PIV: 2120V, Vdr: 61V 89

. - - _— A= m— PIV: 45 kV; Ia pk: 150 mA; Vdr: 60V 89

o — — — — — PIV: 2,5 kV; Ia pk: 330 mA; Vdr: 60V

- _— == — — — 1 trio; (A) 19

2,5 i 0,7 5 6 —_ 1 pent; spec; WoLF, (A) 140

— — — — — — PIV: 11 kV; Ia pk: 750 mA 122

5k 6k 27 18 — tgr, (C); (w) 135

_ — - _— 14 . #eff ; PIV: 43 kV; Ia pk: 6mA; Rt: 150 Q 141

— — = _— — — (G: Hg); *eff;, PIV: 960V, Ia pk: 1A; Rt: 450 Q; Va st: 50V; 46-142

Vdr: 18V

_ _ - - - — (G: Hg); *eff 46

— == — — = - (G: Hg); *eff; PIV: 100V; Ia pk: 18A; Rt: 1Q; Va st: 11V 42

—_— - = — - — (G: Hg); *eff; PIV: 48V; Ia pk: 18A; Rt: 1Q; Va st: 11V 42

(G); *eff; PIV: 470V; Ia pk: 9A; Rt: 25Q; Va st: 22V; Vdr: 10V; 143
th: 30 sec

(G); *eff; PIV: 470V; Ia pk: 4A; Rt: 5Q; Va st: 22V; Vdr: 10V; 142
th: 15 sec
(G); #*eff; PIV: 300V, Ia pk: 18A; Rt: 04 Q; Va st: 30V; Vvdr: 10V; 144
th: 120 sec




vf If Va Vgl
TYPE \k
v A v —V

1738 Philips; Tesla 2R+2R 19 18 95% —
1739 Philips 2R+2R 1,8 18 100% —
1749 Philips 2R+2R 1.9 30 (= 1749£)
1749A Philips; Tesla 2R+2R 1,9 25 95%  —
1759 Philips 2R-+2R 1,9 60 95%  —
1766 Philips 2R+-2R+2R 1,9 1 127 —
1768 Philips 2R+2R 1,9 11 285% —
1788 Philips 2R+2R 1,9 11 95° —
1789 Philips 2R+2R 1.8 11 160* —
1881 Philips 2R+2R 4 1 250% —
1802 Philics 2R 4 0,6 250% —
1803 Philips 2R 4 0,6 500 —
1805 Philips 2R+2R 4 1 500% —

300% —
1810 Philips 2R 4 0,3 250% —
1815 Philips 2R+2R 4 2,3 500% —
1817 Philips 2R+2R 4 4 350% —
1819 Philips 2R+2R 192 1,5 - —
1823 Philips 2R+2R 4 i 300% —
1823 EUR 5 20 0,18 200 18
1829 Philips 2R+2R 192 85 — —
1831 Philips 2R+2R 4 1 700% —
1832 Philips 2R 1,3 700% —
1838 Philips 2R+2R 1,9 21,56 116* -
1849 Philips 2R+ 2R 1,9 29 115% —
1851 USA 5 6,3 0,45 300 —

300 —
1851GT Fivre 5 6,3 045 300 —
1853 INT a 6,3 045 300 2
1853GT Fivre 5 (= 1853) — —
1859 Philips 2R+2R 1.9 60 115% —
1861 Philips 2R +2R 4 2,4 500% —
1867 Philips 2R+2R 4 2.4 350% —
18683 Philips 2R+2R 4 2 250% —
1875 Philips 2R 4 2,3 5000% —
1876 Philips 2R 4 0,3 850% —
1877 Philips 2R 4 0,65 5000* —
1878 Philips 2R 4 0,7 10,5k* —
1881 Philips ZR+2R 4 1,2 250% —
188IA Philips 2R+2R 4 2.4 —
1882 Philips 2R+2R 5 2 —
1883 Philips 2R+4-2R 5 1,6 350% —
1884 Philips 2R-+2R 2:5 1 350% —
1384 EUR b 20 0,18 200 2
1888 Philips 2R+2R 192 11,6 116% —
1894 EUR 5 20 0,18 200 235

Vg2 1Ia
V mA
- 75A
— 15A

— 12,5A
- 25A
— 6A
— 3A
- 5A
— 10A
— 30
— 30
- 30
— 60
— 100
— 189
— 300
— 3A
— 75
200 20
— 6A
— 60
— 120
— 7,5A
— 12,5A
150 10
300% 10
150 10
200 125
== 25A
— 100
— 120
— 120
— 5

— )

— 3

— 2

— 60
— 60
— 125
— 125
— 40
100 3
— 10A
100 4

Ig2 S Ri Ra Rk
(Se) u (Ra-a)
mA mA/mvV k¢ kQ Q
8 17 = — 10 850
2.5 9 — 1M — 160
2, 9 — 1M — 160
2,5 9 — 70 — —
8 — 700 — —
1,1 2,2 — -— — 500
1.8 1,2 — — — 350
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1738-1894

wa

Wo Cagl Cin Co F

{

nax ADDENDA %
w w pF pF pF Mc 1
= = - o = = (G); *eff; PIV: 300V; Ia pk: 45A; Rt: 0,2Q; Va st: 20V; Vdr: 9V; 144
th: 120 sec
s - e = == — (@ Hg); *eéff —
— . e == e e 145
o — — — — - (G); *eff; PIV: 300V; Ia pk: 75 A; Rt: 0,1Q; Va st: 22V; Vdr: 10V; 143
th: 120 sse
— . = == — . (G); *eff; PIV: 300V; Ia pk: i50A; Rt: 0,05Q; Va st: 22V; 145
Vdr: 10V; th: 120 sec
e _ _— s - — (G); *eff, PIV: 360V; Ia pk: 19A; Va st: 30V —
— _ e - —_— — (G); *eff; PIV: 880V, Ia pk: 10A; Vdr: 15V; th: 60 sec 113
- = - — = = (G); *eff; PIV: 300V; Ia pk: 30A; Rt: 03Q; Va st: 22V; 144
Vdr: 9V; th: 120 sec
_ _ _ s i — (G: Hg); *eff =
_ o - - _— — * eff 46
- g _— e — — * eff 48
e s _— - - — * eff 48
= e — _— — — * eff 46
- — - — — — i —
= — o _— — — * eff —
= — — - == — * eff 46
o — — — = e #eff 46
— _ _ — - = (G); PIV: 425V; Ia pk: 9A; Rt: 15Q; Va st: 22V; Vvdr: 12V; 146
th: 120 sec
= s o - — il i 48
— 1% — — — — WoLF, (A); (= 2318) —
e s - o e - (G); PIV: 325'V; Ia pk: 18A; Rt: 067Q; Va st: 40V; Vvdr: 12 V; 145
th: 120 sec
_ o — _— - — * off 46
= — - — — *eff; Rt: 200Q 48
_ — — e o - (G); *eff; PIV: 360V, Ia pk: 45A; Rt: 0,25Q; Va st: 22V: 146
Vdr: 10 V; th: 120 sec; Vah: 40 V; Iah: 10 mA
— e — — == s (G); *eff; PIV: 360V; Ia pk: 75A; Rt: 02Q: Va st: 22V; 149
Vdr: 16 V; th: 120 sec; Vah: 40 V; I2h: 10 mA
2.02 — 0,02 11,5 5,2 — HF; MF 56
_ _ _ — — e *Vhb; Rg2: 60 kQ
_ e 0,015 — = = HF; MF 110
proet o 0,015 — — — HF; MF; vu 73
— o — — — — 110
e = o — — —_ (G); *eff; PIV: 380V; Ia pk: 150A; Rt: 0,1Q; Va st: 28V, 149
Vdr: 12 V; th: 120 sec; Vah: 40 V; Iah: 10 mA
A — o= - - — * eff —
— _ — = = S L0 59/103
- = — — = — *eff 147
__ _ _ — s — *eff; PIV: 14 kKV; Rt: 10 kQ 30
- o _ _ _ — *eff; PIV: 35 kKV 148
_ - _ — — — “eff; PIV: 15 kV; Rt: 20 kQ 145
- . - - - = # eff 25
- - s s o — *eff —
- - = — — — * eff 103
s - - ssnss — — * eff 51
- — - - — = * eff 150
e e o - - . # eff 55
- — — = == S (A); (= 2518) A
= - — — — = (G: Hg); PIV: 225V; *eff; Ia pk: 30A; Rt: 04Q; Va st: 28V; 145
Vdr: 12 V; th: 60 sec
N o — = = — HF,; MF; (= 2618) =
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Vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk

TYPE I S (Sc) w (Ra-a)
A% A v -V V mA mA mA/mV kQ kQ Q)
2000T Eimac 3Z 10 23,5 8000 — — 1750 — 11 23 2,1 — =
7000 280 — 300 — — — = 9,2 —
6000 800 — 1130 — — — — —
7000 600 == 1150 — — — — — —
“054A Gammatron 3Z 10 22 3000 — — 800 — - 10 — — —
2101 Cossor 5 2 0,12 135 45 135 8 2,6 1% 340 200 16 —
2102 Ccssor 3+242 2 0,12 100 0 — 2,5 — 153 30 23 — —
2103 Cossor 5-+5 2 0,26 150 10,5 150 4% = 1,6 — — 35 —
2151 Cossor; Brimar 5 14 0,3 250 31 250 47 11,6 24 120 50 4 500
2318 EUR 5 (= 1823) — — — — — — — — —
2504 Philips 2R 1 0,08 13* — — 1 — — — — — —
2506 Philips 2R+2R 4 1 300% — = 40 = = - — — _
2518 EUR 5 (= 1884) — — — — — — — — — —
2618 EUR 5 (= 1894) — — = = — — — — — —
27169 Philips 2R+2R 2.2 4 1000* — — 75 — — — — — —
3006 Philips 2 4 0,08 40%* — — 1 — — — — — —
3009B LCT 3Z 20 61 17,5k — — 2A — 6,7 60 — — —
15k 800 — 2A — — — — — —
3016B LCT 3Z 14 18 4000 — — 800 —_ 2.2 17 —_ — —
4000 400 — 213 — — == — — —
3017A LCT 2R 1,7 5 — — — — — — — — — —
301"B LCT 2R 2,5 7,5 — — — 500 — — — — — —
3030A LCT 3z 21 215 16k — — 5A — 16,5 36 — — —
3030B LCT 3Z 25 240 16k — — 5A — 20 36 — e —
3033A CcT 3Z 6 1,4 600 — — 170 — 9 15 — — —
€00 60 — 90 — — — — — —
3036DG LCT 3Z 25 44 —200 +350 — — — — — — — —
2036DIX LCT 3Z 2:5 44 —200 +350 — — — — — — — —
2052A LCT 5Z 1.5 3 1500 — 300 100 = 4,25 — — — —
1250 175 300 80 — == — — — —
3053A LCT 3Z 19,5 67 11k — — 2A — 5,5 6,5 == — —
11k 1700 — 3,2A%  — — — = — —
3054 Gammatron 3Z 14 45 5000 — — 2A — — 19 2 — —
5000 205 — 250 — — _ = 5,4 —
5000 230 — 470 — — — = = —
3000 600 — 1430 — — — — — —
5000 1140 — 2A — — — = — —
3064A LCT 2R 5 6,75 — — — 1,25 — — — — — —
3067A LCT 3Z 30 600 17,5k — — 20A — 59 44 — —_ —
17,5k 1000 — 20A — — — o — —
30657B LCT 3Z 30 600 17,5k — — 20A — 59 44 — — —
17,5k 1000 — 20A — — — — — —
3069A LCT 5Z 10 54 2000 — 400 250 — 5 == — = —
2000 50 400 150 — — — == — —
3069B LCT 5Z (= 3069A) — == = e — = e — —_ ==
3072A LCT 2R 5 10 — — — 1,25 — — — — — —
3073A LCT 3Z 10 55 7500 — — 800 — 2.3 4) — — —
7500 250 — 800 — — — == — —
3074A LCT 3Z-+3Z 6,3 0,8 300 — — 50 - 3 14 — — —
300 60 — 40 — — — — = —
3075A LCT 2R 2 1,2 — — — 3 — == e — — —
3077A LCT 2R 5 10 — —_ — 1,25A — — — —_ - _—
3078A LCT 2R 5 20 — — — 2,5A — — — — — —
3079A LCT 2R, 5 40 — — = 7,5A — — — — — —
3080A LCT 2R 5 100 — — — 20A — — — == == —
3081A LCT 3Z 20 59 17,5k — 2A — 5,5 33 — — —
17,5k 1250 — 1570 — — — — = —




2000-3081

Wa Wo Cagl Cin Co F H
max ADDENDA %
w w pF pF pF Mc

2000 — 8,5 12,7 1.7 40 max; (fa); Wg: 150 W 33
— 8600 — - — — mod, pp(AB2); Ia(m): 1,8 A; (Win)LF: 175 W

—_ 5400 — — — — tph, (C), M/a; Ig: 170 mA; (Win)HF: 225 W

— 6000 — — — — tgr, (C); Ig: 120 mA; (Win)HF: 115 W

1200 2000 — — — — Igl: 200 mA —
— 0,45 — — — — WoLF, (A) 13
= — — — — — det+LF g
= — — - — — WcLF; *Vgl: 0V; pp 171
— 5 — — — - WoLF, (A) 39
— == — — — — * eff —
— = — - = = * eff 46
— = — — = = *eff 183
— — — — — — det; *eff 48
2Ck — — 41 26 3 max -
— 20k — — — — tgr, (C); (Win)HF: 1 kW; (w)

409 — — 20 12,5 6 max; Fm: 50 Mc -
— 650 — — — — tgr, (C); (Win)HF: 15 W

- e A _— —_ = (G: Hg); PIV: 7 kV; Ia pk: 600 mA 23
— - — = == — (G: Hg); PIV: 7 kV; Ia pki 1,56 A; THg: 25/65"€¢ 23
80k — — — —_ 2 max _
80k _-— — —_ — 2 max —
25 — — 15,5 9,5 2 max 189
— 40 — — — tgr, (C); (Win)HF: 2,6 W

— — — — — 2300 max; Fm: 3000 Mc; spec UHF osc —
— — — — — 1900 max; Fm: 2300 Mc; spec UHF osc —
60 — — 14,5 10.8 10 max; Fm: 30 Mec; nglg2: 10 43
— 72 — — — — tgr, (C); (Win)HF: 09 W

12k — — 70 43 — max; mod —
= 10k == - — — mod, pp(B); *Ia(m); (W)

1500 — 131 23 2 15 max; Fm: 30 Mc; Ig: 500 mA —
— 7150 — - — — med, pp(B); Ia(m): 1910 mA; (Win)LF: 140 W

— 860 - — - —_ tph, (B); (Win)HF: 80 W

— 3025 — — — — tph, (C), M/a; Ig: 180 mA; (Win)HF: 195 W

— 7500 — — — — ter, osc, (C); Ig: 220 mA; (Win)HF: 440 W

- — — e - - (G: Hg); PIV: 10 kV; Ia pk: 5A 23
160k — —_ 200 127 2 max; Fm: 23 Mc; (w) —
— 240k —_ — — — tgr, (C); (Win)HF: 12 kW

160k — — 200 127 15 max; Fm: 50 Mc; (w) —
— 240k — — — e tgr, (C); (Win)HF: 12 kW

100 — — 155 11 10 max; Fm: 28 Mc; uglg2: 10 43
= 200 — — — - tgr, (C); (Win)HF: 2 W

— — — — — 20 Fm: 50 Mc 43
— — — — — — (G: Hg); PIV: i6 kV; Ia pk: 5 A 23
2500 — — 16 10,5 20 max; Fm: 50 Mc; (w) 135
— 4000 — — —_ == tgr, (C); (Win)HF: 300 W

5 — — 7.5 4,2 — 1 trio; max 29
— 8 — — —_— — 1 tric; tgr, (C); (Win)HF: 11 W

S s m—— —_— — e PIV: 15 kV; Ia pk: 10 mA 34
— = = = = (G: Hg); PIV: 16 kV; Ia pk: 5A; THg: 25/65°C 23
== — — — - = (G: Hg); PIV: 20 kV; Ia pk: 10 A; THg: 25/65°C 122
s = = - — — (G: Hg); PIV: 20 kV; Ia pk: 20 A; THg: 25/60°C; (= DCG9/20) 269
— — —_ — — — (G: Hg); PIV: 16 kV; Ia pk: 50 A; THg: 25/60"C —
20k — — 37 22 53 max; Fm: 50 Mc: (w) s
— 21k — — — — tgr, (V); (Win)HF: 1 kW
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COMPLETE YOUR
DOCUMENTATION

with

COMPLETEZ VOTRE
DOCUMENTATION

avec

Brans VADE-MECUM

WORLD’S RADIO TUBES

Gives the characteristics of all reception and emission
tubes in an easy to consult chart

*

Contient les caractéristiques de tous les tubes de ré-
ception et d’émission dans un tableau, facile a consulter

Television & Special Tubes

Gives the characteristics off all cathode ray tubes and
special tubes for all applications, in easy to consult
charts.

*

Contient les caractéristiques de tous les tubes cathodi-
ques et des tubes spéciaux pour toutes applications
sous forme de tableaux faciles a consulter.




Television

AM and FM broadcasting
Radar
Radiocommunication
Mobile radio

Radio relay

Industrial heating
Tropospheric scattering

R.F. POWER TUBES

FOR EACH AND EVERY
PURPOSE

The Philips range of R.F. power tubes
comprises over two hundred types.
Whichever power and frequency you need,
you're sure to find the right tube in

the vast Philips assortment.

PHILIPS

NUCLEUS OF INDUSTRIAL ELECTRONICS

=

XIII

ref. : TT-6/63




THE CHOICE OF BROADCASTERS EVERYWHERE. ..

RCA BROADCAST TUBES FOR LOM

X1V



LIFE,

OPTIMUM PERFORMANCE

Whether you concern yourself only with audio, or with audio-visual applications,
there’s an RCA Power T'ube or Imaging device for every broadcast need. RCA-
devised techniques developed for space-age applications are being employed to
advantage in all RCA Tubes to optimize their usefulness in broadcasting.

SMALL POWER TUBES. Shown is RCA-6146, a typical example of an RCA Beam
Power Tube. Tt is part of a line of small power tubes for design and replacement
in transmitter applications for CW, AM, or SSB. The RCA line, including both
glass and ceramic-metal types, offers a wide choice of input and output ratings

for use over a wide frequency range. Other popular small power tube types are:
RCA-807, -813, and 866A.

LARGE POWER TUBES. Shown is RCA-6166A/7007. Continuing search for tube
betterment has increased the life expectancy and improved the performance of
RCA-6166A/7007, an example of design and performance available in a wide
choice of broadcast tubes for audio and video service at VHF and UHF.

INDUSTRIAL RECEIVING TUBES. Shown is the RCA-6080. Numerous designs
offering operating efficiency, high reliability, compactness, and long life are avail-
able for new designs or direct replacement.

IMAGE ORTHICONS. Shown is the RCA-5820A, typical of the RCA Image Or-
thicon line whose performance rivals that of any on the market today. For color
and black-and-white pickup—studio or outdoor—you can always be sure of im-
proved background uniformity, higher signal output levels, higher signal to noise
ratio, reduced microphonics, and improved sensitivity. Other popular types:
RCA-7293A and -7295A.

VIDICONS. Shown is RCA-7735A. RCA has vidicons for every TV application.
In the industry’s broadest line of types, you can find a size, sensitivity, and range
of electrical characteristics to meet color and black-and-white TV pickup require-
ments exactly. Custom types, too.

MAGNETIC RECORDING TAPE.You get Red Seal quality sound in RCA’s scien-
tifically-processed magnetic tape, available in lengths and thicknesses and base
materials to suit your professional recording needs. Available for home use as well.

Additional information on these products is available through your local RCA
Distributor. For technical bulletins on Power Tubes, Vidicons and Orthicons,
write to: Advertising Department, RCA International Division, Section 200,
Clark, New Jersey, U.S.A.

The Most Trusted Name in Electronics

Trademark(s) @Registered
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NO SHIELD

Direct Visionis, in fact, an entirely new conceptin picture
tube design. It is a practical application of the principle
of integral protection, the outcome of years of original
research.

Direct Vision eliminates the need for any protective
shield so that a constantly brighter and sharper picture
is obtained. This is due to freedom from multiple reflec-
tions which spoil contrast, and freedom from inaccessible
dust on the tube face.

Because of its special construction the tube can be
handled with complete confidence.

The integral mounting lugs, another outstanding feature
of the tube, offer great simplification both in the manu-
facture and servicing of television receivers. More than
this Direct Vision opens up new possibilities in set styling.
Its favourable weight distribution ensures utmost set-
stability, which is of special importance with a view to
advanced designs.

the most advanced picture tube in the world




De

RADIO-REVUE

TV & ELEKTRONIKA

Het opvoedend en informatie-tijdschrift bij uitstek.

Publiceert regelmatig een . TV-Service” en ,Bandspeler-Service”
rubriek, met schema en technische beschrijving, bouwbeschrijvingen
van meet-, kontrole- en andere apparaten,

Geeft uitvoerige details over nieuwigheden in de industric der
elektronika en publiceert doorlopend schema’s die zowel de amateur
als de beroepstechnikus kunnen interesseren.

Voor de prijs per nummer en van het abonnement wende men zich tot

DE RADIO-REVUE
Prins Leopoldstraat 28, Borgerhout - Antwerpen.
(Belgié)

La
RADIO-REVUE

TV & ELECTRONIQUE

La revue technique éducative et dinformation par excellence sur
tout ce qui se rapporte a I'électronique.

Contient réguliérement une rubrique , TV-Service” et ,Service-En-
registreurs”, avec schéma et description technique, ainsi que des
descriptions en vue de la construction d’appareils de controle et
autres.

Signale en détail les nouveautés de I'industrie électronique et publie
couramment des schémas pouvant intéresser aussi bien I'amateur
que le professionnel.

Pour le prix par numéro ou de l’abonnement, adressez-vous a

LA RADIO-REVUE

Prins Leopoldstraat 28, BORGERHOUT-Anvers.
(Belgique)




E Vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE * (Se) w (Ra-a)

A% A v -V V mA mA mA’'mvV kQ kQ Q)
3084A LCT 3z 10,6 123* 17,5k — — 3A — 7.5 25 — — —
17,5k 1600 — 2700 — — — — —_ -—
3085A LCT 3z 10,5 210 (= 3084A) — — — — — — — —
3086A LCT 3Z 12 61 12,5k — — 2A — 59 30 — — s
3087A LCT T3z 20 59 17,5k — — 2A — 54 26 — — —
17,5k 1250 — 1500 — — == — — =2
3089A LCT 3z 1156 24 3000 — — 200 — 3.3 1156 — — s
3090A LCT 3z 10 49 2000 — — 240 — 5 30 — — —
2000 140 — 200 — — — — —
3270A LCT 3Z 10 9,75 3000 — — 315 — 7.5 16,5 — — —
3000 255 — 350 — — — — —
3304B LCT 3Z 7.5 3,25 1250 — — 100 — 2,4 11,5 — — —
1250 190 — 106 — — — — — —
3305A LCT 4Z 10 3,1 1000 — 200 125 — 1,4 — — — —
1000 230 200 125 — — — — — —
3307A LCT 57 5,5 1 500 — 250 60 — 4.2 — — — —
500 20 250 60 — — — — — =
3310A LCT 5 10 0,32 250 — 135 54 — 1,9 — — — —
3311A LCT 5 10 0,64 180 — 135 31 — 2,9 -— — — —
3328A LCT 5 7,5 0,42 250 — 135 54 — 1,9 — — — —
3329A LCT 5 7,5 0,84 180 — 135 31 — 2,9 — — — —
3805A LCT 5Z 10 16 3000 — 850 900 — ) — — — —
3000 130 800 700 — -— — — — =
3814A LCT 3Z 10,5 55 7500 — — — — 2,3 40 — — —
3815A LCT 3z 20 59 17,5k — — 2A — 5,5 33 — — —
15k 600 — 2A — — — — — —
3816A LCT 3Z 115 24 - — — — — 3,3 11,5 — — —
3818A LCT 3z 10 215 17,5k — — 3A — sl 37 — — e
15k 500 — 3A — — — — — —
3832A LCT 3Z 20 59 17,5k — - 2A — 47 12 — — —
15k 1100 — 3A* — — — — — —
3848A LCT 5Z 7,5 32 2000 — 850 1,3A —_ 17 — — — —
2000 120 800 1120 — — — — — —

3850A LCT 2 2,2 072 — — — — — — — — —
3852A LCT 3Z 6,3 1,1 1000 — — 50 — 17 100 — — —
3857A LCT 47 7,5 30 4000 — 850 — — 10 — — — .
3861A LCT 4z 7,5 4 1000 — 300 — — 10 — — — —
3861B LCT 4Z 6 2,6 1250 250 300 250 — 12 — — — —
3874A LCT 4BZ 10 5 2500 300 1100 225 — 3,75 — — — —
3875A LCT 5Z 10 10,8 2000 — 400 500 — 9 — — — —
2000 50 400 300 — = — — — —
3879A LCT 5Z 10 20 3000 — 900 1250 — 14 — — — —
3000 — 900 600 — - — — — -
3881A LCT 3z 6,3 0,9 500 — — 49 — 8 50 — — —
3890A LCT 47 5 22,5 2500 — 500 600 — 10 — — — —
2500 175 500 470 60 — — — — —
3891A LCT 5Z 9 29 6000 — 1500 2500 — 5,75 — — — —
4006A STC 3z 20 50 13k — — - — 40 75 — —
4907A STC 2R 20 50 — — — 15A — — — — —
4008B STC 2R 19 a9 — — — 1.5A -— — — — — —
4009B STC 3Z 20 61 15k — — — — 6,7 40 6 — —
4011B STC 3z 8 1,6 350 45 — 60 —_— — 42 165 2 —
350 60 — 30 — — — 21 —
4012A STC 37 19 3 100 — — — 3,9 37 — — —
4013C STC 3z 14 36 6000 — - — - 21 5.7 — —
4913D STC 3Z 20 41 5000 625 — 1,5A — — 21 4,2 — —
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3084-4013

Na Wo Cagl Cin Co F { !

1ax ADDENDA %

w w pF pF pF Mc

30k —_ — — — 5 ¥3 X 61A; max; Fm: 50 Mc; (W) _

= 35k — 64,5 13 — tgr, (C); (Win)HF': 2,1 kW

20k — — — — 5 max; (w) —

20k —_ — 38 21 5 max; Fm: 50 Mc; (w) —

— 20k — — — — tgr, (C); (Win)HF: 600 W

600 . — — — 30 max; (w) =

125 — - 17 9 50 max; Fm: 200 Mc -

= 300 — — — tgr, (C); (Win)HF: TW

350 — — 38 21 7.5 max; Fm: 22 Mc 138
700 - — — — tgr, (C); (Win)HF: 13 W

50 —_ — 45 3,2 100 max; Fm: 400 Mc 28

— 100 — — — — tgr, (C); (Win)HF': 64 W

60 = — 10,5 5,5 20 max; Fm: 50 Mc; nglg2: 2,6 85

— 90 — — — — tgr, (C)

15 — — 15 13 10 max; Fm: 50 Mc; uglg2: 6,3 43

— 20 — — — — tgr, (C)

1.5 — — 4 2.2 — LF; tel 96

6 — — 7.6 8,4 — WOoLF; tel 96

1,5 — — 4 2,2 — LF; tel 96

6 — — 7,6 8,4 — WoLF; tel 96

1000 — — 29 32,8 10 max; Fm: 28 mA; uglg2: 7,2 -

— 1400 — — — — tgr, (C); (Win)HF: 20 W

2500 — — — — 50 max; (fa) -

15k — — 37 22,4 5 max; (fa); Fm: 22 Mc _—

== 20k — — — — tgr, (C); (Win)HF: 1 kW

600 — — — — 30 max; (fa) -

30k —_ — 5l 33 5 max; (fa); Fm: 22 Mc —

= 30k — — — — tgr, (C); (Win)HF: 1,56 kW

20k — — 37 22 — max; mod; (W) —

— 15k == — — — mod, pp(B); * Ia(m)

960 — — 85 43 10 max; (fa); Fm: 23 Mc; uglg2: 7,5 —

— 1500 — — — — tgr, (C); (Win)HF: 15 W

— s e - s — UHF det —

100 —_ 2 6,5 0,04 500 Fm: 2000 Mc; max; (fa); (= 2C39A) —

2000 — 0,7 46 19 150 max; (fa); Fm: 300 Mc; Wg2: 80 W; (= TD21) —

150 — 0,025 17 6 300 max; (fa); Fm: 600 Mc; Wg2: 15 W S,

150 — 0,03 153 45 500 max; (fa); (= 4X150A) 31

185 — 0,25 16,3 14 30 max; Fm: 120 Mc; ICAS; (= 813) 88

200 — — 26 12,5 20 max; Fm: 50 Mc =

— 400 — — — — tgr, (C); (Win)HF: 3 W

1000 — — 50 30 20 max; Fm: 50 Mc -

— 1200 — - — tgr, (C)

12 — B 2,8 0,05 1500 max; (= 2C43) 23

500 — s — — 110 max; (= 4H/180E) 25

— 750 = 2 — - tgr, (C); Igl: 10 mA

3500 — 0,9 35 16 30 max; (= 5J/180E) 67

10k — 20,5 20 15 max; (w); Fm: 22 Mc =

10k — — — — PIV: 45 kKV; (w); Ia pk: TA —

10k — — — — — PIV: 45 kV; (w) oz

20k — 24 17 1,8 3 max; (w); Fm: 6 Mc =

— 2,1 9,5 45 4 — mod, (A) 35

— 60 — — — — mod, pp(B); Ia(m): 150 mA

65 — — — — — max 35

5k — 18 14 2 15 max; (w); Fm: 22 Mc —_—

5k 5k 21 16 2,5 — tgr, (C); (w) =




vt If Va Vgl Vg2 Ia ig2 S
TYPE * (Sc) n
v A v —V V mA mA mA/mV

4014A STC 3Z 2156 41 12k — — 15A — — 40
10k 850 — 15 — —_ =
4016B STC 3Z 14 18 4000 350 — 200 — 2,2 17
4017B STC 2R 27 8 — — — 500 —_ — —
4019A STC 3 4 025 190 14 — 9,7 — 1.3 7

4019AS STC = 4019A) — == — — = — =

3
4019B STC 3 (= 4019A) — — — — — — —
4019BS STC 3 (= 4019A) — — — —_ — — —
4020A STC 3 2 025 160 2 == 1,28 — 0,6 30
4020AS STC 3 (= 4020A) — — — — — == =
4020B STC 3 (= 4020A) — — — e — — —
4020BS STC 3 (= 4020A) — — - — — — —
4020C STC 3 = 4020A) — — — — — — —
4021A STC 3 4 0,25 160 10 — 32,5 — 3 6
4021A8 STC 3 (= 4021A) — — —_— — — — —
4021AT STC 3 (= 4021A) — — — — -— — —
4021B STC 3 (= 4021A) — — - — — — —
4021BS STC 3 (= 4021A) — — — — — — —
4021C STC 3 (= 4021A) — — = — — — ==
4022AR STC 3 4 025 190 6 — 16,2 — 2,2 12
4022B STC 3 (= 4022A) — — — S — — —_
4030A STC 3z 21 215 10k 475 — 9,6A — — 36
4030B STC 3z (= 4030C) — - — — — — —
4030C STC 3Z 25 250 17,5k — — 11A - 20 36
17,5k 700 == 96A - 20 36
4030D STC 3Z 25 250 176 — — 10A — 20 36
14k 400 — 400 — — —
17k 480 — 48A — — =
14k 1320 — 4250 — — =5
17k 1300 — 1870  — — =
4033A STC 3z 5 1,4 600 125 — 90 — 9 15
4033AA STC 3Z (= 4033A) — — — — - — —
4033AF STC 3Z (= 4033A) — — — — = — e
4033L STC 3Z 0 14 600 — = 170 — — 17
600 38 - 20 — — —
606 38 — 70 o -- =
480 175 — 85 — — —
600 65 — 125 e — =5
4037 Sylvania 3Z 6.3 0,14 360 100 —_ 25 — 6,5 56
250 12 — 23 = — =
250 2 — 25 = — =
300 90 — 18 — = =
300 70 — 17,3 — — —
4037A STC 2R 4 2 300% — - 250 = =
4CG43A STC 3z 75 1,2 600 — — — — — 8
4043B STC 3Z (= 4043A) — — — — — —_— —
4043C STC 3% (= 4043A) — — — — — —_ —
4943D STC 3Z (= 4043A) — — — — — —- —
4045A STC 4 5 1,6 250 70 65 45 — 1,45 52
4046A STC 5 1 250 — 100 — — 3 —
4047B STC 3z 19 a9 10k 625 = 1.5A — —_— —
4049C STC 2R 9,5 — — — 1,25A — — —
4049D STC 2R 4 i1 - — -— 125A 37 — —
4052A STC 57 7,5 3 1250 100 300 30 — — 6,5
4053A STC 3z 18 66,8 12k 1700 — 750 — — —
4056 A sSTC 3Z (= 4056B) — — — — — 2,2 12

o
-
8]



1014-14056

Na Wo Cagl Cin Co P \
12X ADDENDA %
w w pF pF pF Mc
12k —_ 23 8 6,5 15 max; (w); Fm: 22 Mc; Wg: 200W —
—_ 10k — — — — tgr, (C)
400 400 10 10 2,5 33 tgr, (C) —
= — — — — (G: Hg); th: 30 sec; PIV: 7 kV; Ia pk: 15A —
— 0,29 5 i 5 — (A); tel 1
— — — — — — 1
— — — — — = 2
== — e — — 2
—_ 0,45 6 6 4 — (A); tel 1
=3 = — = s s 1
— — — — — — 2
- —_ — — — - 2
— - _ — — . 147
— 0,25 9 8 5 —_ (A); tel; Va max: 190V i
= — — — — — 1
= — = - — — 1
_ - _ — — - 2
_— s — — — - 2
- — =S — i _— 147
— 0,16 10 8 4 — (A); tel 1
= _ _ _ — 2
80k 48k 51 40 14 22 gr, (C); (w) —
80k — 61 45 15 ) max; (w); Fm: 22 Mc; Wg: 1,5 kW —
— 100k — — —_ — tgr, (C)
80k — 61 45 15 2 max; (w); Fm: 22 Mc; Wg: 15 kW —
— 156k - — — mod, pp(B); (Vin LF pk: 3100 V; Ia(m): 13 A
—— 29 — — — — tph, (B); Vin HF pk: 840V
— 425k  — — = == tph, (C), M/a; Ig: 460 mA; Vin HF pk: 2200 V
— 98k == e = == tgr, (C); Ig: 1080 mA; Vin LF pk: 2800V
25 36 3 11,9 2,7 — ter, (C) —
— — — —_ — spec —
25 — 8 10 4 45 max; Ig: 30 mA 189
— 70 - — — — mod, pp(B); Ia(m): 180 mA; Ig: 40 mA
— 17 — — — — tph, (B); Vin HF pk: 40 V
30 — — — —_ tph, (C), M/a; Vin HF pk: 110 V; Ig: 23 mA
— 53 — — — — tgr, (C); Vin HF pk: 110 V; Ig: 30 mA
6,20 — 14 2,4 0,035 1700 max; Fm: 3000 Mc; spec; th: 10 sec; Ig: 8 mA; Vi-k: 90V 23
— 3 — — —_ 500 osc, (C); Ig: 6 mA
— 0,1 — — — 3000 osc, (C); Ig: 4 mA
_— 21 s e - a Fx3; 160/480 Mc; Ig: 6 mA; (Win): 2,1 W
— 2 — ey = — Fx2; 480/960 Mc; Ig. 7 mA; (Win): 2W
—_ — — — —_ — *eff; PIV: 10600 V; Ia pk: 750 mA 126
35 - — - e 2 max; Fm: 10 Mc —_
10 42 3,8 18 9,4 — WOoLF'; tel 81
— — — — — — max —
5k 10k — — — s tgr, (C); (w) —
— — — - — — (G: Hg); PIV: 10 kV; Ia pk: 5A —
s - — — - - (G: Hg); PIV: 20 kV; Ia pk: 5A; Vdr: 16 V; th: 300 sec; THg: 20/65°C 23
60 64 0,012 11 10 20 tgr, (C); Vg3: 0V; (Win)HF: 09W; (= (RK)20) 43
12k 4,5k 40,5 36,5 3,5 — mod, (A); (w) —

213




vf If Va Vgl Vg2 Ia Ig2 S Ri Ra
TYPE Y (Sc) 0 (Ra-a)

v A v —V V mA mA mA/'mvV kQ kQ
4056B sTC 3Z 6 1.9 1000 — - — = — — =
4056C STC 3z (= 4056B) — — — = — 5.4 26 43 —
4058B STC 3z 20 69 12k 1675 — 25A — — — — =
4059A STC 2R 12,5 6,3 _— — o = — 5,3 40 7,5 —
4060A STC 3Z 125 6,3 4000 400 — 81 — — — — =
4061A STC 5Z 6,3 0,8 500 90 200 55 35 — — — —
4062A STC 3z 12 1,85 2000 400 — 81 = 1 22 22k —
4064B STC 2R ) 7,25 — — — 125A — — — s =
4065A STC 2R 2,5 8 = = = 1 = == _— — _
4066A STC 5 4 2 250 6 250 29 — 10 600 60 39
4067A STC 3Z 27,5 600 17,6k — — — —_ 58 44 — —
4069A STC 5Z 10 5,4 2000 — 400 150 — 5,4 — — —

2000 100 400 85 65 — — — —
2000 100 400 150 55 — — = —
4070A STC 5 4 2,25 250 — 250 — — 12 — — —
4071A STC 5 4 2,25 250 — 250 — — 10 — — —
4074A STC 3Z+3Z 6,3 0,8 300 16 — 317 — — — — —
300 36 — 80 — — — — —
4075A STC 2R 2 1,2 6k* — — 3 — — — — —
4077A STC 2R 5 10 — — = 125A — — — — —
4078A CTC 2R 5 20 — — — 2,5A — —_— - — —
4079A CTC 2R 5 40 — — — 7,5A —- — — — —
4080A CTC 2R 5 100 — —_— — 20A —- — — — —
4081A CTC 3Z 20 59 17,5k — — — — 55 33 6 —
4091A CTC 3Z 10 3,25 1250 95 — 130 — 4 37 9,3 —
4097A CTC 3z 6 1,1 500 125 — 120 = 3,3 10 3 —
4212E CTC 3z 14 6,25 3000 — — 400 - — 16 1,9 —_
1750 80 — 155 — — — — 5,7
3000 180 — 20 — — — — 11,2
3000 190 — 145 — — — — —
2400 340 — 295 — — — — —
3000 290 — 395 — — — — —
4215A CTC 3 1 0,25 45 3 — 1 — — 6 25 —
4220C CTC 3Z 29 41 13k — —_ —_ — 5,4 40 7,5 =
4222B CTC 2R 22 41 — — — 1564 — — — — —
4228A CTC 3z 29 41 6000 — — 1,5A — — 18 2,2 —
5000 265 — 300 — — — — 8,4
5000 325 — 650 — — — — —
4000 500 — 125A — — — — =
600 750 — 1254 — — — — —
4242A CTC 3Z 10 3,25 1250 — — 150 — — 12,5 3,1 —
1000 85 — 5 — = — — 7,6
1000 85 — 120 — — — - —
1000 200 — 145 -— — — — —
1250 162 — 142 -— — — — —
4251A CTC 3Z 10 16 3000 525 — 600 — — 3.8 105 2,75
4257AX CTC 3z (= 4251A) — — — —_ - — — — —
4260A CTC 4BZ 10 3,25 3000 175 300 100 — — 200 17 —
4264A CTC 3 1,5 0,3 100 — — — — 0,54 6,3 12 —
4270A CTC 3z 10 9,75 3000 — —_— 375 — — 16 2,8 —
2500 130 — 120 — — — — 15
2500 140 — 120 — — — — 7.5
3000 186 — 175 — — — — —
2250 320 — 300 - — — — —
3000 270 — 375 — — — — —
4274A STC 2R-+2R 5 2 1000* — — 200 — — — — —
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4056-4274

— 800 — —

Va Wo Cagl Cin Co F !
1ax ADDENDA %
w w pF pF pF Mc
35 — — — — 15 max —
12k 20k — — — — tgr, (C) -
300 — — — — — PIV: 25 kV; Ia pk: 350 mA -
200 220 6 7 0,4 — tegr, (C) =
10 24 0,02 10 10 —_— tgr, (C); Vg3: +45V; (Win)HF: 08W; (= (RK)25) 143
75 110 13 6 53 — tgr, (C) —
— — = —_ — — (G: Hg); PIV: 10 kV; Ia pk: 5A —
= —_ — —_— —_— PIV: 20 kV o
— 2,75 1,6 17,5 10,3 — WoLF; tel —
160k — — — = — max; (w) _
100 — 0,1 18 13 20 max; Vg3: 50 V; Wg2: 35 W; Igl: 25 mA; (= 803) 43
— 60 — —_ — = tph, (C), M/g3; Vg3: —45V; Igl: 13 mA
— 210 — — — — tgr, (C); Vg3: +45V; Igl: 13 mA
= — . — — — max —
15 — — — — S max —
5 12 2,1 6 1,3 — mod, pp(B); (= 34 Raytheon) 22
—_ 14 —_ — e 120 ter, pp(C); Ig: 18 mA; Fm: 200 Mc
— == S — — e PIV: 15 kKV; Ia pk: 10 mA; *eff —
- — = — — - (G: Hg); PIV: 16 kKV; Ia pk: 5A 23
— £ =— — = (G: Hg); PIV: 20 kV; Ia pk: 10A; THg: 15/65°C; th: 300 sec 269
— — — — - o (G: Hg); PIV: 20 kV; Ia pk: 20A; THg: 15/60°C; th: 300 sec 269
s - = == = = (G: Hg); PIV: 16 kKV; Ia pk: 50 A; Vah: 12V; THg: 15/60°C; th: 600 sec 133
20 — 18,6 18,4 3,8 5 max; (w) —
50 65 14 4 9 — tgr, (C) 35
35 40 8,5 10,5 12,5 — tgr, (C) —
205 — 19 148 85 1,5 max 140
— 70 — —_ = e WoLF, (A)
— 1400 — — — — mod, pp(B); Ia(m): 640 mA; Igl: 42 mA
— 165 - — — w— tph, (B); Vin HF pk: 160V
— 580 — — — == tph, (C), M/a; Igl: 60 mA; Vin HF: 515V
— 930 —_ — — tgr, (C); Ig: 55 mA; Vin HF: 460 V
0,2 —_ —_ — s s LF; osc; det; Va max: 60V -
10k — 20,5 20 3 2 max; (w); Fm: 2 Mc —
10k — — —_ —_— — PIV: 45 kV; (w); Ia pk: 9A —
5k — 24 25 3.1 3 max; (w); Fm: 6 Mc; Wg: 100 W 44
— 3.5k — e — mod, pp(B); Iam): 12 A
— 1,1k — — e — tph, (B)
c=s 2,5k — = — — tph, (C), M/a
— 3,4k — = — = tgr, osc, (C)
85 —_ 13 6,5 4 6 max; Fm: 30 Mc; Ig: 50 mA 35
— 220 —_ —_ —_ — mod, pp(B); Ia(m): 300 mA; Ig: 34 mA
o 41 — — _— — tph, (B); Ig: 2,6 mA
—_ L2 —_ —_ — - tph, (C), M/a; Ig: 13,56 mA
i 142 - — — — tgr, osc, (C); Ig: 13,5 mA
1000 1200 8 10 6 — tgr, (C) —
100 200 0,09 78 6,75 30 tgr, (C); Fm: 50 Mc —
— — 5,3 3,5 2.2 — max 1
350 — 21 18 2 7.5 max; Ig: 75 mA; Fm: 22,5 Mc 170
90 — — — — WoLF, (A)
— 1200 — — s - mod, pp(B); Ia(m): 750 mA; Ig: 18 mA
— 175 — —_ — — tph, (B)
— 450 — — — — tph, (C), M/a; Ig: 12 mA
2 s tgr, osc, (C); Ig: 10 mA

* eff




vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE )F (Sc) w (Ra-a)
E v A vV —V V mA mA mA/mV kQ kQ Q
4275A STC 3 5) 1,2 300 — — — — — 2,8 1 — —
4278A STC 4Z 10 16 3000 — 7550 — - —_ 400 106 — —
4279A STC 3Z 10 21 3000 — — 800 - 5 10 2 — —
4282B STC 47 10 3 1000 16 150 100 — — — — — =
4282BZ STC 47 (= 4282B) — S o — — — — — — —
4300A STC 3 3 1.2 300 — — 60 — 5,4 3,8 0,7 — —
4304B STC 3Z 1,5 3,25 1250 110 — 60 — 5,5 i 2 — —
4304BB STC 3Z (= 4304B) — e — o —_ — — — - —
4304CA STC 3Z 75 3.3 1000 170 — 100 — — - — — —
4304CB STC 3Z 7.5 3.3 1250 — — — — 1.6 10,5 6,4 — —
4304CBX STC Sz (= 4304CB) — — — — — — — — — —
4305A STC 47 10 3.1 1000 135 200 90 — 1.4 56 40 — —
4307A STC 57Z 5,5 1 500 — — 60 — 4 120 30 — —
4307AB STC 5% (= 4307A) —  — e — e — S -
4307AF STC 57 (= 4307A) — — — = = e = e s -
4308B STC 3Z 14 6 2250 — — 325 —_— . 8 T:5 — —
4310A STC 5 10 0,32 250 3 135 6,5 1,4 2 — —_ 100 —
4316A STC 3z 2 3,66 450 — — 80 —_ — 6,5 2,4 — —
4328A STC 5 7,5 0,425 (= 4310A) — —_— — — — — — —
4328D STC 5 7.5 0,425 (= 4310A) = — —_ — — — = —
4356A STC 3Z ] b 1500 %2 — 100 — 3,715 45 — — —
4357A STC 3z 10 10 4000 — — — — 30 — — —_
4604 RCA 4BZ 6,3 0,65 750 150 250 50 — 6 — — — —
400 60 190 150 11 — — — — —
4605 Philips B 1,76 1.1 220 6 — 4 — — 14 23 — —
4696 Philips 3 45 3 130 9 — 3.5 — 1 5,5 5,5 6 —
4607 Philips 3 2,1 i 130 1.6 — Cc7 — 0,5 30 60 600 —
4608 Philips 3 4 1 130 5 — 11 — 2,5 12 438 — —
46909 Philips 3 42 0,25 130 5 — 8 — 2.3 11 438 6 —
4611 Philips 3 6 0,25 180 40,5 — 20 _— 1,7 3 1,75 48 —
4612 Fhilips 3 4 0,65 250 40 — 40 — 2.9 3,5 1,3 3,5 —
4613 Philips 3 4 1 250 22 — 48 —_ 3.5 6 15 1.6 —
500 7 — 40 — — — — 12 —_
4614 Philips 3 4 1 200 16 — 12 — 1.3 9 T 2% —
4617 Philips 3 4 0,25 130 0,8 — 25 — 6.6 2,2 2,2 —
4618 Fhilips 5) 4 13 200 2 100 3 1,2 — 22 — 1M —
4619 Philips 2R+2R 4 1 300% — — 75 — — — — — —
4523 Philips 2 6.3 0,15 — — — 5 — — — - — —
4524 Philips 3 7,2 1,1, 800 90 — 35 — 2,3 7 3 1 —
800 — — 80 - — — — 15 110
800 92 — 60 —_ — — — 10 —
4630 Fhilips 3 42 0,25 133 84 — 8,5 —_ 13 7 5.5 6 —
4631 Philips 3 2 0,25 130 15 — 0,7 — 0,5 28 55 600 —
4635 Philips 3 4 1 200 16 — 12 — 1,3 9 T 27 —
4636 Philips 5 4 1,1 200 2 100 3 1,2 2,3 — 22M — —
4641 Philips 3 4 2,1 1000 — — 50 — — — — 35 170
1500 144 — 20 — — — — 40 —
4646 Fhilips 2R 4 13 10006* — — 5} — — — — — —
4650 Philips 5 4 2 550 30 200 45 1.4 3,2 — 30 12 650
550 — 250 90 1.6 — — — 12 445
300 63 300 30 0.8 — — —_ 45 —
4651 Philips 2R+2R 6,3 0,9 400* — — 175 —_ — — — — —
4652 Fhilips 2R+2R 4 2,4 500% — — 125 — - — — — —
4654 Philips 5 6.3 1,35 250 — 275 72 8 8,5 — 22 3,5 175
375 — 8 — — — — 3 470
400 — — 100 == — — — 5,5 280
425 — — 93 10,8 — — — 6,5 265
400 32 — 40 4.4 — — — 5 —




4275-4654

Na Wo Cagl Cin Co F

1ax ADDENDA %’?
w w pF pF pPF Mc rl'\r’
17 e — — — — max; WoLF —
800 — — — — 30 max; Fm: 50 Mc e
1200 — — — — 20 _
70 67 0,2 12,2 6,8 — Fx, (C) —
40 6 - — — — WOoLF, (A) e
50 25 — — — — tph, (B) -
50 70 2,6 1,7 0,8 100 tgr, (C); Ig: 22 mA; (Win)HF: 6 W p_—
50 — — — — 100 max; Fm: 300 Mc _
60 30 — — — 50 tph, (B) _
15 — — — — 40 max -
250 — — —_ = 1,5 max -
2 0,31 0,02 6 i3 — LF, (A); tel 96
30 — — — — 500 max —
— - il = = e 110
50 100 — — — 100 tgr, (C) -
350 — — — — 30 max —
4 — 0,24 11 8,5 60 max; Ig: 4 mA; nuglg2: 4; Fm: 175 Mc; th: 1 sec 5
e 30 _— —_ — 175 tgr, FM, (C); Igl: 2 mA; (Win)HF: 45W; Rg: 30 kQ
— - — - — — LF, (A); tel 124
i = 59 4 2,2 — LF, (A); K: 1,1; tel 145
1,1 — 53 35 2,2 — LF, (A); K: 3,3; tel 145
- - — e — —_ LF, (A); tel 189
12 — 10 49 2 — LF, (A); K: 1,8; tel 145
— 0,79 — — — — WOoLF, (A) 1/2
— 17 7 = — — WOoLF, (A) 2
12 1,5 3 — — — WoLF, (A) 2
- 15 = = — — WOoLF, pp(B); Ia(m): 75 mA
3 0,22 4 5,1 3,2 — WoLF, (A) 54
33 0,2 6 4,2 3 — (A); K: 1,1; tel 145
= — s = e —_ LF 132
— — — — — — * eff 48
_ _— =2 = 2,1 = TV det; PIV: 560 V; Ia pk: 30 mA; Vfi-k: 100V; (= EL50) 20
32 9 3 — — — WoLF, (A) 171
- 25 - —_— — — WOoLF, pp(AB1l); Ia(m): 88 mA
— 30 — — — —- WoLF, pp(B); Ia(m): 118 mA
1,1 — 438 42 2,4 — LF, (A); K: 1,3; tel 145
1,1 — 6,9 3,6 2 - LF, (A); K: 3,24; tel 145
P 0,22 4 — — — WoLF, (A) 189
1 — 0,006 12.5 10 — LF 132
25 29 7 — - — WOoLF, pp(AB1); Ia(m): 56 mA 171
— 68 — — — — WoLF, pp(B); Ia(m): 82 mA
- — — — _ == Rt: 200 Q; *eff 151
25 12 3 — — — WOoLF, (A); uglg2: 4,5 402
— 41 s s = —_ WoLF, pp(AB1); Ia(m): 106 mA; Ig2(m): 14,8 mA
- 26,5 = — - - WoLF, pp(B); Ia(m): 145 mA; Ig2(m): 28,6 mA
— — — — = —_ * eff 147
= = == = e — (G); *eff; Vdr: 15V; Rt: 100Q; (= AXI) 48
18 9,2 0,8 14,5 10 — WoLF, (A) 403
— 45 — —_ — —_ trio; WoLF, (A)
- 13 — = s - trio; WoLF, pp(AB1); Ia(m): 112 mA
- 27,5 s — - - WOoLF, pp(AB1); Ia(m): 120 mA; Rg2: 2 kQ
— 48 — — i = WoLF, pp(B); Ia(m): 196 mA; Ig2: 42 mA; Rgl: 500 Q

o
—
~1




.C Vi If Va Vgl Vg2 Ia Ig2 S Ri Ra Rk
TYPE S (sc) w (Ra-a)

v A vV -V V mA mA mA 'mvV kQ  kQ Q
4654K Philips 5 (= 4654) — - s - — — — — — —
4654P Philips 5 (= 4654) — — — - — — — — — —
4655 Philips 2R+2R 4 2 300% — — 160 — — — — —
4657 Philips 3 4 1 200 1,5 — 1 s 2,2 99 45 o —
4670 Philips 5+5 2 0,465 135 12 135 5 0,6 — — — 9 —

90 8,5 90 2 0.24 — — — 15 —
4671 Philips 3 5,3 0,15 180 5 — 45 — 9 25 125 — —
180 30 - 7 — — — e — —
4672 Philips 5 6.3 0,15 90 3 90 1.2 0.5 1.1 s M — —
250 3 100 2 0,7 14 e 15M — —
4673 Philips 5 4 1,35 250 25 200 8 15 5 — 15M — —
4674 Philips 2 6,3 0,15 180 — —_ 0,8 — — = = = —
4675 Philips 3 4 0235 180 5 — 45 — 2 25 125 — —
4676 Philips 5 4 0,235 250 3 100 2 0,7 14 2100 15M — 40(
4677 Philips 1 4 0,28 250 04 — 0,12 — — — — 2M —
4678 Philips 1 6 0,2 (= 4677 — — — - — — — —
4679 Philips 5 6,3 1 (= 4673) — — = = e s - -
4682 Philips 5 4 1 375 — 250 48 7 = = s 15 54(
375 32 250 40 6 = = e 9 o
4683 Philips 3 4 0,95 350 — = 86 = - = _— 8 85(
350 75 — 70 = — s — 5 —
4684 Philips 5 4 1,7 31 — 250 48 6,4 — — e 13 14:
4688 Philips 5 4 2 3 — 275 96 10 — — — 6,5 16¢
4689 Philips 5 6,3 1,35 (= 4688) — — . — — — — =
4689K Philips 5 (= 4689) — — — —_ — —— — —- — .
4689P Philips 5 — 4689) — = — e — — — - — -
4693 Philips 6 6.3 0,2 250 2,5/50 @ * 8 — 1,8 — 450 — 30¢
4694 Philips 5 6,3 0,9 400 156 425 22 2,8 7 — 75 s s
400 — 425 44 = 5,6 g = 20 318
4695 Philips 5 6.3 0,15 250 3/46 100 6,7 2.9 1,7 — 600 — _—
4696 Philips 4 6,3 0,6 250 5 150 8 0.7 14 = 100 — -
4697 Philips 1 4 0,32 250 06 —_ 3 — — == = 1M =
4699 Philips 5 6.3 1,5 250 — 250 172 8 145 — 20 3,5 90
37 — — 50 — —_— — — 4 30(
400 — — 96 — — — — 5,5 178
425 — — 92 10 — — — 8 17(
4699N Philips 5 (= 4699) — — — = e o - — _— -
5331 Amperex 3z 10 2.5 1500 — — 150 — 4 14 == = —
1500 110 = 30 == = = = 144 —
1500 119 = 65 . = S — - -
1250 250 — 139 . - — . - -
1500 215 = 120 s = — - _— —
5332 Amperex 3Z = 5331) — — — — — — — — - —
5512 Federal 3z 6,2 435 9000 1500 — 10A — - 38 — — —
7000 270 — 5350 —- — - — — _
5513 GE 3Z 6,3 30 4000 250 = 1,2A - — 49 — — —
3000 25 — 4170 — — e _ _ _
3000 25 — 470 — = = - - -
2000 20 = 967 == = e - - —
2800 150 = 600 s e = - e -
3750 150 — 940 — _— - — - _—
5514 CBS-Hytron 37 7.5 3 1500 200 — 175 - 5 145 — e —
1560 45 s 50 - - - _ 105 —
1250 84 _— 142 - - - - 41f
1500 106 — 175 . . - - — 45(




4654-5514

Wa Wo Cagl Cin Co F P
nax ADDENDA %lﬂ:_ﬁ
W w pF pF pF Mc

- - - - - _ 172
- - - - - - 403
— — — — — — *eff; Rt: 50 Q 46
1,5 — 3 — — — LF, (A) 54
1 1.3 1 — — — WoLF, pp(AB); Ia(m): 16 mA; Ig2(m): 6,8 mA 173
_ 0,4 — — — — Ia(m): 8,6 mA; Ig2(m): 3,4 mA

1,5 — 1,6 1.1 0,6 — (A); (= EI1C); Fm: 300 Mc 164
— 0,5 — — — 60 osc; Ig: 1,56 mA

0,8 —_ 0,007 3 3.4 —_ HF; MF,; Raeq: § kQ; (= E1F) 168
= s — - — — HF; MF,; Raeq: 5,5 kQ

2,5 — 0,12 9,6 7,3 — HF; MF 53
— — — — 1,65 — det spec 152
g = 14 — — — (A) 164
- = 0,007 — — — HF 168
— o — — - — Vt: 250 V; It: 0,28 mA 10
i — — — — - 10
— = = E s — 53
9 14 1.5 f — == WoLF, pp(AB1); Ia(m): 58 mA; Ig2(m): 8§ mA 174
— 19 — — — — WoLF, pp(B); Ta(m): 90 mA; Ig2(m): 11 mA

15 15,6 — - — — WoLF, pp(AB1); Ia(m): 92 mA 58
_ 20 — — — — WoLF, pp(B); Ia(m): 140 mA

9% 12 = = == == WoLF, pp(AB1); Ia(m): 60 mA; Ig2(m): 10,6 mA 404
18 28,5 2 —_ — — WOoLF, pp(AB1); Ia(m): 124 mA; Ig2(m): 18 mA 404
— —_ 0,8 — — — 52
— — — — — == 106
- — — — — — 52
2,5 — 0,007 4,6 7,8 — HF; MF; *Vg2 + 4: 0V; Vg3: 250V; Ig3: 0,2 mA; (= EF8) 28
9 — 0,8 — — — (A); nglg2: 23 59
— 13 — — — — WoLF, pp(AB1); Ia(m): 50 mA; Ig2(m): 12,4 mA

1,6 — 0,007 3,9 2,8 — HF; MF; Rin(50 Mc): 65 kQ; Fm: 425 Mc 168
2 — 0,006 105 10,2 — SE; HF; MF,; VF; Vk2: 150V; Ik2: —6 mA 94
1.5 — — o — — Vt: 250V; It: 1 mA; (= AM2) 12
18 8 0,7 18,5 13,5 — WOoLF, (A); nglg2: 20 52
—_ 45 — — — —_ trio; WoLF, (A)

— 13 — — — — trio; WoLF, pp(AB1); Ia(m): 108 mA

— 29 — = = e WOoLF, pp(AB1); Ta(m): 116 mA; Ig2(m): 29 mA; Rg2: 2,2 kKQ

— — — — — — 52
65 — 9 5 2,4 30 max 131
_ 215 — — — — mod, pp(B); Ia(m): 225 mA

- 32 — — - — tph, (B)

_— 120 o — S - tph, (C), M/a; Ig: 6 mA; (Win)HF: 3 W

= 140 S s . — ter, (C); Ig: 6 mA; (Win)HF: 3 W

o — — — — — 27
25k e 52 2 1,2 110 max; (w+fa); Ig: 800 mA _
— 26k — —_ — — ter, FM, (C), B/g; Ig: 450 mA; (Win)HF: 42 kW

1200 — 10,5 14,4 0,09 220 max; (fa); Ig: 250 mA _
— 437 — - — — tph, (B); Ig: 42 mA; (Win)HF: 34 W

_ 480 — — — — tph, (B), E/g; (Win)HF pk: 187 W

. 1125 — — s —_ TV, (B), E/g, sl; Ig: 180 mA; (Win)HF: 223 W

. 1250 — - s — tph, (C), M/a, E/g; Ig: 104 mA; (Win)HF: 202 W

_ 2690 — — — — ter, FM, (C), E/g; Ig: 189 mA; (Win)HF: 37T W

65 — 7.9 7.8 1 60 max; Fm: 100 Mc; Ig: 60 mA 128
_ 400 — — = s mod, pp(B); Ia(m): 250 mA; (Win)LF: 656 W

_ 135 — — — — tph, (C), M 'a; Ig: 60 mA; (Win)HF: 10 W

—_ 200 — — — — tgr, FM, (C); Ig: 60 mA; (Win)HF: 12 W




Vi If Va Vgl Vg2 Ia Ig2 S Ri Ra Rk
TYPE I * (Sc) n (Ra-a)
v A YV =Y V mA mA mA/mV kQ kQ Q
5516 CBS-Hytron; GE 4BZ 6 0,7 600 150 250 90 — 4 e == - -
500 21 250 690 3 — — — 11 330
600 25 250 36 il — = - 16 —
600 25 250 36 1 = — — 106 —
475 90 250 63 10 — — — — 120
600 60 250 75 15 = - = = 650
5517 Raytheon 2R 0 0 — o= o 12 - o - - e —
5517/
(CK)1003 Raytheon 2R (= 5517 — — — s = e - = e -
5518 GE 3z 6,3 235 7000 850 — 18A — — 21 — — —
6600 520 — 13A — — — — — —
5530 Machlett; WE 3Z 5 55 5000 1000 — 1750 — il 26 — — —
4500 175 — 850 — — — — — -
4000 300 — 1250 — — — — — —
5530H Machlett 3z 5 55 8500 1000 — 1750 — 11 26 — — —
5531 Machlett 3z 6,3 92 105k 1500 — 3750 — 22 22 1 — —
9k 340 — 1,8A — — — — - —_
8,5k 1030 — 3.4A — — o - sy —
5541 Machlett; WE 3Z 7,5 57 8500 1500 — 2750 — 21 26 — — —
7500 250 — 1400 — — — = s —
7500 650 — 2400 — —_ — s - —_—
5549 GE 3z 12,6 56 8500 1000 — 1250 — — 22 — — —
8000 800 - 1250 — —_ = — == -
5556 USA 3z 45 1,1 350 150 — 40 — — 8,5 —_ — —
350 30 — 9 - 0,98 87 1.8 S
350 40 - 32 — —_ — = == -
300 100 - 30 — o — = - =—
350 80 — 35 — — = - — _—
5556/PJ8 GE 3Z (= 5556) — — == = = _— = == = -
5558 RCA; Westingh. 2R 5 4,5 — — = L7 - _— e —_— = —
5558/32 Westinghouse; GE 3Z (= 5558) — — - . -~ -~ — - — _
5561 RCA; Westingh. 2R 5 10 — — — 6.4A — — =t === - S
— — - 4A . - - - — —
5561/104 GE; Westingh. 2R (= 5561) — — s — — = — _ — —
5562 USA 4Z 6,3 3 2000 300 400 125 21 . - — - oo
5566/101 Machlett 2R 22 52 — — — 25A - — — = _— 2o,
5567 Machlett 2R 10 115 — = == 25 - - oo . - _
5568 Machlett 2R 10 115 — — — 25 — == s == o —
5569 Machlett 2R 10 115 — — — 25 — — — - ey —
5570 Machlett 2R 10 11,5 — —_ — 25 — — = = — —
5571 Machlett 2R 13 12,4 — — e 50 —_— — - = s _
5572 Machlett 2R 10 178 — . v 50 —_— — A - _ _
5573 Machlett 2R 13 124 — — —_— 50 - _— _— - p— —
5574 Machlett 2R 13 124 — — - 50 - g - - _ _
5575 Westinghouse 2R (= 5575/100) — — _— " - — _ _ —
5575/100 Machlett 2R 20 24 — - - 320 " — - _ .
5576 Westinghouse 2R (= 5576/200) — — —_ — — — o s o
5576/200 Machlett 2R 20 32 == — — 800 o = — - s —
5571 Machlett 2R 13 124 — — — 25 — -— — iz — -
5578 Machlett 2R 13 124 — —_ 25 — — — - = "
5588 USA 32 6,3 2,5 1000 200 — 300 — — 16 = — o
650 70 —- 250 —- —_ = _— i =
835 70 — 3090 — — = =y ey =
835 70 — 300 o = = 250
5590 USA 5 6,3 0,15 90 — 90 3.9 14 2 600 300 — 820
5591 USA 5 6,3 0,15 180% — 140% — -~ — e = e =




5516-5591

Wa Wo Cagl Cin Co F

nax ADDENDA W

w w pF pF pF Mc

15 — 0,12 8,5 6,5 80 max; th: 2 sec; Fm: 165 Mc; Igl: 6 mA 95
_ 21 — — - — WCcLF, pp(A); Ia(m): 90 mA; Ig2(m): 10 mA

— 38 et = — — WoLF, pp(ABl); Ia(m): 80 mA; Ig2(m): 14 mA

— 67 — — — —_ WOLF, pp(AB2); Ia(m): 140 mA; Ig2(m): 24 mA

— 29 == = — — tph, (C), M/a+g2; Rg2: 22,5 kQ; (Win)HF: 0,5 W

_ 32 - - s — tgr, FM, (C); Igl: 5 mA; (Win)HF: 056 W

_ - - — _— — (G); PIV: 2,8 kV; Ia pk: 100 mA; Vdr: 125V; Rt: 6 kQ; Va min: 500V 129
_ - == e s = 129
4k — 18,5 29 0,6 110 max; (fa); Ig: 250 mA —_
o 7.5k o —_ = 2o tgr, FM, (C), E/g; Ig: 200 mA; (Win)HF: 1220 W

3k — 23 20 0,6 110 max; (fa); Ig: 200 mA 135
— 1250 = — — — tph, (B), E/g; Ig: 30 mA; (Win)HF: 230 W; Vin HF pk: 780 V

_ 4000 — p— = — tgr, FM, (C), E/g; Ig: 180 mA; (Win)HF: 950 W; Vin pk: 765 V

4k 72k*  — — — 30 max; (fa); Ig: 400 mA; * (C) =
10k — 26 23 1,6 30 max; (fa); Ig: 600 mA —
— 5,6k — — —_— —_ tph, (B); Ig: 30 mA; (Win)HF: 330 W; Vin pk: 430 V

— 20,5k — — —_— tgr, (C); Ig: 440 mA; (Win)HF: 700 W; Vin pk: 1640 V

10k — 25 20 1,6 110 max; (fa); Ig: 300 mA —
— 3500 — —_ — — tph, (B); Ig: 25 mA; (Win)HF: 200 W; Vin HF pk: 370 V

= 11,5k == —_— = P tgr, FM, (C); Ig: 160 mA; (Win)HF: 170 W; Vin pk: 1135 V

4000 — 17,5 22,5 2.5 50 max; (fa); Ig max: 250 mA 48
— 1500 - — — - tgr, osc, (C); Ig: 160 mA; (Win)HF: 230 W

10 — 6,7 2,3 2,2 6 max; Ig: 10 mA; Fm: 30 Mc 1
- 0,6 — S — — WOoLF, (A)

_ 2 . — - _— tph, (B); (Win)HF: 0,1 W

- 4 o = - e tph, (C), M/a; Ig: 2 mA; (Win)HF: 0,3 W

— 6 — = = == tgr, osc, (C); Ig: 2 mA; (Win)HF: 0,25 W

_ _ _ S — — 1
_ = s — — P (G: Hg); PIV: 5 kV; Ia pk: 15A; Vdr: 15V; Va st: 50 V; THg: 30/60°C 153

th: 600 sec

_ e . _ — — 153
- = - — — = (G: Hg); PIV: 3 kV; Ia pk: 40 A; Vdr: 15V; THg: 40/80°C; th: 300 sec 154
_ - = — = — PIV: 10 kV; Ia pk: 16 A; THg: 25/50 °C

- o — = - - 154
45 135 — — — 120 tgr, (C); Igl: 12 mA; (Win)HF: 36 W 14
— — = et — — PIV: 60 kV; Ia pk: 7T5A; (W) —
_ _ _ = — — PIV: 125 kV; Ia pk: 70 mA —
_ — _ == —— s PIV: 125 kV; Ia pk: 70 mA e
— - — — _— — PIV: 140 kV; Ia pk: 70 mA ==
_ — — _— s — PIV: 140 kV; Ia pk: 70 mA =
_ — = = — — PIV: 140 kV; Ia pk: 140 mA —
_ — = = — — PIV: 140 kV; Ia pk: 140 mA =
- — = = — — PIV: 140 kV; Ia pk: 140 mA ==
- o — — e — PIV: 152 kV; Ia pk: 140 mA —
- = _ = = s 29
750 — — —_ — — PIV: 150 kV; Ia pk: 1A; Vdr (Ia: 1A): 850 V; th: 30 sec 29
— — = = — — 29
1000 — — — == — PIV: 150 kV; Ia pk: 2,56 A; Vdr (Ia: 2,5 A): 1000V; th: 30 sec 29
_ o —_— = — e PIV: 200 kV; Ia pk: 70 mA =
_ = — = — — PIV: 200 kV; Ia pk: 70 mA =
200 — 6 13 0,32 1200 max; (fa); Fm: 2000 Mc; CCS; th: 60 sec; Ig: 100 mA —
== 65 2= = = o tph, (C), M/a, E/g; Vi: 5 V; Ig: 30 mA; (Win)HF: 32 W

— 100 — — — — tgr, (C), E/g; Vi: 45V; Ig: 40 mA; (Win)HF: 32 W

o 75 = - —_ — osc, (C), E/g; VI:3V; Ig: 40 mA

1.5 —_ 0,01 3.4 2,9 - (A); Vgl co: —15V; Va max: 180V 405
1,7 - 0,01 3,9 2,85 — *max; Ik: 18 mA 405




Vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE | * (sc) w (Ra-a)
A% A vV -V V mA mA mA mV kQ kQ Q)
5591/403B LM Ericsson 5 6,3 0,15 120 — 120 75 1,9 5 - 300 — 200
5592 RCA; Machlett 3z 11 412 11,5k 2000 — 45A — — 32 — — —
11k 820 — 3,6A — — - — — 200
7,5k 1000 — 4 4A s e — — — 200
5603 WE 5 6,3 0,5 135 — 135 50 4 5,4 92 1.7 2,5 230
5604 USA 3z 11 176 12,5k 2000 — 3A — — 20 — — —
12k 600 — 600 — — — — 5,9 —
10,5 — 12k 610 — 1A — — — — — —_
10k 1300 — 14A — — — o — —
109 — 12k 1170 — 2,5A — — — — — —
5604A RCA 3z (= 5604) — _— . — - — = = = =
5606 Machl.; Westingh. 3Z 22 60 15k 1600 — 2A . — 50 — -
5606A Federal 3Z 22 60 15k — — 2A — — 36 — — —
12k 1600 — 1520 — — — — - —
5608 Raytheon 3+3 2,5 2 300 6 — 6 — 2,45 32 132 — —
5608A Raytheon; Sylv. 343 (= 5608) - — - — —_ - — — —_ e
5610 GE 3 6,3 0,15 90 1,5 — 1% — 4 14 3,5 — —
5618 RCA 5Z 6 0,237 300 125 125 30 - — — — —
250 8 75 19 2 3,6 — — 12 .
300 45 75 25 7 — — — — 1400
300 125 75 25 5,5 — — — — -
5619 USA 37 (= 5604) — - - - - — — = =
5625/KC4 GE 2R 20 245 — — — — s i — = _ .
5633 GE 5 6.3 0,15 100 1,5/19 100 7 2,8 3.4 — 200 — 150
5634 GE B 6,3 0,15 100 1,5'10 100 6,5 2,5 3.5 — 240 — 150
5636 INT 5 6,3 0,15 100 — 100 4 5,8 1,95 — 50 — 150
100 — 100 5.3 3,6 3,2 — 110 — 150
100 — 100 3,5 5,7 1,28 — 320 — 150
5637 GE; Sylvania 3 6,3 0,15 100 — — 14 2,7 70 26 — 820
5638 GE 5 6,3 0,15 100 — 160 48 1,25 33 — 150 — 270
5639 INT 5 6,3 045 150 — 100 21 4 9 — 50 — 100
5639WA Tung-Sol 5 (= 5639) — s s — —_ — — — — s
5640 GE 4B 6,3 045 100 9 100 31 2,2 5 — 15 3 —
5641 INT 2R 6,3 0,45 330% — — 50 — — — - — —
5642 INT 2R 1,25 0,2 — — — 0,25 = — — — =z e
5645 GE 3 6,3 0,15 100 — — 5 — 2.7 20 7.4 — 560
5646 GE; Sylvania 3 6,3 0,15 100 — — 1,4 — 24 70 29 — 820
5647 Sylvania 2 6,3 0,15 165* — - 10 — — — — — —
5648 GE 3Z 6,3 1,1 1000 150 — 100 — 25 100 — — —
600 25 - 55 — — — — — —
1000 50 — 50 — — — — — —
5654 INT 5 6,3 0,175 120 2 120 175 2,5 5 340 — 200
5654/6AK5W INT 5 (= 5654) — — — — — — — — — —
5654/6AK5W/
6096 USA 5 (= 5654) == - - — - — — — —
5656 Raytheon; CSF 474427 6,3 0,4 150 2 120 15,5 2,7 5,8 — 60 — -
5658 USA 3z 12 290 12,5k 1600 — 5A — - 20 — — —
12k 870 — 4 5A — — — — — —
5659 GE 4B 126 0,15 250 12,5 250 30 3.5 3 — 70 1,5 —
5660 GE 5+2+2 126 0,15 250 3/21 125 10 2,3 1325 — 600 — —
5661 GE 5 126 0,15 250 3/35 100 9,2 2,6 2 — 800 — —
5666 INT 3Z 11 120 10k 1500 — 2A — — 21 — — —
7,5k 300 — 400 — — - — 5 —
9k 350 — 800 — — — — —
7,5k 1200 — 880 — — — — — —
108 — 9k 750 — 2A — — — - — —

222



5591-5666

Wo Cagl Cin Co
ADDENDA 1
w pF pF pF Mc U

o 0,02 4 2,8 — (A); spec; VHF 49

— 35 76 12 50 max; (fa); Ig: 800 mA; Fm: 110 Mc

30k — — —_ — tgr, (C); Ig: 800 mA; (Win)HF': 1 kW

27k —_ — — 108 FM, (C), E/g; Ig: 600 mA; (Win)HF: 9 kW

2.2 0,3 9,5 7,5 — WoLF, (A); Va max: 150V 163

s 24 27 1,25 25 max; (fa); Fm: 50 Mc; Ig: 450 mA 201

36k — s - s mecd, pp(B); Ia(m): 4,5 A; (Win)LF': 160 W; Vin pk: 2380 V

4,4k — — —_ — tph, (B); (Win)HF': 65 W; Vin HF pk: 590 V

119k — s e — tph, (C), M/a; Ig: 150 mA; (Win)HF: 280 W; Vin HF pk: 1930 V

22,5k —_ — — e tgr, (C); Ig: 220 mA; (Win)HF: 470 W; Vin pk: 2130 V

— - — — — 201

15k* — — - 1,6 max; (w); Ig: 400 mA; * (C) —

— — — — 1,6 max; (w); Ig: 400 mA —

146k — — — = tgr, (C); Ig: 240 mA; (Win): 570 W

== = = = — (A); LF 1 trio; spec 63

— — — — — 63

— — — — —_— LF; spec; Vg co: —15V 172

— 0,24 7 b 100 */3V; 7/0,46 A; max 115

14 — — — — WoLF, (A); Vi: 3V

5.2 — — — — tgr, (C); Rg2: 32 kQ; (Win)HF: 0,3 W

3.4 — = — 80 Fx3; Igl: 1,85 mA; Vin HF pk: 160 V; (Win)HF: 0,75 W
23 27 1 — (fa) 201
— — — o PIV: 150 kV; Ia pk: 1A; Vdr: 4 kV 29
0,015 4 2,2 — (A); Va max: 150V 176
0,015 44 22 — (A); Va max: 150V 176
0,034 4 1,9 — Vg3: —1V; Sg3: 0,95 mA/V; Vg3 co: —8V; spec; (= EF7T30) 177

= o — = mix; Vg3: 0 V; Vosc pk: 15 V; Fm: 400 Mc

e = == = e Vg3: 0V; Sg3: 05 mA/V; Vglco: —75V

14 2,6 0,7 == (A); Vg co: —3,6V; Va max: 150V 67/93
021 39 2,9 —- (A); Va max: 200V; Vg2 max: 100V; Vgl co: —95V 178
0,18 9 4,6 — (A); spec; Vgl co: —14V; VF; WoLF; Va max: 165V 179
— — —_ — spec; Va max: 250V 179
1,25 0,18 9 i — WoLF, (A); Va max: 150V 188
— — - — — spec; *eff; PIV: 930 V; Ia pk: 300 mA; Rt: 270 Q; Vdr: 25V 155/291
— — — 0,6 — TV; PIV: 10 kV; Ia pk: 5 mA 43
— 157 2,2 3 — (A); Vg co: —20V; Va max: 150V 173
— 1.8 2,2 i — (A); Vg co: —3,1V; Va max: 150V 173
— — - 2,6 — spec; det; PIV: 460V; *eff; Ia pk: 60 mA 156
— — — — 500 max; (fa); Ig: 50 mA; Wg: 1,6 W; Fm: 2500 Mc —
20 — o —_ — tph, (C), M/a; Ig: 22 mA; (Win)HF: 6 W
30 — — — — tgr, osc, (C); Ig: 18 mA; (Win)HF: 4 W
— 0,02 4 2,85 — HF; MF,; spec; Vgl co: —85V 49
= == = = = 49
= — — — — 405
— 0,06 3,6 1,5 — (A); 1 tetro; Fm: 400 Mc; Vgl co: —8,5V 96
— 24 35 2 20 max; (w-+fa); Fm: 45 Mc; Ig: 800 mA 47
40k — = — - tgr, osc, (C); Ig: 550 mA; (Win)HF': 800 W
34 — — —_ —_ WOoLF, (A); d: 7%; spec 51
2,25 0,006 6 9 — HF; MF; LF-+det; spec 85
4 0,003 6 7l — HF; MF; spec 73
— 17,5 23,3 2.7 22,5 max; Fm: 50 Mc; Ig: 350 mA; (w-fa) 201
15k — —_ — — med, pp(B); Ia(m): 3,2 mA; (Win)LF: 150 W; Vin pk: 1700 V
2,5k — — — — tph, (B); (Win)HF': 110 W; Vin HF pk: 450 V
5k — — = — tph, (B), M/a; Ig: 80 mA; (Win)HF: 140 W; Vin HF pk: 1700 V
12,2k —_ = i s tgr, csc, (C); Ig: 210 mA; (Win)HF: 340 W; Vin pk: 1700 V
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! Vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE | < (Se) w (Ra-a)
v A v -V V mA mA mA/mV kQ kQ Q
5667 INT 3z (= 5666) = e — s —_— — — — — —
5668 Machlett; Federal 3z 22 60 14k 3000 — 2A - — 50 — — —
218 — 12k 500 — 2A — — — — — —
5669 Machlett; Federal 3Z (= b5668) —_ — — —_— — — — — — —_
5670 USA 3+3 6,3 035 150 — — 8,2 — 5,5 35 6,35 — 240
5670WA USA 3+3 (= 5670) — — e — - = — - — e
5671 RCA 3Z 11 285 15k 2000 — 8A — — 39 — — —
15k 320 — 600 — — — — 332 —
12,5k 1500 — 4A — — — — — —
15k 1500 — 6A — — - _— = 225
5672 INT 5 1,25 0,06 675 65 67,5 3,15 0,95 0,65 150 20 —
5675 RCA; Raytheon 3Z 6,3 0,135 135 — — 24 _— 6,2 20 322 — 68
120 — 8 25 — — — — = —
5676 INT 3 125 012 135 5 — 4 — 1,6 15 — — —
135 — —_ 9 — — — — — —
5677 Raytheon; GE 3 125 0,06 135 6 — 1,9 — 0,65 13,5 — — —-
5678 INT 5 125 005 675 0 675 1,8 0,48 1,1 — M — —
45 0 45 0,8 0,22 0,82 — 12M — —
5679 GE 242 6.3 0,15 150% — — 8 - — — = — —
5680 INT 37 13 36 6000 2000 2A — = 25 — — —
5000 150 — 400 — == — — 4 —
6000 160 — 560 — — — — — —
5000 800 — 740 — — — — — —
6000 800 — 1400 — — — — — —
17,5k 5000* — 35A% — — — — — —
15k 450 — 33 — — — — — —
5681 Machlett; GE 3Z 12 220 15k 3200 — 12A — — 25 — —_ —
5682 Machlett 3Z 165 325 16k 1600 — 20A —_ — 32 — — —
5682/380 Machlett 3Z = 5682) — — — — — — — ] — —
5686 INT 4BZ 6,3 0,35 250 125 250 27 3 3,1 — 45 9 —
250 50 250 40 10,5 — — — — —
5687 INT 3+3 12,6% 0,45% 250 125 — 12 — 54 16 3 = —
180 7 — 23 — 8,50 17 2 = —
120 2 — 36 — 11,5 18 1,56 — —
568TWA INT 3+3 (= 5687) — — — — — -— — — — —
5690 RCA 2R+2R 12,6% 1,2%F 3504 — — 110 — — — — — —
5691 UsA 3+3 6,3 0,6 250 2 — 2.3 T 1,6 70 44 — —
5692 USA 3+3 6,2 0,6 250 9 — 6,5 — 2.2 20 91 — ==
5693 USA 5 6,3 0,3 250 3 100 3 0,85 1,65 — M — —
5694 Raytheon 3+3 6,3 0,8 294 6 — 2 — 32 35 11 — —
5702 INT 5 6,3 0,2 120 2 120 175 2,6 5 —_ 340 — 200
5702WA Rayth.; Tung-Sol 5 (= 5702) — — — — — — - — — —
5702WB INT 5 (= 5702) — = — — — — — = — —
5703 INT 3 6,3 0,2 120 — — 9,6 — 5 25,5 5 — 220
150 — — 20 — — — — — —
5703WA Rayth.; Tung-Sol 3 (= 5703) —_ == — — — — — = — —
5703WB INT 2 (= 5703) — — — — — — — — — —
5704 Raytheon; GE 2 6,3 0,15 150* — — 9 s s — s s _
5704WA Raytheon 2 (= 5704) == — = = — == — = == =
5705 Westinghouse 3Z 22 60 15k 2000 — 2A — — 50 — — —
12,5k 170 — 400 s — — — 10 —
14k 190 — 820 -— — — — — —
10k 1600 — 780 — — — — — —
12k 1600 — 1550 — — — — — —
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667-5705

Wa Wo Cagl Cin Co F : i

nax ADDENDA [{lw

W W pF pF pF  Mc 1

75k — 185 — 3 — (fa) 201

20k — 30 20 1,5 5 max; Ig: 400 mA; (w+fa); Fm: 20 Mc 201

— 17,5k — — —_ — tgr, (C); Ig: 230 mA; (Win)HF: 300 W; Vin pk: 1430V

10k — 31 — 2 — (fa) 201

14 — 14 2,2 1 — spec; 1 trio; (A); Vg co: —10V; VHF; WcLF; Vi-k: 100V 25

= s =5 e = = spec 25

25k — 52 88 1,5 1,6 max; (fa); th: 15 sec; Ig: 1A —

— 100k — — —_— — mod, pp(B); Ia(m): 10 A; (Win)LF: 600 W

— 40k — = — — tph, (C), M/a; Ig: 1 A; (Win)HF': 1,96 kW

— 70k = — = o= tgr, osc, (C); Ig: 1 A; (Win)HF: 2,04 kW

0,3 0,065 0,2 2,8 3,4 — WOLF, (A); d: 10 % 8

5 — 1.3 2,3 0,03 — (A)

_— 0,475 —_ = —_ 1700 osc, E/g; Rg: 2 k(Q); Ig: 4 mA

p— — 14 1.2 19 — (A); Vg co: —10V 151

— — — —_ —_ 350 VHF osc; Ig: 0,6 mA; Rg: 10 kQ

= — 2 1.3 3,8 — (A); VHF osc 151

— — 0,01 3.3 3,8 = HF; MF; Vgl co: —4V; Rgl: 5 MQ; Rin (100 Mc): 15 kQ 19

— — — — —_ —_— Vglco: —3V

— —_ — - — — det; *eff; Ia pk: 45 mA; Vi-k: 330V 157

2500 — 12 15 1.8 30 max; (fa); Ig: 200 mA; Fm: 50 Mc 49

— 7200 _ S — == mod, pp(B); Ia(m): 2,25 A; (Win)LF: 175 W; Vin pk: 1260 V

— 1000 = == — s tph, (B); (Win)HF: 47 W; Vin HF pk: 300 V

— 2700 — = = 2 tph, (C), M/a, Ig: 100 mA; (Win)HF: 130 W; Vin HF pk: 1370V

— 6000 — — — — tgr, osc, (C); Ig: 160 mA; (Win)HF': 225 W; Vin pk: 1510 V

1200 — — = — s max; pu; * pk; tpu: 90 usec; Df: 0,005; Va rk: 20 kV; Ik pk: 35 A

= 90k * s = e = pu, osc, (C); Ig: 2 mA; Df: (,004; * pk

75k 115k* 61 76 2 30 max; (w); Fm: 110 Mc; Ig: 2 A; *tgr, (C) —

100k 200k* 90 101 2,6 30 max; (w+fa); Ig: 4 A; Fm: 88 Mc; *tgr, (C) —_

7,5 2,7 0,08 6,5 8,5 — WoLF, (A); spec 97

— 5.25 — —_ —_ 160 tgr, osc, (C); Igl: 2 mA; (Win)HF: 0,007 W; Rg2: 25 kQ

4,2 — 4 4 0,6 — 1 trio; (A); */6,3V; 7/0,9A; Vg co: —19V 174

— — — — — —_ Vgco: —14V

- — — — o S Vgco: —9V

—_ S — — — = spec 174

= = — i — == spec; */6,3V; /2,4 A; Aeff; PIV: 1120V; Ia pk: 375 V; Vi-k: 400 V; 158

Rt: 350 Q

1 — 3,6 2,6 2,5 — spec; 1 trio; LF, (A) 24

175 — 3.4 2,5 2,6 — spec; 1 trio; LF, (A) 24

2 — 0,005 5,3 6,2 — spec; LF, (A); Vg3: 0V; Vgl co: —7,5V; Ta: —55/480"C 73

—_ = —_ = — — spec; 1 trio; WoLF 176

18 — 003 44 3,2 — VHF; Vgl co: —9V; Vg3: 0V; (= 605CX; = 623CX); Vi-k: 90V 166

— _ — - — e spec; (= 6148) 166

— — — —_ — spec 166

3,2 — 1,2 2,6 0,7 — (A); (= 608CX); Vg co: —8,5V; Vi-k: 100V 282
0.9 — — — 500 osc; Fm: 800 Mc

— — — — —_ — spec; (= 6149) 282

_— - e st _— s spec 282

- —_ == = = = det; *eff; PIV: 420 V; Ia pk: 54 mA; (= 606BX) 109

_ _ _ s = - spec 109

10k — 30 20 1,5 30 max; (w); Ig: 400 mA; Fm: 110 Mc 49

— 22k —_ — - . mod, pp(B); Ia(m): 2,8 A; (Win)LF: 160 W; Vin pk: 1370 V

= 4k — — — = tph, (B); Ig: 30 mA; (Win)HF: 106 W; Vin HF pk: 440 V

— 6k = = = = tph, (C), M/a; Ig: 230 mA; (Win)HF: 460 W; Vin HF pk: 2250 V

— 14k — -— — —_ tgr, osc, (C); Ig: 230 mA; (Win)HF: 565 W; Vin pk: 2550 V




Vi If Va Vgl Vg2 1Ia Iz2 S Ri Ra Rk
TYPE l < (se) n (Ra-2a)
v A v =V V mA mA mA/mvV kQ kQ ()
5706 Westinghouse 3Z 22 60 12,5k 20C0 — 2A s — 50 — — —
8k 60 — 590 =— — — — 6,8 —
8k 60 — 670 — = — = — —
102 1600 — 780 — — — — — —
12k 1030 — 1560 — — — — — —
5713 RCA 3Z 3.3 11,5 1500 250 — 300 — 21 25 0,8 — —
1500 175 — 300 = — = — 510
5718 INT 3 6,3 0,15 150 — — 13 — 6,5 2 4,15 — 180
100 — — 3,5 = 5,8 4,65 — 150
165 65 s 22 — — —_ — —
5719 INT 3 6,3 0,15 150 — — 1,85 - 2,3 70 306 — 680
100 — — 0,73 == 1.7 70 41 — 150
5725 INT 5 6,3 0,175 120 2 120 B2 5 3.2 — — — —
120 2 120 — — — — — — —
5725/6AS6W INT 5 (= 8l256) == = e — = - — - = =
5725/6AS6W/
6187 Tung-Sol 5 (= 5725) = = = - — e — — — —
5726 INT 242 6,3 0,3 117% — — 9 — — —_ — — —
5726/6AL5W INT 2+2 (= 5726) = = — = — — — - _ -
5726/6AL5W/
6097 USA 24-2 (= 5726) == — — — s — — e —
5731 GE 3 6,3 0,15 250 7 — 6,3 — 2,2 25 114 — -
5736 USA 3Z 6 60 5000 1000 — 1,756A — — 2 — — —
5000 850 — 1000 — - — — — —
5736/473 Westinghouse 3Z (= 5736) — = == — — s — . — =
5741/FP85A GE 2R 10 5 — — — 20 — — — — — —
5742/PJ7 GE 3Z 45 1,1 350 — — 40 — — 30 — — —
5743/PJ21 GE 3Z 4,5 1.1 350 — — 19 — 3 — — —
5744 INT 3 6,3 0,2 250 — — 4,2 = 4 70 175 — 500
5744WA Raytheon 3 (= 5744) — s = - == - g — — e
5744WB INT 3 (= 5744) — = — = == = = o ==
5749 INT 5 6,3 0,3 2 1/20 100 11 4,2 44 — M — 68
1/20 100 10,8 44 43 — 250 — 68
5749/6BA6W INT 5 (= 5749) S s S = = = — - — —
5750 INT i 6,3 0,3 250 — 100 2,6 15 0475 — M — —
100 — 100 2.6 75 0455 — 400 — —
5750/6BE6W Sylvania i (= 5750) = == = — A — s — —
5751 INT 3+3 6,3* 0,35+ 250 3 - 1 — 1 70 58 — —
100 1 — 0,8 — 70 58 — —
5751W1 Tung-Sol 3+3 (= B751) = — = — i P — = - s —
5751WA Tung-Sol; Sylv. 3+3 (= 5%51) — — = S — _— S = g -
5755 Raytheon 3+3 6,3 0,36% 180 0 — 2,2 == 1,5 — — — —
110 0,95 — 0,15 = 5 70 140 — -
5757 Amperex 3Z (= 492) — - —_— st — _— o — "
5758 Amperex 3Z (= 492R) - s o - — _ _ — —
5759/501R Amperex 3Z (= 501R) e = - e =y - — _ == —
5760/502 Amperex 3Z (= 502) — = = == —_ s - = - e
5761 Amperex 37 (= 502R) _— - — s s s pas _— e
5762 INT 3Z 12,6 29 6200 1090 — 1900 — — 29 — _ —
4700 200 —_ 300 — — — — 3,64 —
3200 110 — 1800 — = = — = =
3200 110 — 1800 — — — = — —
4000 350 — 930 - — — — — —_
6000 500 — 1250 — — — — — 360
5000 1000 — 1100 — — — = — 740
5762/7C24 RCA 3Z (= 5762) == — — = - ms - _ - —
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5706-5762

Wa Wo Cagl Cin Co F ;

aax ADDENDA i
W W  pF  pF  pF  Mc 1t
4000 — 31 20 2 30 max; (fa); Ig: 400 mA; Fm: 110 Mc 49
— 10,5k — — — — mod, pp(B); Ia(m): 2,3 A; (Win)LF: 84 W; Vin nk: 1000 V

— 1800 — — — — tph, (B); Ig: 40 mA; (Win)HF: 150 W; Vin HF pk: 320 V

— 6000 — — — — tph, (C), M/a; Ig: 230 mA; (Win)HF: 460 W; Vin HF pk: 2250 V

== 147k — — — — ter, osc, (C); Ig: 335 mA; (Win)HF: 665 W; Vin pk: 1870 V

250 — 10,3 26 0,5 220 max; (fa); Ig: 50 mA; CCS —
— 325 — — — — tgr, osc, (C); E/g; Ig: 40 mA; (Win)HF': 66 W

3,3 — 14 2,2 07 — spec; (A); Vg co: —11V; (= ECT0) 67
- _— = s s e Vgco: —-TV

_ _ - s - - UHF osc; max; Ig: 5,6 mA; Fm: 1000 Mc

0,55 —_ 0.8 1,7 0,6 — spec; LF, (A); Vg co: —38V 67
- — — — — —_ Vgco: —25V

165 — 0,02 4 3 — spec; Vg3: 0V 384
— — — — — — Vg3: —3 V; Sg3: 0,7mA/V

_ _ _ _ _ _ 384
s — — . s = 384
— — —_ —_ — —_ spec; *eff; PIV: 360 V; Ia pk: 60 mA; Rt: 300Q; (= E91AA) 38
. _ _ _ — - 38
— — — — —_— o 38
— — 1,3 1 0,4 — (A) 164
2500 — 16 19 0,8 60 max; (fa); Fm: 200 Mc; Ig: 500 mA 7
— 4100 — — — s tgr, osc, (C); Ig: 210 mA; (Win)HF: 250 W; Vin HF pk: 1200 V

— — — —_ —_ == i)
e — —_ — = - PIV: 20 kV; Ia pk: 100 mA —
10 — — — — 6 max —
7.5 s — s — —_ mod; max -
1,6 — 0,83 2,6 0,9 — (A); (= 619CX); Vgl co: —6,5V; Vi-k: 200V 155
— o — — — — spec; (= 6151) 155
_— - - . - — spec 155
3 — 0.06035 5,5 5 —_ spec; HF; MF 381
— — — 7,1 7,6 —

ceecy — = — — — 48
1 - e — —_ = spec; mix-+osc; Vg3d: —1,5/—30V; Rgl: 20 kQ; Igl: 500 uA; Vesc eff: 10V 13
e — - s - - mix+osc; Vg3: —1,5/—30V; Rgl: 20 kQ; Igl: 530 uA; Vosc eff: 10 V

_ _ — _ _ ey 13
0,8 — 14 14 0,4 —_ spec; */12,6 V; /0,175 A; 1 trio; (A); Vgl co: —105V 5
— — — — — — 1 trio; (A)

— — — — — s spec 75
— — — — = s 75
| — 1,4 1,55 0,78 — spec; 1 trio; *126 V/0,18 A; Vf-k: 75V 382
= = — == — — Ig: 109 A

= — — — — — (fa) —
_ _ — _ _ — 49
_ _ _ _ — o 49
3000 — 18,5 19 0,5 30 max; (fa); Ig: 300 mA; Fm: 220 Mc 333
— 8800 — —_ — — mod, pp(B); Ia(m): 2,8 A; (Win)LF: 195 W

— 4000 — — — 216 TV, (B), sl, E/g; Ig: 400 mA; (Win)HF: 770 W

—_ 4000 — —_ — 216 TV, (C), M/a, E/g, sl; Ig: 400 mA; (Win)HF: 770 W

== 2300 — — — 110 tph, (C), M/a; Ig: 240 mA; (Win)HF: 130 W

— 6000 — — — 30 tgr, osc, (C); Ig: 290 mA; (Win)HF: 225 W; Fm: 30 Mc

— 5300 — — — 110 tgr, FM, (C), E/g; Ig: 245 mA; (Win) HF: 1680 W

. _ — == _ — 333
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vt If Va Vgl Vg2 Ia Ig2 S Ri Ra Rk
TYPE I ~ (SO (Ra-a)
v A v -V V mA mA mA/mvV kQ  kQ Q0
5762A RCA 3Z 126 29 6200 — —_ 2A — —_ 29 — — —
43019 200 — 1250 — — — — - 134
5763 INT 4BZ 6 0,75 350 125 250 50 15 i — — — =
300 425 250 50 6 — - — — =
350 28,5 250 48,5 6.2 — — — — —
300 175 — 40 4 — — — e —
300 100 — 35 3 — - — — —
5764 Sylvania 37 6,3 0,425 180 — — 2 = 4,5 25 - _— 400
1500% — — 15A% — — — — — —
2000 — — 5 = — - — — 100
5765 Sylvania 3Z 6,3 0,4 350 — — — — — — — s —_
180 — — 12 = 45 25 = — 400
180 = = - — — - — — —
5766 Sylvania 3Z 6,3 0.4 150 — — 15 — 4,5 25 — — —
200 — — 25 — — — — e 100
5767 Sylvania 3Z 6.3 0,4 180 — — 12 = 45 25 = —_ 400
200 — — 35 - - — — — —
200 — — 25 - — — - — —
5768 Sylvania 3Z 6,3 0,4 250 — — 12,5 — — — —_ — —
150 — — 9 — 9,6 88 9,15 — 100
150 — — 7 — 9 90 — — 100
5770 RCA 3Z 11 285 17k 2000 — 9A - — — — — —
15k 320 — 600 — — — = — —
12,5k 1500 — 45A — — — — — —
17k 1450 — 8,5A = — — — — 150
5771 USA 3Z 75 170 15k 160690 - 6A — — 20 — - —
12,5k 600 — 1A = — — - 44 —
12,5k 625 — 24A — — =2 — L -
10k 840 — 3,8A — — — — — —
15k 990 — 454 — — — — — 185*
5771/356 Federal 32 (= B8771) — . — — e ucy - — - =
5784 Raytheon 3 6,3 0,2 120 0 120 55 41 3,2 — — —_ 230
5784WA Rayth.; Tung-Sol 5 (= 5784) - . — — v — - - = =g
5784WB Rayth.; Tung-Sol 5 (= 5784) — = s - — s o = = =
5785 Raytheon 2R 1,25 0,015 2300* — — 0,1 — - — — — —
5786 RCA 3z 11 12,5 4000 500 — 500 — — 32 — ey —
3000 95 — 75 — — — — 8,6 —
2500 350 — 400 — — — = —_ —_
3000 225 - 560 — — — — = 380
5794 USA SZ 6,3* 0,16 120 — — 34 — — - —_ — —
5797 GE ] 26,5 0,045 EO — — — — 3,45 — s — —
5798 GE 3+3 26,5 0,09 50 - — — — 3,15 — — — —
5793/VX21 Victoreen 2R 125 0,01 — — — 0,2 — — — — — —
5801/VX233A Victoreen 3 125 0,01 135 2 — 0,2 = 0,15 30 — — —
5812 CBS-Hytron 4BZ 6 0,65 300 150 250 60 — 41 — 55 — —
300 45 200 55 3 — — — — —
5814 INT 3+3 12,5% 0,175% 250 8.5 10,5 — 2,2 17 1 — —
— 19,5 625 — —
5814A USA 3+3 (= 5814) — — — — — — = = ==
5814WA USA 343 (= 5814) — == — = — — — == = =
5814WB Tung-Sol 33 (= 5814A) — — — — —_ — — et - _—
5824 GE 5 25 0,3 135 22 13 61 2,5 5 — 15 1.7 s
5825 RCA 2R 1,6 125 212k — — 2 — — — - — -
5828 Victoreen 3 125 0,01 45 1 — 0,25 - 0,45 17,5 — — —
5829 Raytheon 242 6,3 0,15 — — — 5 — — — - _—
5829WA Rayth.; Tung-Sol 242 6,3 0,15 130* — — 5.5 — — — — — —_—
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2762-5829

Na Wo Cagl Cin Co F \ !
1aX ADDENDA w
W A pF pF pF Mec

4k — 18 19 0,5 30 max; (fa); Fm: 220 Mec; Ig: 300 mA —_
. 4k - - — 220 tegr, FM, (C); Ig: 250 mA; Vin pk: 432 V; (Win): 542 W

13,5 — 0,3 9,5 45 50 max; Fm: 175 Mc; uglg2: 16; ICAS; Vg3: 0V; Igl: 5 mA; (= QE03/10) 98
_— 10 —_ — — — tph, (C), M/a; Ig: 2,4 mA; Rgl: 12 kQ; (Win)HF: 0,15 W

- 12 — — — — tgr, osc, (C); Igl: 1,6 mA; (Win)HF: 0,1 W

- 3,6 — — — — Fx2; 87/174 Mc; Rg2: 12,5 Q; (Win)HF: 0,6 W; CCS

. 28 — e = — Fx3; 58/174 Mc; Rz2: 12,5 kQ; (Win)HF: 0,6 W; CCS

5 — 1,5 14 0,025 1000 (A); Va pk: 1500 V; Fm: 3300 Mc; Va max: 1000V —
— 175% — — — — pu; * pk; Fpu: 2 ke; tpu: 1 usec

—_ 0,45 —_ — s 3300 osc; Rg: 160G ey
B — 1,95 1.3 0,07 900 max; Fm: 2900 Mc =
— — —_— — — — (A); Vgco: —13V

— 0,25 — — — 1900 tgr, (C); Rg: 10 KQ

6 0,5 1,37 1,27 0,025 1000 tgr, osc, (C); Rg: 3 kQ; (= 2C37) ==
e 0,45 — — — 3300 tgr, osc, (C); Rg: 100 Q

5 — 1,45 1,3 0,015 1000 (A); Vg co: —15V; Va max: 350V,; Fm: 3300 Mc; (= SBE846H) —
— 2 — — — 1000 UHF osc

— 04 — — — 3300 UHF csc

4 - 1,256 1,55 0,015 1000 max; Fm: 3300 Mc ==
— o — — = o (A)

— — — —_ = 500 E/g; G: 16 dB; n: 9dB

50k — 53 89 1,2 20 max; (w-fa); Ig: 1,25 A =
-y 117k _— e == = mod, pp(B); Ia(m): 12 A; (Win)LF: 688 W

—_ 45k —_ = == e tph, (C), M/a; Ig: 1,1 A; (Win)HF: 2160 W

—_ 105k — . — == tgr, osc, (C); Ig: 1,1 A; (W.n)HF: 23 kW

22,5k — 24,5 35 2,5 1,6 max; (w+fa); Fm: 50 Mc; Ig: 803 mA 47
— 55k — = — — mod, pp(B); Ia(m): 6,4 A; (Win)LF: 430 W; Vin pk: 1300 V

—y 12k — — — 25 tph, (B); (Win)HF: 1070 W; Vin HF pk: 625 V

= 29k - - — 25 tph, (C), M/a; Ig: 780 mA; (Win)HF: 1010 W; Rg: 1075 Q

- 53k — — — 1,6 tgr, osc, (C); Ig: 800 mA; (Win)HF: 1160 W; * — Rg: 840 Q

-— — — — — — 47
1,85 - 0,03 45 3,6 — VHF, (A); Vg3: 0V 166
s _— - s - — spec; (= 6150) 166
1.2 - - - = e~ spec 166
- - - — - _— PIV: 4 kV; Ia pk: 0,52 mA; Vdr: 7,5V; * Vb pk max; Rt: 1 MQ 159
600 - 5.3 47 3.8 160 max; (fa); Ig: 150 mA _
= 1640 — —_ — —_ mod, pp(B); Ia(m): 800 mA; (Win)LF: 30 W

= 810 - = s = tph, (C), M/a; Ig: 135 mA; (Win)HF: 75 W

- 1000 — — — — osc, (C); Ig: 90 mA

3,6 0,6 = == = 1680 spec; max; UHF osc; *5,2/6,6V; Ig: 8 mA; Ta: —55/+75°C —
0,8 - — - e = spec; max 406
0,4 — = = == = spec: 1 trio; max 289
s, . _ S — = PIV: 3 kV; Ia pk: 0,6 mA; Vdr: 5V, spec; Caf: 1 pF 160
ey = = - —_— —_ spec; Vg co: —5V; Ik max: (,5 mA 178
10 — 0,2 9 7.4 160 max; th: 2 sec; uglg2: 5,5; Igl: 3 mA 8
. 7 = - T — tgr, (C); Igl: 0,75 mA; (Win)HF: 15 W

275 — 1,6 1,6 0,4 — spec; */6,3V; /0,35 A; LF, (A); 1 trio; Vg co: —22V 75
— spu - = _— e 15
= = — — — — spec 75
- ey = = - = spec 75
12.5 4,3 — — — e spec; WoLF, (A); d: 14 %; Ia(m): 69 mA; Ig2(m): 14,5 mA i
35 - - =, 2,2 = *eff; PIV: 60 kV; Ia pk: 40 mA; Vdr: 1750 V; Rt: 120 kQ 268
= S 2 9 15 = spec; Ig: 109 A; Va max: 1(0V; Ia max: 0,56 mA 178
- - — - - = PIV: 330V; Ia pk: 30 mA; UHF det; Vf-k: 330V 161
S - e . - — spec; UHF det; *eff; PIV: 360 V; Ia pk: 27,5 mA; Vi-k: 360V 161




Vi If Va Vgl Vg2 Ia Ig2 S Ri Ra Rk

TYPE I 2K (Sc) 1 (Ra-a)
A% A v -V V mA mA mA 'mvV kQ kQ Q)
5831 RCA 3Z 6 2220 16k 2000 — 41A — — 25 — — —
10k 390 — 6A = — = — 0,42 —
10k 1350 — 22A — — — — — -—
16k 1200 — 39A — — — — — —
5834 Nat. Electronics 2R 2.5 | — — — 2A — — — — — —
5835 Nat. Electronics 2R 2,5 10 — — — 3A - — — — — —
5838 Bendix 2R+2R 12 0,6 (= 5852) == = — ] e e - -
5839 Bendix; Tung-Sol 2R+2R 265 0,285 (= 5852) == == = = — — — —
5840 INT 5 6,3 0,15 100 — 100 175 24 5 — 260 — 150
5842 INT 3 (= 5842/417A) = = = — - — e - —
5842/417A RCA 3 6,3 0,3 150 — — 25 — 25 43 1,7 — 60
5842WA Raytheon 3 (= 5842/417A) — — — — — — i s -
5844 USA 3-3 6,3 0,3 100 1,5 4.8 — — 34 28 15 — 470
5847 Raytheon 5 (= bH847/404A) — — — - - - _— N —
5847/404A LM Ericsson 5 6,3 0.3 150 — 150 135 4 13 — 200 — 110
5851 USA 4BZ 2,5% 0,055 125 17,5 127 55 0,9 1,6 - 175 — —
5852 Bendix; Tung-Sol 2R-2R 6,3 1,2 — — — 75 — — = — — s
5854 Raythecn 5 1,25 0,03 45 2 45 0,8 0,25 0,55 — 350 50 —
5857 N.U. 5 6.3 0,45 300 — 8 0,4 20 - 70 — 200
5860 Westinghouse 2R 10 115 — — — 50 — — - = — _
5861 Philips; Amperex 3Z (= ECb55) o = = - - — - - — -
5861/EC55 Amperex 37 (= EC55) — == = == - — o - = -
5866/9900 Amperex 3Z (= TB25/300) — —_ — — — — - — —
5867 Eng.-El.; Philips 32 (= TB3/750) e — s = — == . =— -
5867/9961 Amperex 37 (= TB3/750) — — — - e - _ — -
586879902 Amperex 37 (= TB4/1250) — _ _— _ _— J— _ - _—
5871 Sylvania 4B 6,3 045 250 125 250 47 7 4,1 — 50 7 —
5873 Raytheon 3+3 6,3 0,3 150 3 — 9 = 2,9 22 I J— —
5874 Federal 3z T 119 8k — — 5A — — 6 — — e
5k 900 = 2,6A — — — — — —
5875 USA 5 1,25 0,1 90 0 90 35 1 2,5 — — — —
5876 INT 3Z 6,3 0,135 360 100 — 25 — — —_ — —
250 — — 18 — 6,5 56 8,62 — 75
250 12 — 23 — — — — — —
250 2 — 23 = — = — — —
275 5l — 23 — — — — — -
300 90 — 18 — — — — — —
300 170 — 17,3 — — — — — —
5879 USA 5 6,3 0,15 250 3 100 1.8 0.4 1 — 2M — —
250 8 — 5,5 — 1,53 21 130 = —
100 3 — 2.2 — 1,24 21 17 — —
5881 USA 4B 6,3 0,9 250 14 250 5 43 6,1 — 30 2,5 —
350 18 250 53 2,5 5,2 — 48 4,2 —
250 18 — 52 — 5,25 8 — 4 —
270 17,7 270 134 11 = = — 5 —
360 22,5 270 88 5 — — — 6.6 —
360 <225 270 88 5 — — — 3.8 —
400 45 — 65 — — —_ 4 —
5890 RCA 4B 6,3 0,6 30k 200 450 0,5 — — — = — —
20k 60 200 05 0 0,011 — — — -
30k 60 200 0,06 0 0,003 — — — —
5891 Westinghouse 3Z 11 15k — — — = — 36 = — —
5892 Electrons 2R (= 3B) — —_— — = - - — — — —

Lo
(%)
=



5831-5892

Wo Cagl Cin Co P \ f
ADDENDA %

w pF pF pF Mc f

— 150 600 8 1,6 max; (w); Ig: 15 A =

370k — — — — mod, pp(B); Ia(m): 57T A; (Win)LF: 800 W

175k — — — — tph, (C), M/g; Ig: 500 mA; (Win)HF: 900 W

500k - — — — tgr, osc, (C); Ig: 500 mA; (Win)HF: 900 W

- = — — = (G: Hg); PIV: 900V; Ia pk: 10 A; (= 649) =

- = — — — (G: Hg); PIV: 800V; Ia pk: 12A; (= 653) —_

=== - — —_— = (= TE3) 63

— = _— — = (= TE2) 63

— 0,15 49 3,9 — spec; (A); Vgl co: —9V; UHF, VHF, HF, MF 179

— — — — — 159

— 1,8 6,5 0,42 400 spec; (A); Raeq: 150Q; n: 2 dB; Vg co: —6V 159

== = — — —_ spec 159

— 2,6 2.6 0,5 — 1 trio, (A); spec; Va max: 200V; Ik max: 10 mA 92

— — — — — 400

— 0,05 7,2 3,15 — (A); spec; VHF 400

o g — e — spec; */1,25V; /0,11 A; VHF 99

- - - — s spec; PIV: 1375 V; Ia pk: 270 mA; Rt: 150 Q; Ta: 80"C; Vi-k: 450V, 63
(= TEb)

0,0095 — — — — WOoLF, (A) 8

— 0,04 9.3 2.2 — (A); SE; Vg3: 250 V; Vk2: 210 V; * Rg2: 680 kQ; Ig3: 0,2 mA; Ik2: —§ mA; 348
Vgl co: —3V; VHF

— = — — — PIV: 125 kV —

— — — — — 55

— — — == — 176

= = - - s 176

— — — — — 176

S = — — == 176

45 — — o — WoLF, (A) 40

- — s —_ LF; 1 trio 17%

— — — — — max; (w) —_

7,4k — — — — mod, pp(AB1)

— 0,03 4 4 — HF; spec; Vgl co: —3,5V 10

— 14 2,5 0,035 960 max; Fm: 1700 Mc; Ig: 8 mA —_—

— — — — — (A)

3 — — — 500 osc, (C), E/g; Ig: 6 mA

0,75 — - — 1700 osc, (C), E/g; Ig: 3 mA

5 — — — 500 tgr, (C), E/g; Ig: TmA; (Win)HF: 2 W

2.1 = == _— = Fx3, 160/480 Mc; Ig: 6 mA; (Win)HF: 2,1 W

9 — — = = Fx2, 480/960 Mc; Ig: TmA; (Win)HF: 2 W

— 0,15 2,7 2,4 — LF; Vgl co: —8V 181

== 14 14 0,85 — trio; LF, (A)

— = —_— — — trio; LF, (A)

6,7 S = - — spec; WoLF, (A); d: 10 %; Va max: 400V; Vg2 max: 400V 40

11,3 = - = — WoLF, (A); d: 13 %

1,4 — - = — trio; WoLF, (A)

17,5 - — — — WOoLF, pp(Al); Ia(m): 155 mA; Ig2(m): 17 mA

26,5 — — — — WOLF, pp(AB1); Ia(m): 132 mA; Ig2(m): 15 mA

41 — — — — WoLF, pp(AB2); Ia(m): 205 mA; Ig2(m): 16 mA

13.3 — — — - trio; WeLF, pp(AB1); Ta(n) : 130 mA; d: 44 %

— 0,018 17,5 1,6 — max; Vg3: 6,6 kV; Vi-k: 165V; CCS 100

_ — - - — stab; Vg3: 5,5 kV; Vin pk: 45 V; Vgl co: —52V

_ _ - S o. — stab; Vg3: 55 kV; Vin pk: 20 V; Vgl co: —52 V

- _— - . 10 max; (fa); *3 X 95 A ==

- — = = == 64




vt If Va Vgl Ia Ig2 S Ra
TYPE l R (Sc) w (Ra-a)
v A v -V mA mA mA/mvV kQ
5893 INT 3z 6,3 0,33 400 100 40 — — — — —
200 — 25 — 6 27 ,0 —
1750* 110* 3 — — — — —_
300 45 30 — — — —
350 51 35 — — — -
350 33 35 — — — —
300 50 33 — — — —
5894 USA 47 447 (= 5894/9903) s — — — — —
5894/9993 Amperex 47 +-4Z (= QQE06/40) — — — — — —
5894A Amperex 47,447 (= 5894/9903) — — — — — —
5895 Amperex; Philips 4Z +4Z (= 5895/9905) — — — — - —
5995/9905 Amperex 47 +-47Z (= QQC04/15) s ey — — — —
5896 INT 242 6,3 0,3 165* — 10 — — —
5897 USA 3 6,3 0,15 150 — 13 — 6.5 27 —
5898 USA 3 6.3 0,15 150 — 1,85 — 2.3 70 —
5899 INT 5 6,3 0,15 100 — 7.2 2 45 — —
5900 Sylvania 5 6,3 0,15 100 — —_ — 4,5 —
5901 USA 5 6,3 0,15 100 — 7.5 2,4 5 — —
5902 INT 4B 6,3 045 110 — 30 2.2 42 — 3
5902WA Rayth.; Tung-Sol 4B (= 5902) - — = = — - —
5903 Sylvania 2+2 26,5 0,075 (= 5896) = — — — —
5904 Sylvania 3 26,5 0,045 26,5 — 3 st 5 20 —
5905 Sylvania 5 26,5 0,045 265 — 2,1 0,75 2,85 — —
5906 Sylvania 5 26,56 0,045 100 — 75 24 5 — —
5907 Sylvania 5} 26,56 0,045 265 — b 151 3 — —_—
5908 Sylvania 5 26,5 0,045 265 — 21 2.4 1 — —
5910 Raythecn 5 1,4 0,06 90 0 1,6 0,45 0,9 - —
5915 INT 7 6,3 0,3 675 0 — — 2 — —
67,5 — — 1517 — —
150 10 0 0 — — 20
150 0 0 14 — — 20
150 0 5,8 - — 20
5915A GE; Sylvania ki 6.3 0.3 675 0 — — 2,4 — —
675 0 — — 1,1* — —
5916 Sylvania 5 26,5 0,045 100 — 318 5,7 1.4 — —
5917 Federal 3Z (= 3X2500A3) = — — = = =
5918 Federal 3z 11 285 19k — 15A — — 41 —
14k 1200 125A — — — —
5918A Westinghouse 3Z 11 285 17,5k 3000 18A — = 37 —
14k 300 2A — = = 295
15k 375 49A — — — —
14k 80C 10A — — — —
17,5k 1900 13,8A — — — —
5919 Federal 37 11 285 17,5k — 15A — -— 41 —
10k 1000 6.4A == —_ — —_
5920 EUR 3+3 (= E90CC) — — — — — — —
5920/E90CC  Amperex 3+3 (= E90CC) — — — == = — —_
5923 Philips 3Z (= TBW6/6600) — — — — — —
5923/9904 Amperex 3Z (= TBW6/6000) — — - s - —
5924 Philips 3Z (= TBL6/6000) — o - — o —
5924/9904R Amperex 3Z (= TBL6/6000) = _— s == = s
5924A Amperex 3z (= TBL6/6000) — — — — — —
5930 Sylvania 3 2,5 25 250 45 €60 — — 4.2 25
5931 Sylvania 2R+2R 5 3 450%* — 225 — — = —
5931/5U4WG  Sylvania 2R+2R (= 5931) == — - — s s —
5932 Sylvania 4B 6,3 0.9 250 14 72 5 6 — 2,5




5893-5932

Wa Wo Cagl Cin Co F \ :
nax ADDENDA

w W pF pF pF Me LG
8 — 1,75 25 0,07 500 max; Ig: 15 mA; Va pk: 1750V; ICAS —
— — — — — = (A)

— 1200% — — — 3300 pu,osc, E/g; *pk; Iapk: 3 A; Igpk: 1,1 A; Rg: 100 Q; Df: 0,001;

tpu: 1 usec; Fpu: 1 ke

e 6.5 — — — — tph, (C), M/a, E/g; Ig: 12 mA; (Win)HF: 2 W

— 8,5 — — — — tgr, osc, (C), E/g; Ig: 13 mA; (Win)HF: 25 W

— 6,5 — — — 1000  tgr, osc, (C), E/g; Ig: 13 mA; (Win)HF: 24 W

—_ 3 — — — — k2, 500/1000 Mc, E/g; Ig: 8 mA; (Win)HF: 35 W

- — — — — — 101
— — - — — — 101
— — — — — . 101
- — —_ — — — 102
— — — — — — 102
s S = — — — PIV: 460 V; spec; Ia pk: 60 mA; Vfi-k: 360V; *eff 162
3.3 — — — — — spec, (A); UHF osc 67
0,5 — — — — — spec; LF, (A) 67
1;1 — 0,03 4 1,9 —_ spec; (A); Va max: 165 V; VHF, HF, MF; Vgl co: —14V; (= EF731) 179
— — — — — — spec 179
1 — — — — — spec; HF; MF 179
4 1 0,15 6,5 4.5 — spec; WoLF, (A); Vf-k: 200V; Vgl co: —40V; uglg2: 6; Va max: 165V 189
— _ 0,25 — — —_ spec; Va max: 250V 190
= — —_— — — — 162
— — 1,8 2,2 0,8 400 spec; osc; Rg: 2,2 MQ; Vg co: —3,5V; Vf-k: 100 V; Va max: 55V 67
e == 0,015 4 3,4 400 spec; VHF; Rgl: 2,2 MQ; Vgl co: —3V; Vi-k: 100 V; Va max: 55V 173
1,1 — 0,03 4 1,9 400 spec; VHF; Vgl co: —9V; Vf-k: 200V; Va max: 166V 179
— — 0,03 4 1,9 400 spec; VHF; vu; Vgl co: —4,56V; Rgl: 2,2 MQ; Va max: 55V 179
—_ —_ 0,08 4 3,2 400 spec; mix; Vg3 co; Rgl: 2,2 MQ; Va max: 55V 177
o= = - — — — spec 6
1 — 0,08 5,4 7,6 — (A); Vg3: 0V; Va max: 250V; Vbg2+4 max: 250V 13
_ o _— P — .. (A); Vg3: —4V; *Sg3

e s - - S . cpec; Vg3: 0 V; Rg3: 47kQ; Rg2+4: 470 Q; R21: 47 kQ

— o oy - — - spec; Vg3: —10 V; Rg3: 47 kQ; Rg2+44: 470 Q; Rgl: 47 kQ

_ _ - g _— - spec; Vg3: 0 V; Rg3: 47 kKQ; Rg2+4: 470 Q; Ra1: 47 kQ

— — 0,08 5,4 7,6 — (A); Vg3: 0V; Va max: 250 V; Vbg2+4 max: 250 V; Ik pk max: 70 mA 13
- - — — - - (A); Vg3: —4V; *Sg3

1,1 _ 0,02 4 3,4 400 spec; mix; Vg3: 0V, Vosc eff: 15 V; Va max: 165V; Vi-k: 200V 305
15k — — — — — (W) —
70k _— — — — 22 (w); max; Ig: 1,5 A =
— 130k — — — — tgr, (C); Ig: 1,45 A; (Win)HF: 3,3 kW

70k — 34,5 75 2.4 22 max; (w); Ig: 2A —
— 150k —_ — — == mod, pp(B); Ia(m): 16 A; (Win): 1,6 kW; Vin pk: 1600 V

_ 25 — — s —_ tph, (B); (Win)HF: 770 W; Vin HF pk: 500 V

— 104k — — - == tph, (C), M/a; Ig: 1,4 A; (Win)HF': 2 kW; Vin HF pk: 1550 V

s 180k —_ — — — tgr, (C); Ig: 2 A; (Win): 3,6 kW; Vin pk: 1960 V

35k — — — — 22 (fa); max; Ig: 15A —
- 50k — — — — tgr, (C); Ig: 1,1 A; (Win)HF: 1,7 kW

s —_ < — — — 92
— — — — — s 92
_ 35 — s = - spec; WoLF i
— — — — — — spec; *eff; PIV: 1550 V; Ia pk: 675 mA; Rt: 756 Q; Vdr: 58V 55
—_ — — — — — 55
- 6,5 — — — — spec; WoLF, (A) 40

233




vt If Va Vgl Vg2 Ia Ig2 S Ri Ra Rk
TYPE l 3 S (Sc) w (Ra-a)
v A Y V mA mA mA/mV kQ kQ Q
5932/
6L6WGA Sylvania 4B (= 5932) — = e - - — S—_ s _— _
5533 Sylvania 4BZ 6,3 0,9 750 45 250 100 6 — —_ — — 410
5933/807TW Sylvania 4B (= 5933) — — — — — == = — s —
5933/P1TW CSF 4B (= 5933) — — — — — == — — — —
5934 Westinghouse 2R 2,5 6 — S - 25 — — — — — —
5936 Westinghouse 3z 20 * 18k — - - — — 37 — — —
5946 RCA 3 6,3 3,4 7500% 600* — 45 — — 217 — — —
5500* 375% — 35 — — — — — 100
7500% 500% — 4 - - = = = 100
5947/TT2 Bendix 2 6,57 2,2%  250* — — 45% — — — — — —
448 1,75 90 == = 1,5 — — X — — —
5963 USA 3+3 12,6% 0,157 675 0 — 8,5 — 2 21 6,6 — —
150 15 — 0 — — — — 20 —
150 0 —_ 5l —_ —_— — — 20 —
5964 USA 343 6,3 0,45 100 — — 9,5 — 6 39 6,5 — 50
150 0 — 5 — — — — 20 —
5965 INT 3--3 12,6% 0,225% 150 2 — 8,5 — 6,7 47 7 — 220
5965A GE 343 (= 5965) — — - - — — — - - —
5967 Raytheon 3+3 1,25 0,12 45 — 35 — 2.3 17 7.4 — —
5968 Raytheon 343 1,25 0,12 45 0 — 0,7 — 1.3 45 346 — —
5969 Raytheon 47 +47Z 1,25 90,2 135 1 45 1,5 0,4 18 — — — —
5970 Raytheon 515 125 0,16 45 # 45 3 0.9 18 — 170 — —
5871 Raytheon 3 1,25 0,08 675 — — 3,5 — 2,1 23 — — —
5972 Raytheon 5 1,25 0,06 675 * 675 25 0,8 1,3 — 1M — —
5973 GE 2R 16 19,1 —_ — — 1A — = s = == =
5974 Westinghouse 2R 10 50 —_ — — 300 — — — — —_ —
5975 Raytheon 3 63 0175 200 — = 125 = 4 16 4 = 680
5977 Sylvania 3 6,3 0,15 100 — — 10 — 45 16 — — 210
5986 Westinghouse 3Z 12 * 17k — — — —_ — 37 — — —
5987 Sylvania 3 6,3 0,45 100 18 — 9 — 1,85 4,1 — — —
5992 Bendix 4B (= 6V6) — — o — — S o - _— -
5993 Bendix 2R+2R 6,3 0,8 — — —_ 70 — — — == - —
5995 Raytheon 22 6,3 0,3 — — — 45 — — i — — —
5996 Federal; Nucor 3Z (= 5680) — — - s e - = _ _ _
5998 Tung-Sol 3+3 (= 5998A) —  — R o - - - _
5998A Tung-Scl 3+3 6,3 24 110 — — 100 — 15 5,4 — — 105
6000 Tung-Sol 4BZ 26,5 0,28 600 100 300 125 — - _- S —
600 60 225 100 18 — — — —_— —
6000W USA 4BZ (= 6000) — — — — — — — — — —
6004 CBS-Hytron 2R-12R 5 2 350% — — 125 — — — - = —
6005 INT 4B (= 6AQ5) — — — s - - — — — _
6005/6AQ5W INT 4B (= 6005) — — — - o p— _— — P —
6005/A6Q5W/
6095 USA 4B (= 6005) — -— — —_— —_ — S e S sy
6007 Philips 5 1,25 0,013 22,5 — 22,5 0,34 0,09 0,42 — 400 100 —
6007/5913 Amperex 5 (= 6007) — - _ _ _ _ _
6008 Philips 5 0,625 0,013 225 1,15 18 0,05 0,01 0,1 s aM  — —
6008/5911 Amperex 5 (= 6008) —_ s _— - s - e = —
6009 Federal; Nucor 3z (= 5996) —_ — - e — s - — — —
6013 Electrons 2R (= 3B) = e e — — _ — _ _ _
6015 Electrons 2R (= 6F) — — — — — — — — — —
6017 GE 3z 10 17 3000 — — 700 — o= 49 e — -
6018 Sylvania 3Z 6,3 0,4 1500* — — — — 45 25 — — —_
1000% — — 900* — — . — . ==
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5932-6018

Na Wo Cagl Cin Co P v !
nax ADDENDA

W w pF  DpF pF  Mec T
_ — — — — e 40
_ 50 — _ — — spec; tgr, (C) 39
_ — — — — — 39
— _ — — — — 39
ey ey s — — - PIV: 20 kV; Ia pk: 270 mA —
70k - — — — 15 max; (W); *3 X 143 A -
250 — 6 11 0,32 1300 max; pu; th: 60 sec; * pk; Ia pk: 4,56 A; Ig: 10 mA; Ig pk: 1A; tpu: 5 usec —
o gk _ _ — — csc, pu, (C); Df: 0,01; Ia pk: 3,5 A; * pk; Ig pk: 250 mA

- 14k* = — — ey asc, pu, (C); Df: 0,01; Ia pk: 4,56 A; * pk; Ig pk: 500 mA

7 — — — — = stab; * max 228
2,5 — 1,5 19 .5 — */6,3V; v/0,3A; (A); Va max: 250V 75

_ _ — _ - — spec; Rg: 47 kQ

_ - s _— — o spec; Rg: 47 kQ

1,5 — 1,3 2.1 0,4 — 1 trio, (A); Va max: 250V 92

_ _ _ — e — spec; Rg: 47 kQ; Vg co: —10 V
2,2 — 3 4 0,5 — */6,3V; 7/0,45 A; 1 trio, (A); Vg co: —5,5V; spec; Wa—+a: 4 W, 75
Va pk: 660 V
_ — — — — - spec 75
_ — — - == - 1 trio; HF, (A); *Rg: 5 MQ 179
_ — _ — — - 1 trio; (A); mix 180
— _ — — — — 1 tetro; (A); WoHF 103
_ — — — — — 1 pent; HF, (A); *Rgl: 5 MQ 182
— — 23 1,6 1,7 — (A); VHF; Rg: 5 MQ; Vg co: —3,5V; Va max: 90V; Ik max: 5 mA 181
_ s = - s - HF, (A); *Rgl: 2 MQ 5
800 — — — 14 —_ PIV: 75 kV; Ia pk: 5A; th: 30 sec; Vdr: 950 V 29
_ — ey o g - PIV: 125 kV; Ia pk: 1A =
— . - = — _— (A); osc 182
3.3 — 1,3 2 0,8 — spec; (A); Vg co: —135V 67
70k — - - _— s max; (w); *3 X 103 A -
4 — 3,2 2,8 1,5 — spec; (A); Va max: 165V; Vi-k: 300 V; Ia max: 50 mA 183
_ — - e = - spec; (= TES); Vi-k: 350V 40
_ _ _ — = = spec; PIV: 1500 V; Ia pk: 230 mA; Rt: 150 Q; Vi-k: 500V; (= TE10); 312
th: 45 sec
_ — — — — — (G); PIV: 850V, Ia pk: 275 mA; Vdr: 25V 163
— — — 1,7 14,5 — spec —
— — 183 71,7 25 == 24
15 — 145 65 2 — 1 trio, (A); stab; Vf-k: 100 V; Ia max: 140 mA; Va max: 275V 24
5 — 018 15 7 100 max; Wg2: 4 W; Igl: 7 mA; Vi-k: 100V; uglg2: 8 45
— 35 - — — 70 tgr, (C); Igl: 3 mA; (Win)HF: 0,23 W; Rgl: 20 kQ
_ _ _ — — — spec 45
- - e . — — spec; *eff; PIV: 1400 V; Ia pk: 400 mA 292
— — — e s - spec 34
_ — — s geo 2oy 34
— = — s - s 34
0,025 0,018 — = = = WOLF; Rgl: 10 MQ; (= DL67) 180
_ — _ — = — 180
_ _ _ e - s LF, (A); (= DF6T) 180
_ _ _ — — — 180
6k — — — 1,4 — (W) —
_ e e = - - 39
1000 — — — — 400 max; (fa) -
5 — L9 1,2 0,38 1200 max; Fm: 1750 Mc; * pk —
— 200% — == = 1000 osc; M/a pu; * pk; tpu: 2 usec; Fpu: 2 kc; Vg co: —28V




g Vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE I AR (Se)  u (Ra-a)

v A v -V V mA mA mA/mvV kQ  kQ Q)

6019 GE 47Z 6,3 24 4000 150 600 700 — — — — — —
3500 40 500 520 35 — — — — —

3000 100 200 250 10 — — — — —

4000 120 600 550 35 — — — — —

6021 INT 3+3 6,3 0,3 100 1 65 — — 5,4 35 — — 150
6021WA Tung-Sol; Rayth. 3-4-3 (= 6021) — — s - p— — — - b —_
6026 RCA; Tung-Sol 3 6,3 0,2 120 — — 12 — 5,9 24 4 — 220
135 — — 20 == — — — — —

6028/408A LM Ericsson 5 20 0,05 120 — 120 7,5 1,9 5 — 300 — 200
6029 Raytheon 3Z 125 02 99 4 — 11 == 2 8,5 425 — —
135 — — 14 — — — — — —

6039 GE 3Z 5 78 7500 1000 — £250 — — — —- —
5000 270 — 2200 — — — = — —

7000 900 — 2080 — — — = — —

6042 Brimar 343 (= 13D1) = = == = — — — —_ — —
6046 GE 4B 25 0,3 200 — 125 46 2,2 8 — 28 4 180
6350 Raytheon 3 1,256 0,12 135 5 — 4 = 1,6 15 10 — -
6051 Raytheon 4B 1,25 0.1 45 4 45 3 0,9 1.2 — 35 20 —
6052 Sylvania 242 6.3 0,3 165% — — 18 — — — - — —_
6053 Sylvania 242 26,5 0,045 — — — 10 — — — — — —
6055 Sylvania 3 26,5 0,045 265 — — — — 4,7 20 — — —
6356 Sylvania ) 26,5 0,045 26,5 — 26,5 — — 3 — — — —
6057 EUR 3-+3 (= 12AX7) — = — — — =— — = EES
6058 Brimar 242 6,3 0,3 17% — —_ 9 — — . _— = —
6059 Brimar 5 6,3 0,15 250 3 100 21 0,6 1,25 — 25M — —
6060 Brimar; Lorenz 343 (= E81CC) — — = s — — - - Pt =
6061 Brimar 4B (= 6BWS8) — s — — o S — = s -
6062 Brimar 4BZ 6 0,75 250 7,25 250 45 4,7 7 — 27 — —
300 60 250 50 == = = = =

6063 Brimar; Lorenz 2R+4-2R (= 6X4) — - —_— — e - - = =
6064 Brimar 5 6,3 0,3 250 2 250 10 6 735 — 1M — 160
200 15 200 9 2,25 7,5 — 800 — 135

6065 Brimar 5 6,3 0,2 259 2,5/28 200 3 2,1 2,56 — 1M —_ 250
250 0,65/'15 150 8 2 25 — M — 65

6066 Brimar 3+2+2 6,3 0,3 250 3 — 1 — 12 70 58 — —
6067 Brimar 3+3 12,6 0,15 250 8,5 — 10,5 — 22 17 41 — —
100 0 — 11,8 — 3,1 17 6,25 — —

6072 USA 343 12,6 0,1757 250 4 — 3 — 1,75 44 25 — —
6072A Raytheon 343 (= 6072) — — o _— — = = — — -
6075 Ph